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Rz B UL ¢ 3.20 0. 00 4, 92.0 0.0 0. 92. 92, 0| 7 7V MR
80.7 10 80. 3.10 0. 00 0.

MRz B UL = 3.25 0. 00 0. 101.0 0.0 0. 101. 193, 0| 7 7 7V M
80.8 80. 3.30 0. 00 1.

MRz B UL = 3.20 0. 00 1. 102. 0 0.0 0. 102. 2950|777 7 /v M
80.9 81. 3.30 0. 00 1.

MRz B UL = 7 3.20 0. 00 1. 100. 0 0.0 0. 100. 395, 0|7 X7 7 /v M
81.0 81. 3.30 0. 00 1.

et B B R = 1T 3.25 0. 00 1. 81.0 0.0 0. 81. 476. 0 TAT T v
81.1 81. 3.25 0.00 1.

I B IR i 3. 25 0. 00 1. 122.0 0.0 0. 122. sos. 0|~ 7 7 /v MR
81.2 81. 3.30 0. 00 1.

I B R 3. 25 0. 00 0. 93.0 0.0 0. 93. go1.0| 7 7/v MR
81.3 81. 3.30 0. 00 3.

I B IR Tl 3. 20 4.50 0. 104. 0 0.0 0. 104. 795.0|7 X7 7 /v M
81.4 81. 3.25 0. 00 1.

et B LR = 7 3.25 0. 00 2. 83.0 0.0 19. 102. g97.0|7 27 7 /v M
81.5 81. 3.25 1. 50 1.

MRz B UL 2 3.25 0. 00 0. 104. 0 0.0 0. 104. 1,001.0 TAZ T v
81.6 81. 3.25 0. 00 0.

MRz B UL = 3.30 2.35 0. 106. 0 0.0 0. 106. 1,107.0 TAT T v N
81.7 81. 3.25 0. 00 6.

(AN N 3.30 0. 00 3. 88.0 0.0 0. 88. 1,195.0 TAZ T N
81.8 81. 3.25 0. 00 4.

MRz B UL = 7 3.25 2.75 0. 111.0 0.0 0. 111. 1, 306. 0 TAT T
81.9 82. 3.25 0. 00 2.




}iﬁ j% 3}% % 2/ 109 R—
R4 0 0041 BiiE
=1 JE
ES (BB B0, FBE T YA m & 11 O FESH
BHOE SC S O | hex &
m

Rz B UL = 3.25 1.15 0. 97.0 0.0 0. 97. 1,403.0 TAT T N
82.0 82. 3.25 0. 00 1.

MRz B UL = 3.25 1.15 0. 93.0 0.0 0. 93. o| 7 AT T M
82. 1 82. 3.25 2.25 3.

(AN N 3.25 2.25 0. 97.0 0.0 0. 97. o| 7 AT T M
82.2 82. 3.25 1. 65 2.

Rz B UL = T 3.35 1.95 0. 111.0 0.0 0. 111. o7 AT TV MR
82.3 82. 3. 40 2.25 1.

e B BT = 1T 3.35 1.35 0. 93.0 0.0 13. 106. o7 7w MR
82. 4 82. 3.35 2.50 0.

I B R i 3. 25 3. 45 0. 109. 0 0.0 0. 109. o7 F7 7 /v SR
82.5 82. 3.25 2. 00 0.

I B R T 3.30 2. 40 0. 89. 0 0.0 0. 89. o *7 7w SR
82.6 82. 3.25 2.25 0.

I B IR Tl 3. 25 0. 00 3. 108. 0 0.0 0. 108. o7 T v M
82.7 82. 3.25 2. 60 1.

MR B LR = 7 3.25 2. 40 0. 79.0 0.0 0. 79. o| 7 AT T M
82.8 82. 3.25 1.35 0.

Rz B UL = 3.25 2.45 1. 99. 0 0.0 0. 99. o| 7 AT v R
82.9 83. 3.20 2.65 0.

MRz B UL = 3.25 2.45 0. 96. 0 0.0 0. 96. o| 7 AT T M
83.0 83. 3.25 2. 00 0.

(AN N 3.30 0. 00 1. 96. 0 0.0 0. 96. o| 7 A7 T M
83. 1 83. 3.25 1. 80 0.

MRz B U = 7 3.25 1.75 0. 107.0 0.0 0. 107. o7 *7 7V M
83.2 83. 3.25 2. 40 1.
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Rz B UL = 3.25 2. 60 0. 101.0 0.0 0. 101. TAT TV MR
83.3 83. 3.30 1.75 1.

(AN N 3.25 2. 10 1. 101. 0.0 0. 101. TAZ 7V b
83.4 83. 3.30 3.95 1.

I B R 3. 30 2.35 1. 99. 0.0 0. 99. TAZ 7V b
83.5 83. 3.25 1.70 1.

MRz B UL = T 3.30 0. 00 3. 100. 0.0 0. 100. TAZ T
83.6 83. 3.25 1. 60 1.

e B BT = 1T 3.35 1.70 0. 95. 0.0 7. 102. TAT T v
83.7 83. 3.25 1.75 0.

I B R i 3. 45 3. 30 0. 99. 0.0 0. 99. TAT T v
83.8 83. 3.25 2.35 3.

I B R T 4.65 0. 00 7. 99. 0.0 0. 99. TAT T v N
83.9 84. 4. 65 2.95 0.

I B IR Tl 3. 50 2.55 0. 94. 0.0 0. 94. TAT TV M
84. 0 84. 3.25 0. 00 4.

I B R 3. 30 2.95 0. 93. 0.0 0. 93. TAZ 7V MR
84. 1 84. 3.30 0. 00 3.

Rz B UL = 3.30 0. 00 3. 114. 0.0 0. 114. TAZ 7V bR
84.2 84. 3.25 2.75 0.

I B R 3. 25 2. 45 0. 97. 0.0 0. 97. TAZ 7V b
84.3 84. 3.25 2.05 0.

(AN N 3.25 0. 00 2. 95. 0.0 103. 198. TAZ T N
84.4 84. 3.35 0. 00 1.

MRz B UL = 7 3.50 0. 00 1. 0. 217.0 0. 217. TAT T
84. 6 84. 3. 30 0. 00 1.
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Rz B UL = 3.25 0. 00 0. 00 1. 10 188.0 0.0 0.0 188.0 4,205 0|7 7TV DELES
84.8 15 ~ 85. 0 0 3.25 0. 00 1.70

(AN N 3.30 1. 30 0. 00 0. 80 99. 0 0.0 0.0 99.0 4,394. 0 TAT T v
85. 0 0~ 85. 1 0 3.25 0. 00 2.25

ez VR 2 7 3.25 2.10 0. 00 0. 50 108.0 0.0 0.0 108. 0 4,502.0|7 27T DELES
85. 1 0~ 85.2 0 3.35 0. 00 2.30

ez BV R 5 7 3.25 2.65 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4,602.0|” 7T DELES
85.2 0~ 85.3 0 3.25 0. 00 3.10

MRz B B R T 3.25 3.10 0. 00 1. 00 22.0 0.0 0.0 22.0 4,624.0|7 27TV DEEES
85.3 0~ 85.3 22 3.25 0. 00 1. 00

I B R i 3. 50 2.70 0. 00 1.00 56. 0 0.0 0.0 s6.0| 4,680, 0|7 %7 7V MR
85.3 22 ~ 85.3 78 3.50 2. 50 1. 00

Rz B BN = T 3.50 2.70 0. 00 1. 00 44.0 0.0 0.0 44. 0 4, 7240|777V DEEES
85.3 78 ~ 85.4 22 3. 50 2. 50 1.00

IRz B BN = T 3.50 2.70 0. 00 1. 00 0.0 343.0 0.0 343.0 5,067.0] 777 VT DELES
85.4 22 ~ 85.7 65 3. 50 2. 50 1.00

Rz B UL = T 3.50 2.70 0. 00 1. 00 226.0 0.0 0.0 226.0 52030777V DELES
85.7 65 ~ 85.9 91 3. 50 2. 50 1. 00

Rz B UL = 3.50 2.70 0. 00 1. 00 54. 0 0.0 0.0 54.0 5,347.0| 777 VT DELES
86.9 91 ~ 86.0 45 3. 50 2. 50 1. 00

MRz B UL = 3.50 2. 70 0. 00 1. 00 194. 0 0.0 6.0 200. 0 5, 547. 0 TAT T v N
86.0 45 ~ 86.2 45 3. 50 2. 50 1. 00

ez YRR 7 7 3.25 1.95 0. 00 0.75 13.0 0.0 0.0 13.0 5, 560. 0 TAZ T N
86.2 45 ~ 86.7 0 3.25 0. 00 1.55

ez BV R 5 T 3.25 1.85 0. 00 0.75 107.0 0.0 0.0 107.0 5,667.07 7 7" DELES
86.7 0~ 86.8 0 3.25 0. 00 1.85
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Rz B UL = 3.25 0. 00 0. 93.0 0.0 4. 97. 7,063.0 TAT T v MR
88. 1 88. 3.25 0. 00 2.

MRz B UL = 3.25 0. 00 2. 100. 0 0.0 0. 100. 7,163.0 TAT T v N
88. 2 88. 3.25 0. 00 4.

(AN N 3.25 0. 00 1. 59. 0 0.0 37. 96. 7,259.0 TAZ T v
88.3 88. 3.25 0. 00 1.

MRz B UL = T 3.25 0. 00 1. 102. 0 0.0 0. 102. 7,361.0 TAZ T
88.4 88. 3.25 0. 00 1.

e B BT = 1T 3.25 0. 00 2. 100. 0 0.0 0. 100. 7,461.0 TAT T v
88.5 88. 3.25 0. 00 1.

I B R i 3. 25 0. 00 9. 101. 0 0.0 0. 101. 7.562.0|7 7 7V M
88. 6 88. 3.25 0. 00 2.

I B R T 3. 25 0. 00 1. 103.0 0.0 0. 103. 7,665 0|7 7 7 /v M
88.7 88. 3.25 0.00 1.

I B IR Tl 3. 25 0. 00 1. 93.0 0.0 0. 93. 7,758, 0|7 X7 7Y M
88.8 88. 3.25 0. 00 4,

e B LR = 7 3.75 0. 00 2. 136.0 0.0 0. 136. 7,894. 0 TAZ T v M
88.9 89. 3.75 0. 00 4.

Rz B UL = 3.50 0. 00 2. 81.0 0.0 0. 81. 7,975.0 TAZ T v
89.0 26 89. 3.25 0. 00 0.

MRz B UL = 3.25 2.25 0. 96. 0 0.0 0. 96. 8,071.0 TAT T v N
89. 1 89. 3.25 0. 00 1.

(AN N 3.25 0. 00 1. 94. 0 0.0 0. 94. 8, 165. 0 TAZ T N
89. 2 89. 3.25 0. 00 1.

MRz B UL = 7 3.25 0. 00 1. 94. 0 0.0 0. 94. 8, 259. 0 TAT T
89.3 89. 3.25 0. 60 2.
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Rz B UL = 3.25 0. 00 1. 103.0 0.0 0. 103. TAT 7V MR
89.4 89. 3.25 0. 00 1.

(AN N 3.25 0. 00 1. 103. 0.0 0. 103. TAT T v N
89.5 89. 3.25 0. 00 1.

I B R 3. 25 0. 00 1. 99. 0.0 0. 99. TAZ 7V b
89. 6 89. 3.25 0. 00 1.

MRz B UL = T 3.25 0. 00 1. 95. 0.0 19. 114. TAZ T
89.7 89. 3.25 0. 00 3.

e B BT = 1T 3.25 0. 00 1. 87. 0.0 0. 87. TAT T v
89.8 89. 3.25 0. 00 3.

I B R i 3. 25 0. 00 1. 100. 0.0 0. 100. TAT T v
89.9 90. 3.25 0. 00 1.

I B R T 3. 25 0. 00 1. 99. 0.0 0. 99. TAT T v N
90. 0 90. 3.25 0. 00 1.

I B IR Tl 3. 25 0. 00 9. 151. 0.0 0. 151. TAT TV M
90. 1 90. 3.25 0. 00 1.

I B R 3. 25 0. 00 9. 50. 0.0 0. 50. TAZ 7V R
90.2 50 90. 3.25 0. 00 1.

Rz B UL = 3.25 0. 00 1. 100. 0.0 0. 100. TAZ T v
90.3 90. 3.25 0. 00 1.

I B R 3. 25 0. 00 3. 99. 0.0 0. 99. TAZ 7V b
90. 4 90. 3.25 0. 00 1.

(AN N 3. 50 0. 00 1. 101. 0.0 0. 101. TAZ T N
90.5 90. 3.50 0. 00 1.

MRz B UL = 7 3.25 0. 00 0. 95. 0.0 0. 95. TAT T
90. 6 90. 3.25 0. 00 1.
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I B 2 7 3. 0. 00 1. 105. 0 0.0 0. 105. 9.665.0] 7 7 /v MR
90.7 90. 3. 0.00 1.

I B I 3. 0. 00 1. 103. 0.0 0. 103, 0, 768. 0| 7 7V LS
90. 8 90. 3. 0.00 1.

I R 2 7 3. 0. 00 1. 101. 0.0 0. 101. 9,869, 0 7 7 /v ML
90.9 91, 3. 0.00 1.

I B F 2 7 3. 0.00 L. 98. 0.0 0. 98. 9,967, 0|7 7 7/ M
91.0 91, 3. 0.00 1.

I B U R R 7 3. 0. 00 2. 100. 0.0 0. 100. 10, 067, 0| 7 7 /v M
91. 1 91, 3. 0.00 1.

I B F 2 3. 0.00 6. 91. 0.0 0. 91.0| 10,158,077 7 /¥ M
91.2 91, 3. 0.00 1.

e B R 2 T 3. 0. 00 L. 25. 0.0 11. 36. 10, 194 o 77 7V P
91.3 91. 3. 0.00 2.

e B R 2 T 3. 0. 00 L. 62. 0.0 7. 69. 10, 263. 0| 7 %7 7/ M
91.3 36 91. 3. 0.00 2.

I BT 2 7 3. 2. 65 0. 106. 0.0 0. 106. 10,369, 0|~ 7 7 /v M=
91.4 91, 3. 0.00 0.

I B il 3. 0. 00 1. 97. 0.0 0. o7.0[ 10,466, 0|7 7 7 /v M
91.5 91, 3. 0.00 2.

I IR 2 7 3, 0. 00 3. 100. 0.0 0, 100.0| 10, 566.0|7 77 7/ M
91.6 91, 3. 0.00 1.

I B S vl 3. 0. 00 6. 101. 0.0 0. 1010 10,667.0|7 7 7/ M
91.7 91, 3. 0.00 1.

I B F 2 7 3. 0.00 L. 98. 0.0 0. 98.0 10,765,077 7 /¥ M
91.8 91, 3. 0.00 1.
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Rz B UL = 3.25 0. 00 1. 100. 0 0.0 100. 10, 865. 0 TAT T v MR
91.9 92. 3.25 0. 00 1.

(AN N 3.25 0. 00 1. 89. 0.0 89. 10, 954. 0 TAT T v N
92.0 92. 3.25 0. 00 1.

AN N 3.25 0. 00 1. 111. 0.0 111. 11, 065. 0 TAZ T v
92.1 92. 3.25 0. 00 1.

MRz B UL = T 3.50 2. 50 0. 99. 0.0 99. 11, 164. 0 TAZ T
92. 2 92. 3.50 0. 00 1.

e B BT = 1T 3. 50 2.30 2. 101. 0.0 101. 11, 265.0 TAT T v
92.3 92. 3.50 0.00 1.

I B R i 3. 25 2.35 1. 100. 0.0 100. 11,365 0|7 27 7 /v SR
92. 4 92. 3.25 0.00 1.

I B R T 3. 25 2. 50 0. 98. 0.0 98. 11,463, 0|7 27 7 /v MR
92.5 92. 3.25 0. 00 1.

I B IR Tl 3. 25 2.95 0. 103. 0.0 103. 11,566, 0| 27 7 /v M
92. 6 92. 3.25 0. 00 1.

e B LR = 7 3.25 2. 00 0. 100. 0.0 100. 11, 666. 0 TAZ T v M
92.7 92. 3.25 0. 00 0.

MRz B UL = 3.25 2. 00 0. 101. 0.0 101. 11, 767. 0 TAZ T v
92.8 92. 3.25 0. 00 0.

(AN N 3.25 2. 00 0. 99. 0.0 99. 11, 866. 0 TAT T v N
92.9 93. 3.25 0. 00 0.

(AN N 3.25 2. 00 0. 99. 0.0 99. 11, 965. 0 TAZ T N
93.0 93. 3.25 0. 00 0.

MRz B UL = T 3.25 2. 40 0. 100. 0.0 100. 12, 065. 0 TAT T
93.1 93. 3.25 0. 00 0.
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Rz B UL = 3.25 2. 10 0. 99. 0 0.0 99. 12, 164. 0 TAT T v MR
93.2 93. 3.25 0. 00 0.

(AN N 3.25 1.95 0. 101.0 0.0 101. 12, 265. 0 TAT T v N
93.3 93. 3.25 0. 00 1.

AN N 3.50 3.00 0. 110. 0 0.0 110. 12, 375.0 TAZ T v
93.4 93. 4.50 0. 00 2.

MRz B UL = T 3.25 3.20 0. 95.0 0.0 95. 12, 470. 0 TAZ T
93.5 93. 3.25 7.50 1.

e B BT = 1T 3.25 2.20 2. 99. 0 0.0 99. 12, 569. 0 TAT T v
93.6 93. 3.50 0.00 1.

I B R i 3. 25 2. 50 1. 98. 0 0.0 98. 19,667.0| 7 7 /v MR
93.7 93. 3.25 0.00 1.

I B R T 3. 25 2. 50 1. 103.0 0.0 103. 19,770 0|7 27 7 /v MR
93.8 93. 3.25 0. 00 1.

I B IR Tl 3. 25 1.90 1. 99. 0 0.0 99. 12,869, 0| X7 7 /v M
93.9 94. 3.25 0. 00 1.

et B LR = 3.25 2. 40 0. 100. 0 0.0 100. 12, 969. 0 TAZ T v M
94. 0 94. 3.25 0. 00 1.

MRz B UL = 3.25 2.05 0. 106. 0 0.0 110. 13,079. 0 TAZ T v
94. 1 94. 3.25 0. 00 1.

AN N 3.25 1.95 0. 87.0 0.0 92. 13,171.0 TAT T v N
94. 2 94. 3.25 2. 40 3.

(AN N 3.25 1.95 0. 98.0 0.0 98. 13, 269. 0 TAZ T N
94.3 94. 3.25 2.45 0.

Rz B UL = T 3.50 1.95 0. 96. 0 0.0 96. 13, 365. 0 TAT T
94. 4 94. 3.50 0. 00 1.
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I IR 2 7 3. 0. 00 1. 103. 0 0.0 103. 13, 468. 0| 7 7 /v MR
94.5 94, 3. 1.70 0.

I B I 3. 0. 00 1. 96. 0.0 96.0[ 13,564, 0| 7 7V M
94.6 94, 3. 1.70 0.

I R 2 7 3. 0. 00 1. 103. 0.0 108. 13,672, 0 7 7V ML
94.7 94, 3. 0. 00 2.

I R F 2 7 3. 0.00 0. 100, 0.0 100.0| 13,772,077 7/ ML
94.8 94, 3. 1. 50 0.

i LR T 3. 0. 00 0. 96. 0.0 96. 13,868, 0|7 X7 TV S
94.9 95. 3. 1. 60 0.

I B R 7 3. 0. 00 0. 109. 0.0 109. 13,977, 0|7 X7 7 /v MR
95.0 95, 3. 2.55 2.

I 2 U 7 3. 1.95 0. 84. 0.0 84.0| 14,061.0| %7 7/¥ M
95. 1 95, 3. 0.00 1.

I B IR Tl 3. 2. 00 0. 108. 0.0 108. 14, 169, 0|~ 7 7 /v MR
95. 2 95, 3. 0.00 1.

I £ UL 2 7l 3. 2. 00 0. 97. 0.0 97. 14, 266, 0| 7 7 /v M
95. 3 95. 3. 0. 00 1.

I B I i 3. 2. 80 1. 102. 0.0 102.0| 14,368.0|7 7 7/ M
95. 4 95. 3. 0. 00 1.

I IR 2 7 3. 1. 75 0, 100. 0.0 100.0 14, 468.0|7 77 7/ M
95. 5 95. 3. 0. 00 0.

I B I vl 3. 2. 30 1. 93. 0.0 93.0| 14,561, 0|7 7 7/ M
95. 6 95. 3. 0. 00 1.

I R F 2 7 3. 2.30 1. 131, 0.0 131.0| 14,6020 7 7V M
95. 7 95, 3. 0.00 1.
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Rz B UL = 3.25 2.20 1. 77.0 0.0 77. 14, 769. 0 TAT T v MR
95.8 95. 3.25 0. 00 2.

(AN N 3.25 2. 20 0. 99. 0 0.0 99. 14, 868. 0 TAT T v N
95.9 96. 3.25 0. 00 1.

AN N 3.25 0. 00 1. 100. 0 0.0 100. 14, 968. 0 TAZ T
96.0 96. 3.25 1. 20 0.

MRz B UL = T 3.50 0. 00 1. 101.0 0.0 101. 15, 069. 0 TAZ T
96. 1 96. 3.50 0. 00 2.

IR B BT = 1T 3.25 0. 00 1. 100. 0 0.0 100. 15, 169.0 TAT T v
96. 2 96. 3.25 0. 00 1.

I B IR i 3. 50 0. 00 1. 101. 0 0.0 101. 15,270, 0|7 7 7 /v ML
96.3 96. 3.50 0. 00 2.

I B R T 3. 50 0. 00 1. 99. 0 0.0 99. 15,369, 0|~ 7 7 /v MR
96. 4 96. 3.50 0. 00 1.

I B IR Tl 3. 50 0. 00 1. 108. 0 0.0 108. 15, 477.0| 7 X7 7 /v M
96. 5 96. 3.50 2.30 7.

e B LR = 7 3.25 0. 00 1. 104.0 0.0 104. 15, 581. 0 TAZ T v M
96. 6 96. 3.25 2.50 0.

MRz B UL = 3.25 0. 00 1. 99.0 0.0 99. 15, 680. 0 TAZ T v
96. 7 96. 3.25 2.50 0.

AN N 3.25 0. 00 1. 91.0 0.0 91. 15, 771. 0 TAT T v N
96.8 96. 3.25 1. 80 1.

(AN N 3.25 0. 00 2. 99. 0 0.0 99. 15, 870. 0 TAZ T N
96.9 97. 3.25 1.70 1.

MRz B UL = T 3.25 0. 00 1. 106. 0 0.0 106. 15, 976. 0 TAT T
97.0 97. 3.25 2.20 6.




3}% % 13 / 109 ~_—
R4 0 0041 BiiE
=1 JE
ES (BB B0, FBE T YA m m FINAE £ & 11 O FESH
BHOE SC wOE | B ¥ | hexn &
m

Rz B UL = 3.25 0. 00 1. 113.0 0.0 0. 113. 16, 089. 0 TAT T v MR
97.1 97. 3.25 2.75 0.

(AN N 3.25 0. 00 1. 81. 0.0 0. 81. 16, 170. 0 TAT T v N
97.2 97. 3.25 2.75 1.

AN N 3.25 2.55 0. 86. 0.0 15. 101. 16, 271.0 TAZ T v
97.3 97. 3.25 2. 60 1.

MRz B UL = T 3.25 2. 50 0. 108. 0.0 0. 108. 16, 379. 0 TAZ T
97.4 97. 3.25 1. 00 0.

e B B R = 1T 3.25 2. 80 1. 46. 0.0 42. 88. 16, 467. 0 TAT T v
97.5 97. 3.25 0.00 1.

I B R i 3. 25 2. 80 0. 104. 0.0 0. 104. 16,571, 0| 7 7 /v MR
97.6 97. 3.50 0.00 1.

I B R T 3. 25 2. 60 0. 99. 0.0 0. 99. 16,670 0| 7 7 /v MR
97.7 97. 3.25 0. 00 1.

I B IR Tl 3. 50 2. 65 1. 86. 0.0 0. 86. 16,756, 0| 7 7 /v M
97.8 97. 4. 00 0. 00 1.

MR B LR = 7 3.25 2.70 1. 115. 0.0 0. 115. 16, 871.0 TAZ T v M
97.9 98. 3.25 0. 00 1.

MRz B UL = 3.50 2. 80 0. 100. 0.0 0. 100. 16,971.0 TAZ T v
98.0 98. 3.50 0. 00 1.

MRz B UL = 3.25 2.45 0. 99. 0.0 0. 99. 17, 070. 0 TAT T v N
98. 1 98. 3.25 0. 00 1.

(AN N 3.25 3.45 5. 101. 0.0 0. 101. 17, 171.0 TAZ T N
98. 2 98. 3.25 3.00 1.

Rz B UL = T 3.25 2. 65 3. 99. 0.0 0. 99. 17, 270. 0 TAT T
98.3 98. 3.25 0. 00 2.
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Rz B UL = 3.25 2. 70 1. 94. 0 0.0 94. 17, 364. 0 TAT T v MR
98.4 98. 3.25 0. 00 1.

(AN N 3.25 0. 00 1. 107.0 0.0 107. 17,471.0 TAT T v N
98.5 98. 3.25 0. 00 1.

AN N 3.25 0. 00 1. 101.0 0.0 101. 17,572.0 TAZ T v
98. 6 98. 3.25 0. 00 1.

MRz B UL = T 3.25 0. 00 1. 98.0 0.0 98. 17, 670. 0 TAZ T
98.7 98. 3.25 0. 00 1.

e B BT = 1T 3.25 0. 00 2. 112.0 0.0 112. 17,782.0 TAT T v
98.8 98. 3.25 0.00 1.

I B R i 3. 50 0. 00 1. 89. 0 0.0 89. 17,871, 0|7 27 7 /v SR
98.9 99. 3.25 0.00 3.

I B R T 3. 25 0. 00 1. 88. 0 0.0 88. 17,959, 0|7 27 7 /v MR
99.0 99. 3.25 0. 00 1.

I B IR Tl 3. 25 0. 00 1. 101. 0 0.0 101. 18,060, 0|~ 27 7 /v M
99. 1 99. 3.25 0. 00 1.

e B LR = 7 3.25 0. 00 2. 111.0 0.0 111. 18, 171.0 TAZ T v M
99. 2 99. 3.25 0. 00 1.

MRz B UL = 3.50 0. 00 2. 92.0 0.0 92. 18, 263. 0 TAZ T v
99.3 99. 3.50 0. 00 2.

AN N 3.50 0. 00 1. 105. 0 0.0 105. 18, 368. 0 TAT T v N
99. 4 99. 3.50 1.15 2.

MRz B UL = 3.25 0. 00 1. 103. 0 0.0 103. 18, 471.0 TAZ T N
99.5 99. 3.25 0. 00 1.

MRz B U = T 3.25 1.30 3. 99. 0 0.0 99. 18,570. 0 TAT T
99. 6 99. 3.25 0. 00 1.
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Rz B UL = 3.25 0. 00 0. 00 1. 100. 0 0.0 100. 18, 670. 0 TAT T v MR
99.7 99.8 3.25 0. 00 2.
(AN N 3.50 0. 00 0. 00 1. 100. 0.0 100. 18, 770. 0 TAT T v N
99.8 99.9 3.50 0. 00 2.
AN N 3.50 0. 00 0. 00 1. 167. 0.0 167. 18, 937.0 TAZ T v
99.9 100.0 3.50 0. 00 5.
MRz B UL = T 3.50 0. 00 0. 00 1. 34. 0.0 34. 18,971.0 TAZ T
100.0 61 100. 1 3.50 0. 00 1.
e B BT = 1T 3.25 2. 00 0. 00 0. 98. 0.0 98. 19, 069. 0 TAT T v
100. 1 100. 2 3.25 0.00 0.
I B R i 3. 50 2.05 0. 00 1. 98. 0.0 98. 19, 167. 0|7 27 7 /v MEE
100. 2 100. 3 3.50 0.00 7.
I B R T 3. 25 0. 00 0. 00 1. 103. 0.0 103. 19,270, 0|7 27 7 /v MRS
100. 3 100. 4 3.25 0. 00 2.
I B IR Tl 3. 25 0. 00 0. 00 0. 98. 0.0 98. 19,368, 0|~ X7 7 /v M
100. 4 100. 5 3.25 0. 00 0.
MR B LR = 7 3.25 0. 00 0. 00 0. 100. 0.0 100. 19, 468. 0 TAZ T v M
100. 5 100. 6 3.25 0. 00 1.
MRz B UL = 3.25 0. 00 0. 00 1. 101. 0.0 101. 19, 569. 0 TAZ T v
100. 6 100.7 3.25 0. 00 1.
MRz B UL = 3.25 0. 00 0. 00 1. 98. 0.0 98. 19, 667. 0 TAT T v N
100. 7 100. 8 3.25 0. 00 1.
(AN N 3.25 0. 00 0. 00 1. 101. 0.0 101. 19, 768. 0 TAZ T N
100. 8 100.9 3.25 0. 00 1.
Rz B UL = T 3.25 0. 00 0. 00 1. 90. 0.0 90. 19, 858. 0 TAT T
100. 9 101.0 3.25 0. 00 1.
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Rz B UL = 3.25 0. 00 0. 88.0 0.0 107. 19, 965. 0 TAT T v MR
101. 0 101. 3.25 0. 00 0.

(AN N 3.25 0. 00 0. 100. 0 0.0 100. 20, 065. 0 TAT T v N
101. 1 101. 3.25 0. 00 1.

AN N 3.25 0. 00 0. 106. 0 0.0 106. 20,171.0 TAZ T v
101.2 101. 3.25 0. 00 1.

MRz B UL = T 3.25 0. 00 0. 99. 0 0.0 99. 20, 270. 0 TAZ T
101.3 101. 3.25 0. 00 1.

e B BT = 1T 3.25 0. 00 0. 102.0 0.0 102. 20, 372. 0 TAT T v
101. 4 101. 3.25 0.00 1.

I B R i 3. 25 0. 00 5. 114.0 0.0 114. 20, 486, 0| * 7 7V MR
101.5 101. 3.25 0.00 1.

I B R T 3. 25 0. 00 0. 84. 0 0.0 84. 20,570, 0| X7 7V M
101. 6 101. 3.25 0. 00 1.

I B IR Tl 3. 50 0. 00 3. 105. 0 0.0 105. 20,675, 0 7 7 /v Ml
101.7 101. 3.50 0. 00 0.

et B LR = 3.25 0. 00 0. 95. 0 0.0 95. 20, 770.0 TAZ T v M
101.8 101. 3.25 0. 00 1.

MRz B UL = 3.50 0. 00 1. 100. 0 0.0 100. 20, 870. 0 TAZ T v
101.9 102. 3.50 0. 00 1.

MRz B UL = 3.25 0. 00 0. 100. 0 0.0 100. 20, 970. 0 TAT T v N
102. 0 102. 3.25 0. 00 1.

(AN N 3.25 0. 00 0. 100. 0 0.0 100. 21,070.0 TAZ T N
102. 1 102. 3.25 0. 00 1.

Rz B UL = T 3.25 0. 00 0. 101.0 0.0 101. 21,171.0 TAT T
102. 2 102. 3.25 0. 00 1.
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Rz B UL = 3.25 2. 50 0. 100. 0 0.0 0. 100. 21,271.0 TAT T v MR
102.3 102. 3.25 0. 00 1.

(AN N 3.25 0. 00 0. 100. 0.0 0. 100. 21,371.0 TAT T v N
102. 4 102. 3.25 0. 00 1.

AN N 3.25 0. 00 1. 96. 0.0 0. 96. 21, 467.0 TAZ T
102. 5 102. 3.25 0. 00 1.

MRz B UL = T 3.50 0. 00 0. 99. 0.0 6. 105. 21,572.0 TAZ T
102. 6 102. 3.50 0. 00 3.

e B BT = 1T 3.25 0. 00 0. 98. 0.0 0. 98. 21, 670. 0 TAT T v
102.7 102. 3.50 0.00 0.

I B R i 3. 25 0. 00 1. 99. 0.0 0. 99. 21,769, 0| %7 7V MR
102. 8 102. 3.25 0.00 0.

I B R T 3. 25 0. 00 0. 91. 0.0 0. 91. 21,860, 0|~ 7 7V M=
102.9 103. 3.25 0. 00 1.

I B IR Tl 3. 25 0. 00 1. 113. 0.0 0. 113. 21,973, 0| 7 7V MR
103. 0 103. 3.25 0. 00 1.

et B LR = 3.25 0. 00 0. 100. 0.0 0. 100. 22,073.0 TAZ T v M
103. 1 103. 3.25 0. 00 1.

MRz B UL = 3.25 0. 00 1. 104. 0.0 0. 104. 22,177.0 TAZ T v
103.2 103. 3.25 1. 00 3.

AN N 3.25 0. 00 1. 105. 0.0 0. 105. 22, 282.0 TAT T v N
103.3 103. 3.25 0. 00 4.

(AN N 3.25 0. 00 0. 91. 0.0 0. 91. 22,373.0 TAZ T N
103. 4 103. 3.25 1. 00 4.

MRz B UL = T 3.25 0. 00 0. 86. 0.0 13. 99. 22,472.0 TAT T
103.5 103. 3.25 0. 00 0.
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Rz B UL = 3.50 0. 00 0. 100. 0 0.0 0. 100. 22,572.0 TAT T v MR
103. 6 103. 3.50 0. 00 0.

(AN N 3.25 0. 00 0. 0. 0.0 91. 91. 22, 663. 0 TAT T v N
103.7 103. 3.25 0. 00 0.

AN N 3.25 0. 00 0. 98. 0.0 0. 98. 22,761.0 TAZ T v
103. 8 103. 3.25 0. 00 0.

MRz B UL = T 3.25 0. 00 1. 112. 0.0 0. 112. 22,873.0 TAZ T
103.9 104. 3.25 0. 00 0.

e B B R = 1T 3.25 0. 00 1. 102. 0.0 0. 102. 22,975.0 TAT T v
104. 0 104. 3.25 0.00 0.

I B R i 3. 25 0. 00 1. 94. 0.0 0. 94. 23,069, 0| * 7 7V M
104. 1 104. 3.25 0.00 1.

I B R T 3. 25 0. 00 1. 100. 0.0 0. 100. 23, 169, 0|~ 7 7V M
104. 2 104. 3.30 2.30 0.

I B IR Tl 3. 25 0. 00 1. 105. 0.0 0. 105. 93,974, 0| 7 7V Ml
104.3 104. 3.30 2.30 1.

et B LR = 3.25 0. 00 3. 88. 0.0 12. 100. 23,374.0 TAZ T v M
104. 4 104. 3.30 2.25 0.

MRz B UL = 3.25 0. 00 4, 99. 0.0 0. 99. 23,473.0 TAZ T v
104. 5 104. 3.25 2.65 0.

MRz B UL = 3.25 0. 00 6. 98. 0.0 0. 98. 23,571.0 TAT T v N
104. 6 104. 3.25 0. 00 2.

(AN N 3.20 0. 00 6. 114. 0.0 182. 296. 23,867.0 TAZ T N
104.7 105. 3.25 0. 00 1.

IRz B UL = 7 3.50 0. 00 2. 109. 0.0 0. 109. 23,976.0 TAT T
105. 0 105. 3.50 2.85 1.




j% %}% % 19 / 109 R_—
R4 0 0041 BiiE
=1 JE
ES (BB B0, FBE T YA m SRS & 11 O FESH
BHOE SC S O | hex &
m

Rz B UL = 3.25 0. 00 0. 89.0 0.0 0. 89. 24, 065. 0 TAT T v MR
105. 1 10 105. 3.25 0. 00 2.

(AN N 3.25 0. 00 0. 92.0 0.0 0. 92. 24, 157.0 TAT T v N
105. 2 105. 3.25 1.95 0.

AN N 3.30 0. 00 0. 97.0 0.0 0. 97. 24, 254. 0 TAZ T v
105.3 105. 3.50 2.35 5.

MRz B UL = T 3.30 0. 00 0. 108. 0 0.0 0. 108. 24, 362. 0 TAZ T
105. 4 105. 3.25 2.45 2.

e B B R = 1T 3.30 0. 00 0. 99. 0 0.0 0. 99. 24, 461. 0 TAT T v
105. 5 105. 3.35 1.90 0.

I B R i 3. 25 0. 00 0. 91.0 0.0 0. 9l. 04,552, 0|7 X7 7V MR
105. 6 105. 3.30 4. 05 1.

I B R T 3. 25 0. 00 9. 99. 0 0.0 0. 99. 04,651, 0| *7 7V M=
105.7 105. 3.25 7.10 1.

I B IR Tl 3. 25 0. 00 9. 99. 0 0.0 0. 99. 24,750, 0 7 7V Ml
105. 8 105. 3.25 3.55 1.

MR B LR = 7 3.25 0. 00 3. 111.0 0.0 6. 117. 24, 867.0 TAZ T v M
105. 9 106. 3.30 3.70 2.

MRz B UL = 3.35 2. 50 1. 13.0 0.0 73. 86. 24, 953. 0 TAZ T v
106. 0 106. 3.80 0. 00 0.

MRz B UL = 3. 40 2.55 1. 103.0 0.0 0. 103. 25, 056. 0 TAT T v N
106. 1 106. 9.75 0. 00 1.

(AN N 3.30 2. 20 0. 78.0 0.0 5. 83. 25,139.0 TAZ T N
106. 2 106. 3.30 0. 00 1.

Rz B UL = T 3.25 1.50 0. 132.0 0.0 0. 132. 25,271.0 TAT T
106. 3 106. 3.25 0. 00 0.
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Rz B UL = 3.25 1. 20 0. 84.0 0.0 0. 84. 25, 355. 0 TAT T v MR
106. 4 106. 3.25 0. 00 2.

(AN N 3.25 1. 20 0. 101.0 0.0 0. 101. 25, 456. 0 TAT T v N
106. 5 106. 3.25 0. 00 0.

AN N 3.25 1.90 0. 97.0 0.0 0. 97. 25, 553. 0 TAZ T v
106. 6 106. 3.25 0. 00 0.

MRz B UL = T 3.25 2. 00 0. 102. 0 0.0 0. 102. 25, 655. 0 TAZ T
106. 7 106. 3.25 0. 00 0.

e B B R = 1T 3.25 1.90 0. 97.0 0.0 0. 97. 25, 752. 0 TAT T v
106. 8 106. 3.25 0.00 0.

I B R i 3. 25 1.30 0. 105. 0 0.0 0. 105. 05,857, 0|~ 7 7V M
106.9 107. 3.25 0.00 0.

I B R T 3. 25 3. 60 0. 101. 0 0.0 0. 101. 25,958, 0 7 7V M
107. 0 107. 3.25 0. 00 0.

I B IR Tl 3. 25 2.75 0. 97.0 0.0 0. 97. 26, 055, 0| 7 7 /v Ml
107. 1 107. 3.25 0. 00 1.

MR B LR = 7 3.25 2. 90 1. 105.0 0.0 0. 105. 26, 160. 0 TAZ T v M
107.2 107. 3.25 0. 00 4.

MRz B UL = 3.25 0. 00 4, 95. 0 0.0 0. 95. 26, 255. 0 TAZ T v
107.3 107. 3.25 0.75 2.

MRz B UL = 3.25 1.75 0. 176.0 0.0 3. 179. 26, 434. 0 TAT T v N
107. 4 107. 3.25 0. 00 0.

(AN N 3.25 0. 00 1. 74.0 0.0 148. 222. 26, 656. 0 TAZ T N
107.5 80 107. 3.25 0. 00 0.

Rz B UL = T 3.25 0. 00 1. 119.0 0.0 0. 119. 26, 775.0 TAT T
107.8 107. 3.25 1. 65 0.
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Rz B UL = 3. 0. 00 1. 81.0 0.0 81. 26, 856. 0 TAT T v MR
107.9 108. 3. 2.20 1.

(AN N 3. 1. 90 1. 101. 0.0 101. 26, 957. 0 TAT T v N
108. 0 108. 3. 1. 60 1.

AN N 3. 0. 00 2. 61. 0.0 99. 27, 056. 0 TAZ T v
108. 1 108. 3. 1.70 1.

MRz B UL = T 3. 0. 00 1. 101. 0.0 101. 27,157.0 TAZ T
108. 2 108. 3. 1. 80 1.

e B B R = 1T 3. 0. 00 1. 100. 0.0 100. 27, 257.0 TAT T v
108.3 108. 3. 1. 80 1.

I B R i 3. 0. 00 1. 100. 0.0 100. 07,357, 0| X7 7V MR
108. 4 108. 3. 1. 80 1.

I B R T 3. 0. 00 1. 99. 0.0 99. o7, 456, 0| * 7 7V M=
108.5 108. 3. 2. 00 1.

I B IR Tl 3. 0. 00 1. 2. 0.0 112. 27,568, 0| 7 7 /v Ml
108. 6 108. 3. 2.30 1.

MR B LR = 7 3. 0. 00 1. 88. 0.0 88. 27, 656. 0 TAZ T v M
108.7 11 108. 3. 1. 80 1.

MRz B UL = 3. 0. 00 1. 170. 0.0 170. 27, 826. 0 TAZ T v
108. 8 108. 3. 1. 80 0.

I B R 3. 0. 00 1. 7. 0.0 28. 07,854, 0|7 7 7V M
108.9 70 109. 3. 2.10 1.

(AN N 3. 0. 00 1. 102. 0.0 102. 27, 956. 0 TAZ T N
109. 0 109. 3. 1.70 1.

IRz B UL = 7 3. 0. 00 1. 99. 0.0 99. 28, 055. 0 TAT T
109. 1 109. 3. 2.30 1.

_21_
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Rz B UL = 3.25 0. 00 0. 00 1. 00 106. 0 0.0 0.0 106.0] 28 16107 77" DEES
109. 2 0~  109.3 0 3.25 1. 80 1. 00

(AN N 3.25 0. 00 0. 00 1. 00 95.0 0.0 0.0 95.0|  28,256.0 TAT T v N
109. 3 0~  109.4 0 3.25 2. 20 1. 00

ez VR 2 7 3.25 0. 00 0. 00 1.00 99. 0 0.0 0.0 99.0| 28 355.01” 77" DELES
109. 4 0~  109.5 0 3.25 2. 20 1. 00

ez B R 5 7 3.25 0. 00 0. 00 1.00 102.0 0.0 0.0 102.0] 2845707 %77 DELES
109.5 0~  109.6 0 3.25 0. 00 1. 00

Rz B BN A T 3.25 0. 00 0. 00 1. 00 122.0 0.0 0.0 122.0]  28,579.0|7 %7 7" DEEES
109. 6 0~  109.7 22 3.25 2. 00 1. 00

I B R i 3. 25 0. 00 0. 00 0. 50 22.0 0.0 119.0 141.0| 28,720, 0|7 X7 7V MR
109.7 22~  109.8 63 3.25 1. 00 0. 50

IRz B UL R = T 3.25 0. 00 0. 00 0.25 0.0 1,232.0 0.0 1,232.0] 29,952,077 U= M
109.8 63~  111.0 96 3.25 1. 00 0.25

IRz B BN = T 3.25 0. 00 0. 00 0.30 179.0 0.0 0.0 179.0| 30, 13107 %7 7" DELES
111.0_ 96 ~  111.6 0 3.25 2. 00 0. 50

Rz B UL 2 T 3.25 0. 00 0. 00 0. 90 89. 0 0.0 0.0 89.0| 30,220.0|7 %77 DELES
111.6 0~  111.7 0 3.25 5. 00 0. 60

Rz B UL = 3.25 0. 00 0. 00 1. 00 91. 0 0.0 0.0 91.0[ 30,311.0 TAZ T v
111.7 0~ 111.8 0 3.25 1. 80 0. 60

MRz B UL = 3.25 0. 00 0. 00 1. 00 89.0 0.0 0.0 89.0|  30,400.0 TAT T v N
111.8 0~ 1119 0 3.25 1. 80 0.50

ez VR R 2 T 3.25 0. 00 0. 00 1.00 107.0 0.0 4.0 111.0]  30,511.0 TAZ T N
111.9 0~ 112.0 0 3.25 1.80 1. 00

ez BV R 5 T 3.25 0. 00 0. 00 1.00 97. 0 0.0 3.0 100.0| 30,6110 %77 DELES
112.0 0~ 112.1 0 3.25 1. 80 1. 00
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Rz B UL = 3.25 0. 00 1. 91.0 0.0 94. 30, 705. 0 TAT T v MR
112.1 112. 3.25 1. 80 1.

(AN N 3.25 0. 00 0. 95. 0.0 96. 30, 801. 0 TAT T v N
112.2 112. 3.25 1. 50 0.

AN N 3.25 0. 00 1. 89. 0.0 89. 30, 890. 0 TAZ T v
112.3 112. 3.25 1.90 0.

MRz B UL = T 3.25 0. 00 0. 93. 0.0 102. 30, 992. 0 TAZ T
112.4 112. 3.25 1.90 0.

e B B R = 1T 3.25 0. 00 1. 105. 0.0 105. 31, 097.0 TAT T v
112.5 112. 3.25 1.70 0.

I B R i 3. 30 2. 40 0. 90. 0.0 90. 51,187, 0| * 7 7V MR
112.6 112. 3.25 6. 80 0.

I B R T 3.34 1.79 0. 85. 0.0 85. 51,972, 0|7 A7 7V M=
112.7 112. 3.25 0. 00 6.

I B IR Tl 3.54 3. 46 9. 99. 0.0 99. 51,371, 0| 7 7 /v R
112.8 112. 3.25 3. 09 0.

MR B LR = 7 3.25 3.13 0. 124. 0.0 124. 31, 495.0 TAZ T v M
112.9 113. 3.25 4.12 0.

MRz B UL = 3.25 2. 80 0. 122. 0.0 122. 31,617.0 TAZ T v
113.0 113. 3.25 2.50 0.

MRz B UL = 3.25 2.25 2. 163. 0.0 163. 31, 780. 0 TAT T v N
113.1 113. 3.25 2. 70 2.

(AN N 3.25 0. 00 1. 22. 0.0 22. 31, 802.0 TAZ T N
113.2 70 113. 3.25 2. 00 1.

Rz B UL = T 3.50 0. 00 1. 100. 0.0 100. 31, 902.0 TAT T
113.3 113. 3.50 1.90 2.
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Rz B UL = 3.25 0. 00 0. 00 0. 80 112.0 0.0 0.0 12,0l 32,014,017 77 DEES
113.4 0~  113.5 13 3.25 2.10 0.50

(AN N 3.25 0. 00 0. 00 2. 00 86. 0 0.0 0.0 86.0|  32,100.0 TAT T v N
113.5 13~  113.6 0 3.25 2.10 0.50

ez VR 2 7 3.25 0. 00 0. 00 1.25 183.0 0.0 0.0 183.0| 32,283,077 7 DELES
113.6 0~  113.7 83 3.25 0. 00 0.75

ez B R 5 7 3.25 0. 00 0. 00 1.25 17.0 0.0 0.0 17.0|  32,300.0|7 %77 DELES
113.7 83~  113.8 0 3.25 0. 00 0.75

Rz B B R T 3.25 0. 00 0. 00 0.75 104.0 0.0 4.0 108.0|  32,408.0|7 %7 7" DEEES
113.8 0~  113.9 0 3.25 2. 20 1. 00

I B R i 3. 25 0. 00 0. 00 .20/  101.0 0.0 0.0 101.0{ 32,500, 0|7 X7 7V M=
113.9 0~ 114.0 0 3.25 2. 20 1.00

IRz B UL R = T 3.25 0. 00 0. 00 1. 20 102.0 0.0 0.0 102.0] 32611017 77" DEEES
114.0 0~  114.1 0 3.25 2. 20 0.75

IRz B BN = T 3.25 0. 00 0. 00 0.75 42.0 0.0 0.0 42.0] 3265307 7TV DELES
114.1 0~  114.1 42 3.25 2. 20 1.00

Rz B UL R = T 3.25 0. 00 0. 00 0.75 61.0 0.0 0.0 61.0 3271407 7T DELES
114. 1 42 ~  114.2 0 3.25 2. 20 1. 00

MRz B UL = 3.25 0. 00 0. 00 1.65 27.0 0.0 0.0 o7.0| 32,7410 X7 TV DELES
114.2 0~ 114.2 27 3.25 0. 00 1.25

MRz B UL = 3.25 0. 00 0. 00 0. 90 0.0 0.0 3.0 3.0|  32,744.0 TAT T v N
114.2 27~ 114.2 30 3.25 0. 00 0.90

ez VR 2 7 3.25 1.90 0. 00 1.45 47.0 0.0 0.0 a7.0| 32,7910 7TV DELES
114.2 30 ~  114.2 77 3.25 0. 00 1.35

ez BV R 5 T 3.25 0. 00 0. 00 1.05 30. 0 0.0 0.0 0.0 32,8210 77 DELES
114.2 77~ 114.3 7 3.25 0. 00 1.05
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Rz B UL = 3.25 0. 00 0. 00 0. 65 0.0 0.0 5.0 5.0 32,8207 ° 77" DEES
114.3 7~  114.3 12 3.25 0. 00 0. 65

(AN N 3.25 0. 00 0. 00 1.05 58.0 0.0 0.0 58.0| 32,884.0 TAT T v N
114.3 12~  114.3 70 3.25 0. 00 1.05

ez VR 2 7 3.25 0. 00 0. 00 0. 30 10.0 0.0 0.0 10.0|  32,804.0{7 77" DELES
114.3 70 ~  114.3 80 3.25 0. 00 0.30

ez B R 5 7 3.25 0. 00 0. 00 1.05 89. 0 0.0 0.0 89.0| 32,983.0/7 %77 DELES
114.3 80~  114.4 76 3.25 0. 00 1.05

Rz B UL R A T 3.25 3. 50 0. 00 0.85 53.0 0.0 0.0 53.0]  33,036.07 77V DEEES
114.4 76 ~  114.5 29 3.25 0. 00 1. 60

I B R 3. 25 3. 50 0. 00 0.85 61.0 0.0 0.0 61.0| 33,007, 0|7 X7 7V MR
114.5 29 ~  114.6 0 3.25 2.70 1. 60

IRz B UL R = T 3.25 3.10 0. 00 0.85 23.0 0.0 0.0 23.0]  33,120.0|7 %77 DEEES
114.6 0~ 114.6 23 3.25 2.70 1. 60

IRz B B R = T 3.25 3. 20 0. 00 0.85 44.0 0.0 0.0 440 3316407 7TV DELES
114.6 23~ 114.6 67 3.25 2.70 1. 60

Rz B UL R = T 3.25 3.20 0. 00 0. 85 6.0 0.0 0.0 6.0|  33,170.0 TAZ T v M
114.6 67~  114.6 13 3.25 2. 50 1. 60

Rz B UL = 3.25 2.70 0. 00 0. 85 10.0 0.0 0.0 10.0| 33, 180.0|7 277" DELES
114.6 73~  114.6 83 3.25 2. 50 1. 60

MRz B UL = 3.25 2. 70 0. 00 0. 90 0.0 0.0 3.0 3.0] 33,183.0 TAT T v N
114.6 83~  114.6 86 3.25 2. 50 0.90

ez VR R 2 T 3.25 2.70 0. 00 0. 85 5.0 0.0 0.0 5.0 33,188.07 * 77" DELES
114.6 86~  114.6 91 3.25 2. 50 1. 60

ez BV R 5 T 3.25 2.50 0. 00 0. 85 6.0 0.0 0.0 6.0 3319407 77 DELES
114.6 91~  114.6 97 3.25 2. 50 1. 60
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Rz B UL = 3.25 2.50 0. 00 0. 85 20. 0 0.0 0.0 20.0| 33,214.017 77 DEES
114.6 97 ~  114.7 6 3.25 2. 60 1. 60

(AN N 3.25 3.00 0. 00 0. 85 30.0 0.0 0.0 30.0[  33,244.0 TAT T v N
114.7 6~ 114.7 36 3.25 2. 60 1. 60

ez VR 2 7 3.25 3. 00 0. 00 0. 80 14.0 0.0 0.0 14.0| 3325807 77" DELES
114.7 36~  114.7 50 3.25 2. 60 1.55

ez B R 5 7 3.25 3. 50 0. 00 0. 80 9.0 0.0 0.0 9.0| 33,267.07 77 DELES
114.7 50 ~  114.7 59 3.25 2. 60 1.55

Rz B B R T 3.25 3. 50 0. 00 0. 80 11.0 0.0 0.0 11.0|  33,278.0 TAT T v
114.7 59 ~  114.7 70 3.25 2. 50 1.55

I B R i 3. 25 4.50 0. 00 0. 80 17.0 0.0 0.0 17.0| 33,205 0|7 77 7 /v MR
114.7 70 ~  114.7 87 3.25 2. 50 1.55

Rz B BN = T 3.25 3. 60 0. 00 0. 80 212.0 0.0 0.0 212.0|  33,507.0]7 77" DEEES
114.7 87~ 115.0 0 3.25 2. 50 1.55

IRz B BN = T 3.25 3. 60 0. 00 0. 80 99. 0 0.0 0.0 99.0| 33,606.07 77V DELES
115.0 0~ 115.1 0 3.25 2. 60 1.55

Rz B UL = T 3.25 4. 20 0. 00 0. 80 337.0 0.0 0.0 337.0| 33,943,077 7" DELES
115. 1 0~ 115.4 34 3.25 2. 60 1. 15

MRz B UL = 3.25 2.20 0. 00 0. 80 83. 0 0.0 0.0 83.0| 34,0207 77T DELES
115.4 34~ 115.5 15 3.25 2. 60 1.15

MRz B UL = 3.25 2. 20 0. 00 0.50 124.0 0.0 0.0 124.0[  34,150.0 TAT T v N
115.5 15~ 115.6 39 3.25 2. 60 1. 80

ez VR R 2 T 3.25 3. 00 0. 00 0. 50 178.0 0.0 0.0 178.0|  34,328.07 %77 DELES
115.6 39~ 115.8 33 3.25 2. 60 1. 80

Iz BV R 5 T 3.25 3. 00 0. 00 0. 60 80. 0 0.0 0.0 80.0| 34,408.0|” 77" DELES
115.8 33~  115.9 15 3.25 2. 60 0. 50
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Rz B UL = 3. 3. 00 0. 79.0 0.0 79. 34, 487.0 TAT T v MR
115.9 115. 94 3. 1. 40 0.

(AN N 3. 3.00 0. 27.0 0.0 27. 34,514. 0 TAT T v N
115.9 116. 3 3. 2.50 0.

AN N 3. 2. 40 0. 0.0 0.0 5. 34,519.0 TAZ T
116.0 116. 8 3. 2. 00 0.

MRz B UL = T 3. 2.70 0. 191.0 0.0 191. 34,710.0 TAZ T
116.0 116. 0 3. 3.00 0.

e B B R = 1T 3. 2.70 0. 150. 0 0.0 150. 34, 860. 0 TAT T v
116.2 116. 69 3. 3.00 1.

I B R i 3. 2.70 0. 153.0 0.0 153. 35,013, 0| * 7 7 /v M
116.3 116. 0 3. 0.00 1.

I B R T 3. 2. 60 0. 101. 0 0.0 101. 35,114, 0| * 7 7V M=
116.5 116. 0 3. 0. 00 1.

I B IR Tl 3. 2. 60 1. 274.0 0.0 274, 35,388, 0 7 7 /v Ml
116.6 116. 88 3. 0. 00 0.

et B LR = 3. 2. 60 0. 59. 0 0.0 59. 35, 447.0 TAZ T v M
116.8 116. 42 3. 2.20 0.

MRz B UL = 3. 2. 60 0. 67.0 0.0 67. 35,514. 0 TAZ T v
116.9 117. 0 3. 0. 00 0.

MRz B UL = 3. 2. 50 0. 255. 0 0.0 255. 35, 769. 0 TAT T v N
117.0 117. 53 3. 0. 00 0.

(AN N 3. 2. 50 0. 0.0 0.0 6. 35,775.0 TAZ T N
117.2 117. 59 3. 0. 00 2.

MRz B UL = T 3. 2. 50 0. 142. 0 0.0 142. 35,917.0 TAT T
117.2 117. 0 3. 0. 00 0.
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ez B VR R 2 7 3.25 2. 50 0. 00 1.75 269.0 0.0 0.0 269.0| 36,186.0|7 77" DEES
117.4 0~ 117.6 69 3.25 0. 00 0.85

(AN N 3.25 2. 50 0. 00 1. 00 51.0 0.0 0.0 51.0[ 36,237.0 TAT T v N
117.6 69 ~  117.7 25 3.25 2.10 0.75

ez VR 2 7 3.25 2. 50 0. 00 1.00 42.0 0.0 0.0 42.0|  36,219.017 77V DELES
117.7 25~ 117.7 67 3.25 2. 50 0.75

ez B R 5 7 3.25 2. 40 0. 00 1.00 33.0 0.0 0.0 33.0|  36,312.07 77" DELES
117.7 67~ 117.8 0 3.25 2. 50 0.75

Rz B BN A T 3.25 2. 40 0. 00 1.25 119.0 0.0 0.0 119.0|  36,431.0|7 77" DEEES
117.8 0~ 117.9 18 3.25 2. 50 1.25

I B R i 3. 25 2. 60 0. 00 1.25 82. 0 0.0 0.0 82.0| 36,513, 0|7 X7 7V MR
117.9 18 ~ 118.0 0 3.25 2. 50 1.25

Iz B LR T 3.25 2. 60 0. 00 1. 00 124.0 0.0 0.0 124.0|  36,637.0|7 77" DEEES
118.0 0~  118.1 24 3.25 2. 50 1. 00

I B IR Tl 3. 25 2. 60 0. 00 1.00 8.0 0.0 0.0 8.0 36 645 07 *7 7V M
118. 1 24 ~  118.1 32 3.25 2. 50 1.00

7 B VR R 2 7 3.25 2. 60 0. 00 1. 00 40. 0 0.0 0.0 40.0| 36,685.07 7T DELES
118. 1 32 ~  118.2 0 3.25 2. 50 1. 00

ez B VR R 2 7 3.25 2. 60 0. 00 1. 00 226.0 0.0 0.0 226.0| 36,911.0|7 277 DELES
118.2 0~ 118.4 41 3.25 2. 50 1. 00

MRz B UL = 3.25 2. 60 0. 00 1. 00 36.0 0.0 0.0 36.0]  36,947.0 TAT T v N
118.4 41 ~  118.4 77 3.25 1. 80 1. 00

ez YRR 7 7 3.25 2. 60 0. 00 1. 00 21.0 0.0 0.0 21.0| 36,9680 77" DELES
118.4 77~ 118.4 98 3.25 2. 20 1. 00

ez BV R 5 T 3.25 2. 60 0. 00 1.00 10.0 0.0 0.0 10.0| 36,978.0|7 77" DELES
118.4 98 ~  118.5 0 3.25 2. 20 1. 00

_28_
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Rz B UL = 3.25 2.10 0. 00 1. 00 51.0 0.0 0.0 51.0|  37,029.0 TAT T v MR
118.5 0~ 118.5 51 3.25 2. 20 1. 00

(AN N 3.25 2. 50 0. 00 1. 00 42.0 0.0 0.0 42.0|  37,071.0 TAT T v N
118.5 51 ~  118.5 93 3.25 2. 20 1. 00

ez VR 2 7 3.25 2.10 0. 00 1.00 206. 0 0.0 0.0 206.0| 37,217.0|7 77" DELES
118.5 93 ~  118.8 0 3.25 2. 20 1.00

ez B R 5 7 3.25 2.10 0. 00 0. 80 98. 0 0.0 0.0 98.0| 37,375.07 77" DELES
118.8 0~ 118.8 98 3.25 2.10 0. 50

Rz B B R T 3.25 2.10 0. 00 0. 80 7.0 0.0 0.0 7.0 87,382,017 77" DEEES
118.8 98 ~  118.9 0 3.25 3.90 0. 50

I B R 3. 25 2.10 0. 00 0. 80 68. 0 0.0 0.0 68.0| 37,450, 0|7 X7 7V MR
118.9 0~ 118.9 68 3.25 4. 80 0. 50

IRz B UL R = T 3.25 2.80 0. 00 0.80 33.0 0.0 0.0 33.0| 37,483.0]7 7TV DEEES
118.9 68 ~  119.0 0 3.25 4. 80 0. 50

IRz B B R = T 3.25 2. 80 0. 00 0. 80 138.0 0.0 0.0 138.0  37,621.0 TAT TV M
119.0 0~  119.1 44 3.25 2.70 0. 80

Rz B UL 2 T 3.25 2. 80 0. 00 0. 80 60. 0 0.0 0.0 60.0| 3768107 77TV DELES
119. 1 44 ~  119.2 0 3.25 3.70 0. 80

Rz B UL = 3.25 2. 80 0. 00 0. 50 53.0 0.0 0.0 53.0| 37,734.0|7 77TV DELES
119.2 0~ 119.2 53 3.25 3.70 1. 10

MRz B UL = 3.25 2. 80 0. 00 0.50 54.0 0.0 0.0 54.0| 37,788.0 TAT T v N
119.2 53 ~  119.3 0 3.25 2.70 1. 10

ez YRR 7 7 3.25 2. 60 0. 00 0. 50 92. 0 0.0 0.0 92.0| 37,880.0|7 77" DELES
119.3 0~ 119.3 92 3.25 2.70 1. 10

ez BV R 5 T 3.25 2.70 0. 00 0. 50 0.0 0.0 10.0 10.0|  37,890.0[7 77" DELES
119.3 92 ~  119.4 13 3.25 2. 50 0. 50

_29_
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Rz B UL = 3.25 2. 60 0. 00 0.25 110. 0 0.0 0.0 110.0| 38,0000 77 DEES
119.4 13~  119.5 22 3.25 2. 60 0.25

(AN N 3.25 3.50 0. 00 0.25 71.0 0.0 0.0 71.0[  38,071.0 TAT T v N
119.5 22 ~  119.5 93 3.25 2. 60 0.25

ez VR 2 7 3.25 2.30 0. 00 0.25 9.0 0.0 0.0 9.0| 38,0800 77 DELES
119.5 93~  119.6 0 3.25 2. 60 0.25

ez B R 5 7 3.25 2.30 0. 00 1.15 27.0 0.0 0.0 7.0 3810707 %77V DELES
119.6 0~ 119.6 27 3.25 2. 60 1.15

Rz B BN A T 3.25 2.50 0. 00 1.15 171.0 0.0 0.0 171.0| 38, 218.0|7 77 DEEES
119.6 27~  119.8 0 3.25 2. 60 1.15

I B R i 3. 25 1.70 0. 00 1.05 21.0 0.0 0.0 21.0| 38,209, 0|7 X7 7V MR
119.8 0~ 119.8 21 3.25 2. 60 0.55

IRz B UL R = T 3.25 1. 70 0. 00 1.05 89.0 0.0 0.0 89.0| 38,388.07 7TV DEEES
119.8 21 ~  119.9 12 3.25 2. 50 0.55

IRz B BN = T 3.50 2.30 0. 00 1.05 91.0 0.0 0.0 91.0] 38,479.07 X7 TNV DELES
119.9 12 ~  120.0 0 3. 50 2. 50 0. 55

Rz B UL R = T 3.50 3.00 0. 00 1.05 20. 0 0.0 0.0 20.0| 38,499.0|7 %77V DELES
120. 0 0~ 120.0 20 3.50 3.00 0.55

Rz B UL = 3.50 3.00 0. 00 1.05 40. 0 0.0 0.0 40.0| 38,539.07 7T DELES
120.0 20~ 120.0 60 3. 50 3.00 0.55

MRz B UL = 3.50 3.00 0. 00 1. 50 304.0 0.0 0.0 304.0|  38,843.0 TAT T v N
120.0 60 ~  120.3 61 3. 50 3.00 1. 50

ez YRR 7 7 3.25 3. 00 0. 00 0. 55 39.0 0.0 0.0 30.0| 38,882.07 77" DELES
120.3 61 ~  120.4 0 3.25 3.00 0.55

ez BV R 5 T 3.25 3. 00 0. 00 0. 40 50. 0 0.0 0.0 50.0| 38,9320 77 DELES
120. 4 0~ 120.4 50 3.25 3.00 0. 40
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Rz B UL = 3.25 1. 60 0. 00 0. 40 53.0 0.0 0.0 53.0| 38,9850 77" DEES
120.4 50 ~  120.5 2 3.25 2.70 0. 40

(AN N 3.25 1. 10 0. 00 1. 50 0.0 0.0 7.0 7.0|  38,992.0 TAT T v N
120. 5 2 ~  120.5 9 3.25 2. 80 0.50

ez VR 2 7 3.25 2.00 0. 00 0. 40 19.0 0.0 0.0 19.0]  39,011.0 TAZ T v
120. 5 9 ~  120.5 28 3.25 2. 80 0. 40

ez BV R 5 T 3.25 2. 00 0. 00 0. 40 67. 0 0.0 0.0 67.0| 39,078.07 77" DELES
120.5 28 ~  120.6 0 3.25 2. 50 0. 40

Rz B B R T 3.25 2.00 0. 00 0.55 51.0 0.0 0.0 51.0]  39,129.0 TAT T v
120. 6 0~ 120.6 51 3.25 2. 50 0.55

I B R i 3. 25 2. 00 0. 00 0.55 36. 0 0.0 0.0 36.0| 39, 165,07 *7 7V MR
120.6 51 ~  120.6 87 3.25 3.00 0.55

Rz B BN = T 3.25 2.00 0. 00 0.55 25.0 0.0 0.0 25.0] 39,190.0|7 %77 DEEES
120.6 87 ~  120.7 11 3.25 2.70 0.55

IRz B BN = T 3.25 2.00 0. 00 0.55 89.0 0.0 0.0 89.0| 39,279.0|7 X7 TNV DELES
120. 7 11~ 120.8 0 3.25 2. 50 0.55

Rz B UL = T 3.25 2.00 0. 00 0. 45 121.0 0.0 0.0 121.0| 39, 400.0 TAZ T v M
120. 8 0~  120.9 15 3.25 2. 50 0.55

MRz B UL = 3.25 2.00 0. 00 0. 45 15.0 0.0 0.0 15.0|  39,415.0 TAZ T v
120. 9 15~  120.9 30 3.25 2. 50 0.55

MRz B UL = 3.25 2. 00 0. 00 0. 45 104. 0 0.0 0.0 104.0[  39,519.0 TAT T v N
120.9 30~  121.0 40 3.25 2. 50 0.55

ez VR R 2 T 3.25 2.20 0. 00 0. 55 101.0 0.0 0.0 101.0| 39, 620.0 TAZ T N
121.0 40 ~  121.1 44 3.25 3.10 0.75

Iz BV R 5 T 3.25 2.50 0. 00 0. 55 56. 0 0.0 0.0 56.0| 39,676,077 7" DELES
121. 1 44 ~  121.2 0 3.25 3.10 0.75
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Rz B UL = 3.25 2.50 0. 00 0. 50 50. 0 0.0 0.0 50.0| 39,726.0|7 77" DEES
121.2 0~ 121.2 50 3.25 3. 10 0.90

(AN N 3.25 2. 30 0. 00 0.50 62.0 0.0 0.0 62.0] 39,788.0 TAT T v N
121.2 50 ~  121.3 12 3.25 3. 10 0.90

ez VR 2 7 3.25 3. 00 0. 00 0. 50 86. 0 0.0 0.0 86.0| 39,874.07 77" DELES
121.3 12~  121.4 0 3.25 3.10 0.90

ez B R 5 7 3.25 2. 50 0. 00 0. 45 107.0 0.0 0.0 107.0]  39,981.07 %77 DELES
121.4 0~ 121.5 0 3.25 3.10 0.95

Rz B BN A T 3.25 2.50 0. 00 0.45 34.0 0.0 0.0 4.0 40,015.0]7 X7 TV DEEES
121.5 0~ 121.5 34 3.25 3.00 0.95

I B R i 3. 25 2. 60 0. 00 0. 45 67.0 0.0 0.0 67.0| 40,082, 0| X7 7V M=
121.56 34~ 121.6 0 3.25 3.00 0.95

IRz B UL R = T 3.25 2. 60 0. 00 0. 40 109.0 0.0 0.0 109.0|  40,191.0|7 77" DEEES
121. 6 0~ 1217 15 3.25 3.00 1. 00

IRz B BN = T 3.25 3. 20 0. 00 0. 40 85.0 0.0 0.0 85.0| 40,276.0|7 7TV DELES
121.7 15~  121.8 0 3.25 3.00 1.00

Rz B UL R = T 3.25 3.20 0. 00 0. 45 25. 0 0.0 0.0 95.0| 40,301,077 TN DELES
121.8 0~ 121.8 25 3.25 3.00 0.25

MRz B UL = 3.25 2.20 0. 00 0. 45 51.0 0.0 0.0 51.0|  40,352.0]7 77V DELES
121.8 25 ~  121.8 76 3.25 3.00 0.25

MRz B UL = 3.25 2. 40 0. 00 0. 45 122.0 0.0 0.0 122.0[  40,474.0 TAT T v N
121.8 76~  122.0 0 3.25 3.00 0.25

ez YRR 2 7 3.25 2.40 0. 00 0. 45 63. 0 0.0 0.0 63.0| 40,5370 77V DELES
122.0 0~ 122.0 63 3.25 2. 60 0.25

ez BV R 5 T 3.25 2.50 0. 00 0. 45 39.0 0.0 0.0 39.0| 40,576.0]7 77" DELES
122.0 63~  122.1 0 3.25 2. 60 0.25
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Rz B UL = 3.25 2.50 0. 00 0. 45 12.0 0.0 0.0 12.0|  40,588.0|7 77 DEES
122. 1 0~  122.1 12 3.25 3. 20 0.25

(AN N 3.25 3.50 0. 00 0. 45 44.0 0.0 0.0 44.0|  40,632.0 TAT T v N
122. 1 12~ 122.1 56 3.25 3. 20 0.25

ez VR 2 7 3.25 3. 50 0. 00 0. 45 34.0 0.0 0.0 34.0|  40,666.0]7 77" DELES
122. 1 56 ~  122.1 90 3.25 3.70 0.25

ez B R 5 7 3.25 3. 00 0. 00 0. 45 8.0 0.0 0.0 8.0| 4067407 7T DELES
122. 1 90 ~  122.2 0 3.25 3.70 0.25

Rz B B R T 3.25 3.00 0. 00 0.55 15.0 0.0 0.0 15.0]  40,689.0|7 %7 7" DEEES
122.2 0~  122.2 15 3.25 3.70 0. 85

I B R i 3. 25 3. 50 0. 00 0.55 26. 0 0.0 0.0 96.0| 40,715, 0|7 X7 7V MR
122.2 15~  122.2 41 3.25 3.70 0. 85

Rz B BN = T 3.25 2.40 0. 00 0.55 42.0 0.0 0.0 42.0|  40,757.0|7 7TV DEEES
122.2 41~  122.2 83 3.25 3.70 0. 85

IRz B BN = T 3.25 3.70 0. 00 0.55 18.0 0.0 0.0 18.0|  40,775.0|7 %7 7" DELES
122.2 83~ 122.2 101 3.25 3.70 0. 85

Rz B UL = T 3.25 3.70 0. 00 0. 55 9.0 0.0 0.0 9.0 40,784.0|7 77" DELES
122.2 101 ~  122.3 9 3.25 2. 90 0.85

MRz B UL = 3.25 2.50 0. 00 0. 55 67. 0 0.0 0.0 67.0| 40,8510 77" DELES
122.3 9~  122.3 76 3.25 2. 90 0.85

MRz B UL = 3.25 2. 50 0. 00 0.55 41.0 0.0 0.0 41.0|  40,892.0 TAT T v N
122.3 76~ 122.4 0 3.25 2. 50 0.85

ez VR 2 7 3.25 2. 40 0. 00 0. 55 28.0 0.0 0.0 28.0|  40,920.0|7 %77V DELES
122.4 0~ 122.4 28 3.25 2. 50 0.85

Iz BV R 5 T 3.25 2.25 0. 00 1.50 0.0 0.0 2.0 2.0| 40,922,077 7 DELES
122.4 28 ~  122.4 30 3.25 2.10 1.50
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Rz B UL = 3.25 2.30 0. 00 0. 55 41.0 0.0 0.0 a1.0| 40,9630 7T DEES
122.4 30~ 122.4 11 3.25 2. 60 0.85

(AN N 3.25 2. 30 0. 00 0.55 16. 0 0.0 0.0 16.0|  40,979.0 TAT T v N
122.4 71~ 122.5 0 3.25 3. 50 0.85

ez VR 2 7 3.25 2.30 0. 00 0.95 38.0 0.0 0.0 38.0| 41,017.0|7 77 DELES
122.5 0~ 122.5 38 3.25 3.10 0.25

ez B R 5 7 3.25 2.30 0. 00 0.95 12.0 0.0 0.0 12.0{  41,020.0|7 277" DELES
122.5 38~ 122.5 50 3.25 3.10 0.25

Rz B BN A T 3.25 2.30 0. 00 0.95 5.0 0.0 0.0 5.0 41,034.0|7 77" DEEES
122.5 50 ~  122.5 55 3.25 4. 50 0.25

I B R 3. 25 2.30 0. 00 0.95 44.0 0.0 0.0 sa.0| 41,078, 0|7 A7 TV MR
122.5 55~ 122.6 0 3.25 3.10 0.25

IRz B UL R = T 3.25 2.30 0. 00 0.85 100.0 0.0 0.0 100.0|  41,178.0|7 %7 7" DEEES
122. 6 0~  122.7 0 3.25 3.10 0. 65

IRz B B R = T 3.25 2. 60 0. 00 0.85 25.0 0.0 0.0 95.0| 41,203.07 %77 DELES
122.7 0~ 122.7 25 3.25 3.10 0. 65

Rz B UL R = T 3.25 2. 60 0. 00 1. 00 43.0 0.0 0.0 43.0| 41,2460 7TV DELES
122.7 25~ 122.7 68 3.25 3. 10 1. 10

Rz B UL = 3.25 2. 40 0. 00 1. 00 111.0 0.0 0.0 111.0|  41,357.0 TAZ T v
122.7 68 ~  122.8 78 3.25 3. 10 1. 10

MRz B UL = 3.25 2. 30 0. 00 1. 00 126.0 0.0 0.0 126.0[  41,483.0 TAT T v N
122.8 78 ~  123.0 0 3.25 3. 10 1. 10

ez YRR 2 7 3.25 2.30 0. 00 1.00 51.0 0.0 0.0 51.0| 41,534,077 7 DELES
123.0 0~ 123.0 51 3.25 4. 20 1. 10

ez BV R 5 T 3.25 2.30 0. 00 1.00 36. 0 0.0 0.0 36.0| 41,570.0|7 77" DELES
123.0 51 ~  123.0 87 3.25 5.00 1. 10
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Rz B UL = 3.25 2.70 0. 00 1. 00 6.0 0.0 0.0 6.0 41,576.07 *7 7" DEES
123.0 87 ~  123.1 0 3.25 5.00 1. 10

(AN N 3.25 2. 70 0. 00 0.75 31.0 0.0 0.0 31.0[  41,607.0 TAT T v N
123. 1 0~  123.1 31 3.25 3. 40 1.35

ez VR 2 7 3.25 2.70 0. 00 0.75 10.0 0.0 0.0 10.0| 41,617,077 277" DELES
123. 1 31 ~  123.1 41 3.25 2. 60 1.35

ez B R 5 7 3.25 2. 00 0. 00 0.75 6.0 0.0 0.0 6.0 41,623.07 77N DELES
123. 1 41 ~  123.1 47 3.25 2. 60 1.35

Rz B B R T 3.25 2.00 0. 00 0.75 60.0 0.0 0.0 60.0| 41,683.07 77V DEEES
123. 1 47 ~  123.2 0 3.25 2. 30 1.35

I B R i 3. 25 2. 00 0. 00 0.75 30. 0 0.0 0.0 s0.0| 41,713,027 7V MR
123.2 0~ 123.2 30 3.25 2. 50 1.35

IRz B UL R = T 3.25 0. 00 0. 00 3.30 167.0 0.0 0.0 167.0]  41,880.0|7 %7 7" DEEES
123.2 30~  123.4 0 3.25 2. 50 0. 50

IRz B BN = T 3.25 0. 00 0. 00 0.90 138.0 0.0 0.0 138.0]  42,018.0|7 77" DELES
123.4 0~  123.5 18 3.25 2. 50 0. 60

Rz B UL = T 3.25 0. 00 0. 00 0. 90 62. 0 0.0 0.0 62.0] 42,080,077 TN DELES
123.5 18 ~  123.6 0 3.25 2. 60 0. 60

MRz B UL = 3.25 0. 00 0. 00 0. 40 134.0 0.0 0.0 134.0| 42,214,077 7 DELES
123.6 0~ 123.7 36 3.25 2. 60 0. 65

MRz B UL = 3.25 0. 00 0. 00 0. 40 65. 0 0.0 0.0 65.0|  42,279.0 TAT T v N
123.7 36~  123.8 0 3.25 2. 50 0. 65

ez VR R 2 T 3.25 0. 00 0. 00 0. 85 121.0 0.0 0.0 121.0| 42,4000 77V DELES
123.8 0~ 123.9 21 3.25 2. 50 0. 60

ez BV R 5 T 3.25 0. 00 0. 00 0. 85 13.0 0.0 0.0 13.0| 42, 413.0|7 277" DELES
123.9 21~  123.9 34 3.25 2. 60 0. 60
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Rz B UL = 3.25 2.40 0. 00 1. 10 51.0 0.0 0.0 51.0| 42, 464.0 TAT T v MR
123.9 34~  123.9 85 3.25 2. 60 0.70

(AN N 3.25 2. 80 0. 00 1. 10 41.0 0.0 0.0 41.0|  42,505.0 TAT T v N
123.9 85~  124.0 23 3.25 2. 60 0.70

ez VR 2 7 3.25 2. 80 0. 00 1.10 155. 0 0.0 0.0 155.0| 42,6600 77" DELES
124.0 23 ~  124.1 81 3.25 2.90 0.70

ez B R 5 7 3.25 2. 80 0. 00 1.10 37.0 0.0 0.0 37.0|  42,697.0|7 77V DELES
124. 1 81 ~  124.2 14 3.25 2. 60 0.70

Rz B B R T 3.25 2.80 0. 00 1. 10 29.0 0.0 0.0 29.0| 42,726,077 T DEEES
124. 2 14~  124.2 43 3.25 4. 60 0.70

I B R i 3. 25 2. 80 0. 00 1.10 20. 0 0.0 0.0 20.0| 42,746, 0| X7 7V MR
124.2 43~ 124.2 63 3.25 2. 60 0.70

IRz B UL R = T 3.25 0. 00 0. 00 1.85 142.0 0.0 0.0 142.0|  42,888.0|7 77" DEEES
124.2 63~  124.4 7 3.25 2. 60 0.25

IRz B BN = T 3.25 0. 00 0. 00 1. 00 0.0 0.0 31. 0 31.0]  42,919.0 TAT TV M
124. 4 7~  124.4 38 3.25 2. 50 1.00

Rz B UL 2 T 3.25 0. 00 0. 00 0.95 105. 0 0.0 0.0 105.0]  43,024.0|” 77" DELES
124.4 38~  124.5 42 3.25 2. 50 0.90

MRz B UL ¢ 3.25 0. 00 0. 00 0.95 125.0 0.0 0.0 195.0| 43, 149.0|7 77" DELES
124.5 42 ~  124.6 69 3.25 2.90 0.90

AN N 3.25 0. 00 0. 00 0.95 53.0 0.0 0.0 53.0[  43,202.0 TAT T v N
124.6 69 ~  124.7 33 3.25 2. 50 0.90

ez YRR 2 7 3.25 0. 00 0. 00 1.00 121.0 0.0 0.0 121.0]  43,323.0 TAZ T N
124.7 33~  124.8 55 3.25 2. 60 0.75

Iz B R (5 7 3.25 0. 00 0. 00 0.70 5.0 0.0 0.0 5.0 43,3280/ 77V DELES
124.8 55~  124.8 60 3.25 2. 80 0. 80
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Rz B UL = 3.25 0. 00 0. 00 0.70 59. 0 0.0 0.0 59.0| 43,387.0|7 77" DEES
124.8 60 ~  124.9 7 3.25 1. 80 0. 80

(AN N 3.25 0. 00 0. 00 0.70 74.0 0.0 0.0 74.0|  43,461.0 TAT T v N
124.9 7~  124.9 8l 3.25 2. 30 0. 80

ez VR 2 7 3.25 0. 00 0. 00 0. 70 22.0 0.0 0.0 92.0| 43,483.07 77" DELES
124.9 81 ~  125.0 0 3.25 2. 50 0.80

ez B R 5 7 3.25 0. 00 0. 00 0. 70 96. 0 0.0 0.0 96.0| 43,579.0|7 77" DELES
125. 0 0~  125.1 0 3.25 2. 80 0. 80

Rz B BN A T 3.25 0. 00 0. 00 0.75 80.0 0.0 0.0 80.0| 43,659.0|7 77V DEEES
125. 1 0~  125.1 80 3.25 2. 80 1.20

I B R i 3. 25 0. 00 0. 00 0.75 20. 0 0.0 0.0 20.0| 43,679.0|7 X7 7V MR
125. 1 80 ~  125.2 0 3.25 2. 50 1.20

IRz B UL R = T 3.25 0. 00 0. 00 0.75 153.0 0.0 0.0 153.0]  43,832.0|7 %7 7" DEEES
125. 2 0~ 125.3 51 3.25 2. 50 0. 60

IRz B BN = T 3.25 0. 00 0. 00 0.75 34.0 0.0 0.0 4.0 43,866.0]7 7TV DELES
125.3 51~  125.3 85 3.25 2. 30 0. 60

Rz B UL R = T 3.25 2. 60 0. 00 1.20 20. 0 0.0 0.0 20.0| 43,8860 7TV DELES
125.3 85~  125.4 0 3.25 2. 30 0.70

MRz B UL = 3.25 2. 60 0. 00 1.20 58. 0 0.0 0.0 58.0| 43,944.0|7 77TV DELES
125. 4 0~ 125.4 58 3.25 2. 50 0.70

MRz B UL = 3.25 2. 60 0. 00 1. 20 44.0 0.0 0.0 44.0|  43,988.0 TAT T v N
125.4 58 ~ _ 125.5 7 3.25 2. 20 0.70

ez YRR 2 7 3.25 2. 60 0. 00 1.20 21.0 0.0 0.0 21.0[ 44, 009.0 TAZ T N
125.5 7~ 125.5 28 3.25 2. 50 0.70

ez BV R 5 T 3.25 2. 60 0. 00 0. 85 0.0 0.0 3.0 3.0|  44,012.0 TAT T
125.5 28 ~  125.5 31 3.25 2. 00 0. 85
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Rz B UL = 3.25 2.90 0. 00 1.20 2.0 0.0 0.0 2.0|  44,014.0 TAT T v MR
125.5 31~  125.5 33 3.25 2. 50 0.70

(AN N 3.25 2. 90 0. 00 1. 20 34.0 0.0 0.0 34.0[  44,048.0 TAT T v N
125.5 33~  125.5 67 3.25 3. 20 0.70

ez VR 2 7 3.25 2.90 0. 00 1.20 22.0 0.0 0.0 22.0| 44,070.0|” X7 7T DELES
125.5 67~ 125.5 89 3.25 2. 50 0.70

ez B R 5 7 3.25 2.90 0. 00 1.20 11.0 0.0 0.0 11.0|  44,081.0 TAZ T
125.5 89 ~  125.6 0 3.25 2. 30 0.70

Rz B UL R A T 3.25 2.90 0. 00 1.05 21.0 0.0 0.0 21.0[  44,102.0 TAT T v
125. 6 0~ 125.6 21 3.25 2. 30 0. 65

I B R i 3. 25 2. 90 0. 00 1.05|  121.0 0.0 0.0 191.0| 44,203, 0|7 X7 7V MR
125.6 21 ~  125.7 45 3.25 2. 60 0. 65

IRz B UL R = T 3.25 2.90 0. 00 1.05 48.0 0.0 0.0 48.0  44,271.0 TAT T v N
125.7 45~ 125.7 93 3.25 2. 90 0. 65

IRz B BN = T 3.25 2.90 0. 00 1.05 17.0 0.0 0.0 17.0| 44, 288.0 TAT TV M
125.7 93 ~  125.8 9 3.25 2. 80 0. 65

Rz B UL R = T 3.25 0. 00 0. 00 1.05 20. 0 0.0 0.0 20.0| 44,308.07 7TV DELES
125. 8 9~  125.8 29 3.25 2. 80 0. 65

Rz B UL = 3.25 0. 00 0. 00 1.18 0.0 0.0 13.0 13.0|  44,321.0 TAZ T v
125.8 29 ~  125.8 42 3.25 2. 60 1.18

MRz B UL = 3.25 0. 00 0. 00 0.55 46.0 0.0 0.0 46.0| 44, 367.0 TAT T v N
125.8 42 ~  125.8 88 3.25 2. 80 0.75

ez YRR 7 7 3.25 1. 50 0. 00 0. 55 81.0 0.0 0.0 81.0|  44,448.0 TAZ T N
125.8 88 ~  125.9 70 3.25 2. 80 0.75

ez BV R 5 T 3.25 1. 50 0. 00 0.75 0.0 0.0 4.0 4.0 44,452.0 TAT T
125.9 70~  125.9 74 3.25 2. 80 0.75
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Rz B UL = 3.25 1. 50 0. 00 0. 55 60. 0 0.0 0.0 60.0|  44,512.0 TAT T v MR
125.9 74~ 126.0 55 3.25 2.90 0.75

(AN N 3.25 1. 50 0. 00 0.55 45.0 0.0 0.0 45.0| 44, 557.0 TAT T v N
126.0 55 ~  126.0 100 3.25 1.80 0.75

ez VR 2 7 3.25 1. 60 0. 00 0. 55 8.0 0.0 0.0 8.0|  44,565.0 TAZ T v
126.0 100 ~  126.0 108 3.25 1.80 0.75

ez B R 5 7 3.25 1. 60 0. 00 0. 55 15.0 0.0 0.0 15.0| 44, 580.0 TAZ T
126.0 108 ~  126.1 0 3.25 2. 30 0.75

Rz B BN A T 3.25 1. 60 0. 00 0.55 35.0 0.0 0.0 35.0|  44,615.0 TAT T v
126. 1 0~  126.1 35 3.25 2.70 0.75

I B R i 3. 25 2.30 0. 00 0.55 66. 0 0.0 0.0 66.0| 44,6810 X7 7V MR
126. 1 36 ~  126.2 0 3.25 2.70 0.75

IRz B UL R = T 3.25 2.30 0. 00 0.30 12.0 0.0 0.0 12.0| 44,693 0|7 77" DEEES
126. 2 0~  126.2 12 3.25 2.70 0. 50

IRz B BN = T 3.25 1. 60 0. 00 0.30 3.0 0.0 0.0 3.0|  44,696.0 TAT TV M
126. 2 12~ 126.2 15 3.25 2.70 0. 50

Rz B UL 2 T 3.25 1. 80 0. 00 0. 30 18.0 0.0 0.0 18.0|  44,714.0 TAZ T v M
126. 2 15~  126.2 33 3.25 2. 00 0.50

Rz B UL = 3.25 2.50 0. 00 0. 30 78.0 0.0 0.0 8.0 44,792.0|7 X7 TV DELES
126.2 33 ~  126.3 13 3.25 2. 00 0.50

MRz B UL = 3.25 2. 50 0. 00 0.30 12.0 0.0 0.0 12.0| 44, 804.0 TAT T v N
126. 3 13~  126.3 25 3.25 2. 90 0.50

ez VR R 2 T 3.25 2.50 0. 00 0. 30 50. 0 0.0 0.0 50.0| 44,854.0|7 77V DELES
126.3 25 ~  126.3 75 3.25 2. 50 0.50

ez BV R 5 T 3.25 2.50 0. 00 0. 30 20. 0 0.0 0.0 20.0| 44,874.07 77" DELES
126.3 75~  126.3 95 3.25 2. 30 0. 50
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Rz B UL = 3.25 2.20 0. 00 0. 30 15.0 0.0 0.0 15.0]  44,889.0|7 77 DEES
126.3 95 ~  126.4 0 3.25 2. 50 0.50

(AN N 3.25 2. 50 0. 00 0.30 56. 0 0.0 0.0 56.0[  44,945.0 TAT T v N
126.4 0~ 126.4 56 3.25 2. 50 1. 00

ez VR 2 7 3.25 2.50 0. 00 0. 30 51.0 0.0 0.0 51.0| 44, 996.0 TAZ T
126.4 56 ~  126.5 17 3.25 2. 30 1. 00

ez B R 5 7 3.25 3.10 0. 00 0. 30 51.0 0.0 0.0 51.0|  45,047.0 TAZ T
126.5 17~  126.5 68 3.25 2. 30 1. 00

Rz B BN A T 3.25 2.70 0. 00 0.30 34.0 0.0 0.0 1.0 45,081,077 TV DEEES
126.5 68 ~  126.6 0 3.25 2. 30 1. 00

I B R i 3. 25 2.70 0. 00 0. 65 7.0 0.0 0.0 7.0 45 088 0|7 X7 7V M
126. 6 0~  126.6 7 3.25 2. 30 0. 85

IRz B UL R = T 3.25 3. 50 0. 00 0. 65 15.0 0.0 0.0 15.0|  45,103.0|7 277" DEEES
126. 6 7~  126.6 22 3.25 2. 30 0. 85

IRz B B R = T 3.25 3. 50 0. 00 0. 65 29.0 0.0 0.0 29.0|  45,132.0|7 7TV DELES
126.6 22 ~  126.6 51 3.25 1. 80 0. 85

Rz B UL R = T 3.25 3.50 0. 00 0. 65 50. 0 0.0 0.0 50.0| 45,182.0]7 %77V DELES
126.6 51 ~  126.7 0 3.25 1. 60 0.85

Rz B UL = 3.25 3.50 0. 00 0. 65 15.0 0.0 0.0 15.0]  45,197.0|7 277 DELES
126. 7 0~  126.7 15 3.25 2. 50 0.85

MRz B UL = 3.25 3.50 0. 00 0. 65 8.0 0.0 0.0 8.0  45,205.0 TAT T v N
126. 7 15~  126.7 23 3.25 3. 80 0.85

ez VR R 2 T 3.25 2. 40 0. 00 0. 65 58. 0 0.0 0.0 58.0| 45,263.0|7 77" DELES
126.7 23~  126.7 8l 3.25 3. 80 0.85

ez BV R 5 T 3.25 1.90 0. 00 0. 65 117.0 0.0 0.0 117.0| 45, 380.0 TAT T
126.7 81 ~  126.8 98 3.25 3. 80 0. 85
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Rz B UL = 3.25 2. 50 0. 52.0 0.0 0. 52. 45, 432. 0 TAT T v MR
126.8 126. 49 3.25 0. 00 0.

(AN N 3.25 2. 50 1. 0.0 0.0 16. 16. 45, 448. 0 TAT T v N
126.9 126. 65 3.25 0. 00 1.

AN N 3.25 2. 50 0. 25.0 0.0 0. 25. 45, 473.0 TAZ T v
126.9 126. 90 3.25 0. 00 0.

MRz B UL = T 3.25 2. 00 0. 20. 0 0.0 0. 20. 45, 493.0 TAZ T
126.9 127. 0 3.25 0. 00 0.

e B BT = 1T 3.25 2. 50 0. 38.0 0.0 0. 38. 45,531.0 TAT T v
127.0 127. 38 3.25 0. 00 0.

I B R i 3. 25 2. 80 0. 57.0 0.0 0. 57.0| 45,588, 0| %7 7V M=
127.0 127. 0 3.25 0. 00 0.

I B R T 3. 25 2. 40 0. 24.0 0.0 0. 9.0 45,612, 0|7 X7 7V MR
127. 1 127. 24 3.25 0.00 0.

I B IR Tl 3. 25 2. 40 0. 34.0 0.0 0. sa.0| 45,646, 0| 7 7V MR
127. 1 127. 58 3.25 2. 60 0.

e B LR = 7 3.25 2.70 0. 29. 0 0.0 0. 29. 45,675.0 TAZ T v M
127. 1 127. 87 3.25 2. 60 0.

MRz B UL = 3.25 2. 30 0. 211.0 0.0 0. 211. 45, 886. 0 TAZ T v
127. 1 127. 0 3.25 2.20 0.

MRz B UL = 3.25 2. 30 0. 50. 0 0.0 0. 50. 45, 936. 0 TAT T v N
127. 4 127. 50 3.25 2. 40 0.

(AN N 3.25 2.30 0. 24.0 0.0 0. 24, 45, 960. 0 TAZ T N
127. 4 127. 74 3.25 2.10 0.

MRz B UL = 7 3.25 2. 80 0. 54.0 0.0 0. 54. 46,014.0 TAT T
127. 4 127. 34 3.25 2.10 0.
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Rz B UL = 3. 2. 40 0. 30.0 0.0 30. 46, 044. 0 TAT T v MR
127.5 34 ~  127. 64 3. 2.10 0.

(AN N 3. 2. 40 0. 27.0 0.0 27. 46, 071. 0 TAT T v N
127.5 64 ~  127. 91 3. 2. 60 0.

AN N 3. 2. 60 0. 11.0 0.0 11. 46, 082. 0 TAZ T v
127.5 91 ~  127. 0 3. 2. 60 0.

MRz B UL = T 3. 2. 60 0. 43.0 0.0 43, 46,125.0 TAZ T
127. 6 0~  127. 43 3. 2. 60 0.

e B B R = 1T 3. 2. 40 0. 46. 0 0.0 46. 46, 171.0 TAT T v
127.6 43 ~ 127, 89 3. 2. 60 0.

I B R i 3. 2. 60 0. 33.0 0.0 s3.0| 46,204, 0|7 A7 7V MR
127.6 89 ~  127. 31 3. 2.30 0.

I B R T 3. 2. 60 0. 37.0 0.0 s7.0| 46,241, 0| A7 7V MR
127.7 31 ~ 127 68 3. 2. 60 0.

I B IR Tl 3. 2. 40 0. 42.0 0.0 42.0| 46,283 0|7 7 7 MR
127.7 68 ~  1217. 0 3. 2. 60 0.

MR B LR = 7 3. 2. 40 0. 78.0 0.0 78. 46, 361. 0 TAZ T v M
127.8 0~  127. 78 3. 2. 60 0.

Rz B UL = 3. 3.30 0. 122.0 0.0 122. 46, 483. 0 TAZ T v
127.8 78 ~  128. 0 3. 2. 60 0.

MRz B UL = 3. 3.30 0. 29.0 0.0 29. 46,512.0 TAT T v N
128. 0 0~  128. 29 3. 2. 60 0.

(AN N 3. 2. 50 0. 124. 0 0.0 124. 46, 636. 0 TAZ T N
128. 0 29 ~  128. 53 3. 2. 60 0.

Rz B UL = T 3. 1.60 0. 34.0 0.0 34. 46, 670. 0 TAT T
128. 1 53 ~  128. 87 3. 2. 60 0.
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Rz B UL = 3.25 1. 60 0. 00 0. 60 9.0 0.0 0.0 9.0|  46,679.0 TAT T v MR
128. 1 87 ~  128.1 96 3.25 2. 40 0.50

(AN N 3.25 1. 90 0. 00 0. 60 12.0 0.0 0.0 12.0| 46, 691.0 TAT T v N
128. 1 96 ~  128.2 7 3.25 2. 40 0.50

ez VR 2 7 3.25 1. 80 0. 00 0. 60 9.0 0.0 0.0 9.0| 46, 700.0 TAZ T v
128.2 7~  128.2 16 3.25 2. 70 0.50

ez B R 5 7 3.25 1. 60 0. 00 0. 60 62. 0 0.0 0.0 62.0| 46,762.07 77" DELES
128.2 16 ~  128.2 178 3.25 2.70 0. 50

Rz B UL R A T 3.25 1. 60 0. 00 1. 10 28.0 0.0 0.0 28.0 46, 790.0 TAT T v
128.2 78 ~  128.3 3 3.25 0. 00 0. 50

I B R 3. 25 1.90 0. 00 1.10 13.0 0.0 0.0 13.0| 46,803 0|7 > 7 7 /v MR
128.3 3~  128.3 16 3.25 0. 00 0. 50

IRz B UL R = T 3.25 2. 60 0. 00 1. 10 37.0 0.0 0.0 7.0 46,840.0]7 7TV DEEES
128.3 16 ~  128.3 53 3.25 0. 00 0. 50

IRz B B R = T 3.25 1.90 0. 00 1. 10 12.0 0.0 0.0 12.0|  46,852.0 TAT TV M
128.3 53 ~  128.3 65 3.25 0. 00 0. 50

Rz B UL R = T 3.25 2.70 0. 00 1. 10 32.0 0.0 0.0 32.0| 46,884.0]7 7TV DELES
128.3 65 ~  128.4 0 3.25 0. 00 0.50

Rz B UL = 3.25 2.00 0. 00 1.45 143.0 0.0 0.0 43,0 47,027,077 T DELES
128.4 0~ 128.5 40 3.25 0. 00 0.95

MRz B UL = 3.25 1. 30 0. 00 1.45 55.0 0.0 0.0 55.0|  47,082.0 TAT T v N
128.5 40 ~  128.5 95 3.25 0. 00 0.95

ez YRR 7 7 3.25 2. 40 0. 00 1.45 9.0 0.0 0.0 9.0|  47,091.0 TAZ T N
128.5 95 ~  128.6 0 3.25 0. 00 0.95

ez BV R 5 T 3.25 2.40 0. 00 0. 65 31.0 0.0 0.0 31.0]  47,122.0 TAT T
128.6 0~ 128.6 31 3.25 0. 00 1.05
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Rz B UL = 3.25 1. 30 0. 00 0. 65 127.0 0.0 0.0 127.0|  47,249.0|7 %7 7" DEES
128.6 31~  128.7 58 3.25 0. 00 1.05

(AN N 3.25 1. 50 0. 00 0. 65 61.0 0.0 0.0 61.0|  47,310.0 TAT T v N
128.7 58 ~  128.8 24 3.25 0. 00 1.05

ez VR 2 7 3.25 2.50 0. 00 0. 60 56. 0 0.0 0.0 56.0| 47,366.0]7 7 7" DELES
128.8 24~ 128.8 80 3.25 0. 00 0.25

ez B R 5 7 3.25 2.50 0. 00 0.95 0.0 0.0 5.0 5.0  47,371.0 TAZ T
128.8 80 ~  128.8 85 3.25 0. 00 0.95

Rz B B R T 3.25 2.50 0. 00 0.95 0.0 0.0 6.0 6.0 47,377.0|7 77" DEEES
128.8 85~  128.8 91 3.25 0. 00 0.95

I B R i 3. 25 2. 50 0. 00 0. 60 37.0 0.0 0.0 s7.0| 47,414, 0|7 A7 7V MR
128.8 91 ~  128.9 22 3.25 0. 00 0.25

IRz B UL R = T 3.25 1. 40 0. 00 0. 60 100.0 0.0 0.0 100.0|  47,514.0|7 %7 7" DEEES
128.9 22~  129.0 22 3.25 0. 00 0.25

IRz B BN = T 3.25 1. 40 0. 00 0.70 169.0 0.0 0.0 169.0|  47,683.0|7 77 DELES
120.0 22 ~  129.2 0 3.25 2. 50 0. 70

Rz B UL T 3.25 1. 40 0. 00 0. 65 143.0 0.0 0.0 143.0| 47,826,017 77" DELES
129. 2 0~ 129.3 37 3.25 2. 50 1.95

Rz B UL = 3.25 1.70 0. 00 0. 65 61.0 0.0 0.0 61.0| 47,887.0 TAZ T v
129.3 37~ 129.4 0 3.25 2. 50 1.95

(AN N 3.25 1.70 0. 00 0. 60 63.0 0.0 0.0 63.0|  47,950.0 TAT T v N
129.4 0~ 129.4 63 3.25 2. 50 0.80

ez VR R 2 T 3.25 2. 40 0. 00 0. 60 84. 0 0.0 0.0 g4.0| 48,0340 7T DELES
129.4 63 ~  129.5 48 3.25 2. 50 0. 80

ez BV R 5 T 3.50 3.50 0. 00 1.50 70. 0 0.0 0.0 70.0| 48 10407 77TV DELES
129.5 48 ~  129.6 19 3. 50 2.90 1.50
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Rz B UL = 3.50 3.50 0. 00 1.50 63. 0 0.0 0.0 63.0 48 167.07 77" DEES
129. 6 19~  129.6 82 3. 50 2.50 1. 50

(AN N 3.50 4. 20 0. 00 1. 50 30.0 0.0 0.0 30.0[  48,197.0 TAT T v N
129.6 82 ~  129.7 1 3. 50 2.50 1. 50

ez VR 2 7 3.50 4.20 0. 00 1.50 72.0 0.0 0.0 72.0|  48,269.0|7 77" DELES
129. 7 1~ 129.7 73 3. 50 4. 00 1. 50

ez B R 5 7 3.50 3. 50 0. 00 1.50 19.0 0.0 0.0 19.0] 48, 288.0 TAZ T
129.7 73~ 129.7 92 3. 50 4. 00 1.50

Rz B BN A T 3.50 3. 50 0. 00 1. 50 7.0 0.0 0.0 70| 48205017 77" DEEES
129.7 92 ~  129.8 15 3. 50 4. 00 1.50

I B R 3. 50 3. 50 0. 00 1.50 8.0 0.0 0.0 8.0 48,303 0 27 7/v M
129. 8 15~  129.8 23 3. 50 4. 00 1.50

Rz B B R = T 3.50 3. 50 0. 00 1. 50 41.0 0.0 0.0 41.0  48,344.0 TAT T v N
120.8 23 ~  129.8 64 3. 50 3.70 1.50

I B R Tl 3. 50 3. 50 0. 00 1. 50 3.0 0.0 0.0 5.0 48 347.0|7 X7 7V M
129.8 64~  129.8 67 3. 50 3. 40 1.50

et B LR = 3. 50 3. 50 0. 00 1.50 0.0 0.0 4.0 4.0  48,351.0 TAZ T v M
129.8 67 ~ _ 129.8 71 3. 50 3. 40 1. 50

Rz B UL = 3.50 3.50 0. 00 1.50 6.0 0.0 0.0 6.0| 48,357.0 TAZ T v
129.8 71 ~  129.8 77 3. 50 3. 40 1. 50

MRz B UL = 3.50 3.50 0. 00 1. 50 224.0 0.0 0.0 224.0|  48,581.0 TAT T v N
129.8 77~ 130.0 91 3. 50 3. 40 1. 50

ez YRR 2 7 3.50 4.00 0. 00 1.50 29. 0 0.0 0.0 29.0| 48 610,07 77" DELES
130.0 91 ~  130.1 16 3. 50 3. 40 1. 50

Iz BV R 5 T 3.50 3. 50 0. 00 1.50 69. 0 0.0 0.0 69.0| 48 679.07 77" DELES
130. 1 16 ~  130.1 85 3. 50 3. 40 1.50
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Rz B UL = 3.50 3.50 0. 00 1.50 11.0 0.0 0.0 11.0|  48,690.0 TAT T v MR
130. 1 85 ~  130.1 96 3. 50 2. 40 1. 50

(AN N 3.25 2. 50 0. 00 0. 60 44.0 0.0 0.0 44.0|  48,734.0 TAT T v N
130. 1 96 ~  130.2 56 3.25 2. 40 1. 10

ez VR 2 7 3.25 2.50 0. 00 1.80 6.0 0.0 0.0 6.0 48 714007 7T DELES
130.2 56 ~  130.2 62 3.25 0. 00 1. 00

ez B R 5 7 3.25 1. 00 0. 00 0. 50 369.0 0.0 0.0 369.0| 49, 109.0|” %7 7" DELES
130.2 62 ~  130.6 19 3.25 0. 00 0.95

Rz B BN A T 3.25 1. 50 0. 00 0. 80 81.0 0.0 0.0 810l 49,190.0|7 X7 TN DEEES
130. 6 19~  130.7 0 3.25 0. 00 0.95

I B R i 3. 25 1.50 0. 00 0. 80 54.0 0.0 0.0 sa.0| 49,244, 0|7 A7 7V MR
130. 7 0~  130.7 54 3.25 0. 00 0.95

IRz B UL R = T 3.25 3. 30 0. 00 0.80 16.0 0.0 0.0 16.0| 49,260,077 7" DEEES
130.7 54 ~  130.7 70 3.25 0. 00 0.95

IRz B BN = T 3.25 3. 30 0. 00 0. 80 11.0 0.0 0.0 11.0|  49,271.0 TAT TV M
130.7 70~  130.7 81 3.25 0. 00 0.95

Rz B UL R = T 3.25 0. 00 0. 00 2. 30 228.0 0.0 0.0 998.0|  49,499.0|” *7 7" DELES
130.7 81~  131.0 5 3.25 0. 00 1.85

Rz B UL = 3.25 0. 00 0. 00 0. 50 0.0 0.0 230. 0 230.0|  49,729.0|7 777" DELES
131.0 5~  131.2 47 3.25 0. 00 0.50

MRz B UL = 3.25 0. 00 0. 00 0.85 29.0 0.0 0.0 29.0| 49, 758.0 TAT T v N
131.2 47~ 131.2 76 3.25 0. 00 0.80

ez YRR 7 7 3.25 0. 00 0. 00 0. 85 14.0 0.0 0.0 14.0| 49, 772.0|7 27T DELES
131.2 76 ~  131.2 90 3.25 1. 40 0. 80

ez BV R 5 T 3.25 0. 00 0. 00 0. 85 80. 0 0.0 0.0 80.0| 49,852.0|7 77" DELES
131.2 90 ~  131.3 67 3.25 3.30 0. 80
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Rz B UL = 3.25 0. 00 0. 00 0. 85 15.0 0.0 0.0 15.0] 49,867.0|7 77 DEES
131.3 67~ 131.3 82 3.25 2. 50 0. 80

(AN N 3.25 0. 00 0. 00 0. 85 17.0 0.0 0.0 17.0| 49, 884.0 TAT T v N
131.3 82~  131.4 0 3.25 2.10 0.80

ez VR 2 7 3.25 0. 00 0. 00 1.15 33.0 0.0 0.0 33.0| 49,017.0|7 X7 7V DELES
131.4 0~ 131.4 33 3.25 2.10 0.80

ez B R 5 7 3.25 0. 00 0. 00 1.15 50. 0 0.0 0.0 50.0| 49,967.0|7 77" DELES
131.4 33~ 131.4 83 3.25 2. 00 0. 80

Rz B BN A T 3.25 0. 00 0. 00 1.15 19.0 0.0 0.0 19.0|  49,986.0|” %7 7" DEEES
131.4 83~ 131.5 2 3.25 1.90 0. 80

I B R i 3. 25 0. 00 0. 00 1.15 40.0 0.0 0.0 10.0| 50,026, 0|7 X7 7V MR
131.5 2~ 131.5 42 3.25 2. 30 0. 80

IRz B UL R = T 3.25 0. 00 0. 00 1.15 73.0 0.0 0.0 73.0|  50,099.0]7 %7 TV DEEES
131.56 42 ~  131.6 11 3.25 2. 20 0. 80

IRz B BN = T 3.25 0. 00 0. 00 1.05 25.0 0.0 0.0 95.0| 50,124.0|7 %7 TV DELES
131. 6 11~  131.6 36 3.25 1. 40 0.25

Rz B UL R = T 3.25 0. 00 0. 00 1.05 164. 0 0.0 0.0 164.0|  50,288.0|7 77" DELES
131.6 36~  131.8 0 3.25 0. 00 0.25

Rz B UL = 3.25 0. 00 0. 00 1. 10 385.0 0.0 0.0 385.0|  50,673.0|7 77V DELES
131.8 0~  132.1 81 3.25 0. 00 0.90

MRz B UL = 3.25 0. 00 0. 00 1.05 0.0 0.0 9.0 9.0 50,682.0 TAT T v N
132. 1 81l ~  132.1 90 3.25 0. 00 1.05

ez YRR 7 7 3.25 0. 00 0. 00 1. 00 236.0 0.0 0.0 236.0|  50,918.0|7 77" DELES
132. 1 90 ~  132.4 30 3.25 0. 00 1. 00

ez BV R 5 T 3.25 0. 00 0. 00 1.30 138.0 0.0 0.0 138.0| 51,056,017 77 DELES
132.4 30~ 132.4 168 3.25 2. 50 1. 14
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Rz B UL = 3.25 0. 00 1. 35.0 0.0 0. 35. 51,091. 0 TAT T v MR
132.4 168 ~  132. 1 3.25 2. 00 1.

(AN N 3.50 0. 00 1. 0.0 0.0 2817. 287. 51,378.0 TAT T v N
132. 6 1~ 132 88 3.50 2.50 1.

AN N 6. 50 0. 00 3. 81.0 0.0 0. 81. 51,459.0 TAZ T v
132.8 88 ~  133. 4 3.50 3.00 3.

MRz B UL = T 3.50 0. 00 1. 0.0 0.0 249. 249. 51,708.0 TAZ T
133.0 4 ~  133. 19 3.50 2.50 1.

e B B R = 1T 3. 50 0. 00 1. 58.0 0.0 0. 58. 51, 766. 0 TAT T v
133.2 19 ~  133. 77 3.50 3.00 1.

I B R 3. 50 0. 00 3. 58.0 0.0 0. 58. 51,824, 0|7 A7 7V M
133.2 77 ~ 133 34 6. 50 3.00 1.

I B R T 3. 50 0. 00 1. 207. 0 0.0 0. 207. 52,031, 0| *7 7V M
133.3 34 ~ 133 44 3.50 3.00 1.

I B R Tl 3. 50 0. 00 1. 20. 0 0.0 0. 20. 52,051, 0| 7 7 /v Ml
133.5 44 ~ 133, 64 3.50 2.50 1.

e B LR = 7 3.25 0. 00 1. 295. 0 0.0 0. 295. 52, 346. 0 TAZ T v M
133.5 64 ~  133. 90 3.25 2. 60 0.

Rz B UL = 3.25 0. 00 0. 50. 0 0.0 0. 50. 52, 396. 0 TAZ T v
133.9 90 ~  134. 40 3.25 2.10 0.

(AN N 3.25 0. 00 0. 0.0 0.0 6. 6. 52, 402. 0 TAT T v N
134.0 40 ~  134. 46 3.25 2.10 0.

(AN N 3.25 0. 00 0. 159. 0 0.0 0. 159. 52,561.0 TAZ T N
134.0 46 ~  134. 2 3.25 2.10 0.

Rz B UL = T 3.25 0. 00 0. 195.0 0.0 0. 195. 52, 756.0 TAT T
134.2 2 ~ 134 0 3.25 2. 70 0.
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Rz B UL = 3.50 0. 00 0. 00 0. 65 231.0 0.0 0.0 231.0|  52,987.0 TAT T v MR
134. 4 0~  134.6 31 3.50 2. 70 0.80

(AN N 3.50 0. 00 0. 00 0. 65 0.0 0.0 88.0 88.0|  53,075.0 TAT T v N
134. 6 31 ~  134.7 19 3.50 2. 70 0.80

AN N 3.50 0. 00 0. 00 0. 65 7.0 0.0 0.0 7.0l 5308207 77 DELES
134.7 19 ~  134.7 26 3.50 2. 70 0.80

MRz B UL = T 3.50 0. 00 0. 00 0. 65 0.0 1,126.0 0.0 1,126.0|  54,208. 0| » 7 U b
134.7 26 ~  135.8 52 3.50 2. 70 0. 80

st B2 U vy 1 L1 7T 3.50 0. 00 0. 00 0. 65 0.0 392. 0 0.0 392.0|  54,600.0[" w7 = M
135.8 52 ~  136.2 44 3.50 2. 70 0.80

I B IR (L o 3. 50 0. 00 0. 00 0. 65 30. 0 0.0 0.0 50.0| 54,630, 0|7 %7 7V MR
136.2 44 ~  131.1 9 3.50 2. 70 0. 80

ek B YR vy (L1 77 3. 50 0. 00 0. 00 0. 65 0.0 0.0 53.0 53.0|  54,683.0 TAT T v N
137. 1 9 ~  137.1 62 3.50 2. 70 0. 80

et B VL vy (L1 77 3. 50 0. 00 0. 00 0. 65 63.0 0.0 0.0 63.0[ 54,746.0 TAT TV M
137. 1 62 ~  137.2 25 3.50 2. 70 0. 80

ek B UL vy (L 7 3. 50 0. 00 0. 00 0. 65 185.0 0.0 0.0 185.0|  54,931.0 TAZ T v M
137.2 256 ~  137.4 0 3.50 2. 70 0. 80

MR B2 Uk vy 1 L1 T 3.25 0. 00 0. 00 1.45 270. 0 0.0 0.0 270.0|  55,201.0{7 77 DELES
137.4 0~  137.6 63 3.25 0. 00 0.95

MR B2 Uk v 1 L1 3.25 2. 50 0. 00 1.45 107.0 0.0 0.0 107.0[  55,308.0 TAT T v N
137.6 63 ~  137.7 70 3.25 0. 00 0.95

MR B2 Rk sy L1 3.25 2. 50 0. 00 1.45 25.0 0.0 0.0 25.0|  55,333.0 TAZ T N
137.7 70 ~  137.7 95 3.25 0. 00 0.95

MRt B2 U sy 1 L1 7T 3.25 2.50 0. 00 2.25 17.0 0.0 0.0 17.0| 55, 350.0 TAT T
137.7 95 ~  137.8 0 3.25 0. 00 0.95
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MR B2 Uk v 1L 3.25 2. 50 1. 50. 0 0.0 0. 50. 55, 400. 0 TAT T v MR
137.8 137. 50 3.25 2. 00 0.

MR B2 Uk v 1 L1 3.25 2. 50 1. 86. 0 0.0 0. 86. 55, 486. 0 TAT T v N
137.8 137. 36 3.25 2. 00 0.

MRt B2 Rk sy L1 3.25 0. 00 1. 20. 0 0.0 0. 20. 55, 506. 0 TAZ T
137.9 137. 56 3.25 2. 00 0.

MRt B2 U sy 1 L1 7T 3.25 0. 00 1. 35.0 0.0 0. 35. 55, 541. 0 TAZ T
137.9 138. 0 3.25 1. 40 0.

MRt B YR v L T 3.25 0. 00 0. 191.0 0.0 0. 191. 55,732.0 TAT T v
138.0 138. 80 3.25 0. 00 1.

I B IR (L o 3. 25 0. 00 0. 68. 0 0.0 0. 68. 55,800, 0~ 7 7 /v M
138. 1 138. 50 3.25 0. 00 1.

I B IR (L T 3. 25 0. 00 0. 51.0 0.0 0. 51. 55,851, 0| 7 7V M
138.2 138. 0 3.25 0. 00 1.

I B IR (L T 3. 25 0. 00 1. 288. 0 0.0 0. 288. 56, 139, 0|/ 7 7 /v Ml
138.3 138. 0 3.25 0. 00 1.

ek B UL vy (L 3.25 0. 00 0. 203.0 0.0 0. 203. 56, 342. 0 TAZ T v M
138.6 138. 0 3.25 0. 00 0.

MR B2 Uk vy 1L 3.25 0. 00 1. 202.0 0.0 0. 202. 56, 544. 0 TAZ T v
138.8 139. 0 3.25 0. 00 0.

MR B2 Uk v 1 L1 3.25 0. 00 1. 194. 0 0.0 0. 194. 56, 738. 0 TAT T v N
139. 0 139. 93 3.25 0. 00 0.

MRt B2 Wk sy 1 L1 3. 50 2. 80 1. 111.0 0.0 0. 111. 56, 849. 0 TAZ T N
139. 1 139. 1 3.50 0. 00 1.

MRt B2 Uk sy 1 L1 7T 3.50 2. 50 1. 0.0 0.0 99. 99. 56, 948. 0 TAT T
139. 3 139. 13 3. 50 0. 00 1.
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MR B2 Uk v 1L 3.50 3. 00 0. 00 1.25 37.0 0.0 0.0 37.0| 5698507 77" DEES
139. 4 13 ~  139.4 50 3.50 0. 00 1.25

MR B2 Uk v 1 L1 3.50 2. 80 0. 00 1.25 100. 0 0.0 0.0 100.0[  57,085.0 TAT T v N
139. 4 50 ~  139.5 50 3.50 0. 00 1.25

MRt B2 Rk sy L1 3.50 3.00 0. 00 1.25 83.0 0.0 0.0 83.0] 57,168.0 TAZ T v
139. 5 50 ~  139.6 32 3.50 0. 00 1.25

MRt B2 U sy 1 L1 7T 3.50 2.50 0. 00 1.25 0.0 0.0 124.0 124.0| 57,202,017 %77 DELES
139. 6 32 ~  139.7 57 3.50 0. 00 1.25

st B2 U vy 1 L1 7T 3.25 3.00 0. 00 1.25 81.0 0.0 0.0 81.0| 57,373.0 TAT T v
139.7 57 ~  139.8 40 3.25 0.00 1.25

I B IR (L o 3. 25 3. 00 0. 00 1.25 54.0 0.0 0.0 sa.0| 57,427, 0|7 X7 7V MR
139.8 40 ~  139.9 4 3.25 1. 80 1.25

ek B VR vy (L1 77 3.25 1.70 0. 00 0.75 64. 0 0.0 0.0 64.0[ 57,491.0 TAT T v N
139.9 4~  139.9 68 3.25 1. 80 0.85

ek B VL vy (L1 77 3.25 2. 50 0. 00 0.75 35.0 0.0 0.0 35.0 57,526.0 TAT TV M
139.9 68 ~  140.0 0 3.25 1. 80 0.85

ek B UL vy (L 7 3.25 2. 50 0. 00 0. 90 85.0 0.0 0.0 85.0| 57,611.0 TAZ T v M
140. 0 0~  140.0 85 3.25 1. 80 0.90

MR B2 Uk vy 1L T 3.25 2.50 0. 00 0.90 116.0 0.0 0.0 6.0 57,721,077 7 DELES
140. 0 85 ~  140.2 0 3.25 0. 00 0.90

MR B2 Uk v 1 L 3.25 2. 50 0. 00 1. 20 92.0 0.0 0.0 92.0|  57,819.0 TAT T v N
140. 2 0~  140.2 92 3.25 0. 00 1.05

MR B2 Rk sy L 3.25 2. 60 0. 00 1.20 109. 0 0.0 0.0 109.0|  57,928.0 TAZ T N
140. 2 92 ~  140.4 0 3.25 0. 00 1. 05

MRt B2 U s 1 L1 7T 3.25 2. 60 0. 00 1. 20 203. 0 0.0 0.0 203.0| s8,131.0|7 77 DELES
140. 4 0~  140.6 0 3.25 0. 00 1. 00
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e B IR v 2. 60 1. 46. 0 0.0 46. 58,177.0 TAT T v MR
140. 6 140. 46 0. 00 1.

MR B2 Uk v 1 L1 2. 80 1. 151.0 0.0 151. 58, 328. 0 TAT T v N
140. 6 140. 0 0. 00 1.

MRt B2 Rk sy L1 2. 80 0. 113.0 0.0 113. 58, 441.0 TAZ T v
140. 8 140. 8 0. 00 0.

MRt B2 U sy 1 L1 7T 2. 70 0. 85.0 0.0 85. 58, 526. 0 TAZ T
140. 9 141. 0 0. 00 0.

Mgt B YR v L 7T 2.70 1. 210.0 0.0 210. 58, 736.0 TAT T v
141. 0 141. 0 0.00 1.

I B IR (L o 2.70 1. 189. 0 0.0 189. 58,925, 0|~ * 7 7 /v M
141.2 141. 0 0.00 1.

I B IR (L T 2.70 1. 49.0 0.0 49. 58,974, 0|~ 7 7V M
141. 4 141. 49 0. 00 1.

I B IR (L T 2. 60 1. 55. 0 0.0 55. 59, 029, 0| 7 7V MR
141. 4 141. 7 0. 00 1.

ek B UL vy (L 7 2. 60 0. 112.0 0.0 112. 59, 141.0 TAZ T v M
141. 5 141. 119 0. 00 0.

MR B2 Uk v 1L T 2. 70 0. 43.0 0.0 43. 59, 184. 0 TAZ T v
141. 5 141. 50 0. 00 0.

MR B2 Uk v 1 L 2. 60 0. 120. 0 0.0 120. 59, 304. 0 TAT T v N
141. 6 141. 76 0. 00 0.

MRt B2 Rk sy L1 2. 50 1. 24.0 0.0 24, 59, 328.0 TAZ T N
141.7 141. 0 0. 00 1.

MRt B2 Uk sy 1 L1 7T 2. 50 1. 35.0 0.0 35. 59, 363. 0 TAT T
141. 8 141. 35 2.90 1.
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MR B2 Uk v 1L 3.25 2. 50 0. 00 1.15 44.0 0.0 0.0 a4.0| 59,4070 7TV DEES
141. 8 36 ~  141.8 79 3.25 0. 00 1. 00

MR B2 Uk v 1 L1 3.25 0. 00 0. 00 1.15 147.0 0.0 0.0 147.0]  59,554.0 TAT T v N
141. 8 79 ~  142.0 27 3.25 0. 00 1. 00

MRt B2 Rk sy L1 3.25 0. 00 0. 00 0. 90 0.0 0.0 27.0 27.0  59,581.0 TAZ T v
142. 0 27 ~  142.0 54 3.25 0. 00 0.90

MRt B2 U sy 1 L1 7T 3.25 0. 00 0. 00 1.25 354. 0 0.0 0.0 354.0|  59,935.0|” 77" DELES
142. 0 54 ~  142.4 0 3.25 0. 00 2.75

st B2 U iy 1 L1 7T 3.25 0. 00 0. 00 1.95 197.0 0.0 0.0 197.0] 60, 132.0|7 77" DEEES
142. 4 0~  142.6 0 3.25 0. 00 2. 65

I B IR (L o 3. 25 0. 00 0. 00 1.00|  198.0 0.0 0.0 198.0| 60, 330,07 %7 7V M
142. 6 0~  142.8 0 3.25 0. 00 1.15

ek B VL vy (L1 77 3.25 0. 00 0. 00 0.95 205. 0 0.0 0.0 205.0| 60, 535.0 TAT T v N
142. 8 0~ 143.0 0 3.25 0. 00 1.25

ek B VL vy (L1 77 3.25 0. 00 0. 00 1.65 196. 0 0.0 0.0 196.0[  60,731.0 TAT TV M
143. 0 0~  143.2 0 3.25 0. 00 1.05

ek B UL vy (L 7 3.25 0. 00 0. 00 1.00 299. 0 0.0 0.0 299.0|  61,030.0 TAZ T v M
143.2 0~ 143.4 103 3.25 0. 00 0.90

MR B2 Uk v 1L 3.25 2. 70 0. 00 0. 80 100.0 0.0 0.0 100.0| 61,130,077 7 DELES
143.4 103 ~  143.6 0 3.25 0. 00 0.90

MR B2 Uk v 1 L1 3.25 2. 70 0. 00 0.85 55.0 0.0 0.0 55.0/ 61,185.0 TAT T v N
143. 6 0~ 143.6 55 3.25 0. 00 1.45

MR B2 Rk sy 1 L1 3.25 2.70 0. 00 0.85 62. 0 0.0 0.0 62.0  61,247.0 TAZ T N
143. 6 55 ~  143.7 15 3.25 2.50 1.45

MRt B2 U sy 1 L1 7T 3.25 2.70 0. 00 0.85 87.0 0.0 0.0 g7.0| 61,334.017 77T DELES
143.7 15 ~  143.8 0 3.25 0. 00 1.45
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MR B2 Uk v 1L 3.25 2. 70 2. 189. 0 0.0 189. 61,523.0 TAT T v MR
143.8 144. 1 .25 0. 00 1.

MR B2 Uk v 1 L1 .25 2. 90 1. 195. 0. 195. 61,718.0 TAT T v N
144. 0 144. 0 .25 0. 00 1.

MR B2 Rk s L1 .25 2. 90 0. 208. 0. 208. 61,926.0 TAZ T v
144. 2 144. 0 .25 0. 00 0.

MRt B2 U sy 1 L1 7T .25 2. 90 0. 194. 0. 194. 62, 120. 0 TAZ T
144. 4 144. 0 .25 0. 00 0.

I B L 25 1 .95 2. 90 0. 9. 0. 9. 62, 129, 0|7 * 7 7V MR
144. 6 144. 9 .25 0. 00 0.

I B IR (L o .25 2.70 0. 188. 0. 188. 62,317, 0|7 X7 7V M=
144. 6 144. 0 .25 0. 00 0.

I B IR (L T .25 2.70 0. 208. 0. 208. 62, 525. 0|7~ 7 7V M
144. 8 145. 0 .25 0. 00 0.

I B IR (L T .25 2.70 0. 145. 0. 145. 62, 670, 0 7 7 /v Ml
145. 0 145. 44 .25 0. 00 0.

ek B UL vy (L 7 .25 2. 60 0. 88. 0. 88. 62, 758. 0 TAZ T v M
145. 1 44 145. 30 .25 0. 00 0.

MR B2 Uk v 1L .25 2. 60 0. 103. 0. 103. 62, 861. 0 TAZ T v
145.2 30 145. 50 .25 0. 00 0.

MR B2 Uk v 1 L1 .25 2. 60 0. 43, 0. 43. 62, 904. 0 TAT T v N
145.3 50 145. 93 .25 0. 00 0.

MR B2 Rk sy L1 .25 2. 00 0. 54. 0. 54. 62, 958. 0 TAZ T N
145.3 93 145. 28 .25 0. 00 0.

MRt B2 U s 1 L1 7T .25 1. 20 0. 0. 273. 273. 63, 231. 0 TAT T
145.4 28 145. 99 .25 0. 00 0.
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e B IR v 3.25 2. 20 0. 123.0 0.0 0. 123. 63, 354. 0 TAT T v MR
145. 6 145. 3.25 0. 00 0.

MR B2 Uk v 1 L1 3.25 2. 60 0. 0. 0.0 69. 69. 63, 423. 0 TAT T v N
145. 8 145. 3.25 0. 00 0.

MRt B2 Rk sy L1 3.25 2.70 0. 19. 0.0 0. 19. 63, 442. 0 TAZ T
145. 8 145. 3.25 0. 00 0.

MRt B2 U sy 1 L1 7T 3.25 2. 70 0. 38. 0.0 0. 38. 63, 480. 0 TAZ T
145.9 145. 3.25 2.50 0.

MRty B YR v L 7T 3.25 2. 70 0. 49. 0.0 0. 49. 63, 529. 0 TAT T v
145.9 145. 3.25 4. 50 0.

I B IR (L o 3. 25 2.70 0. 111. 0.0 0. 111. 63, 640, 0 * 7 7V MR
145.9 146. 3.25 2.50 0.

I B IR (L T 3. 25 2.70 0. 55. 0.0 0. 55. 63, 695, 0|~ * 7 7 /v M
146. 1 146. 3.25 2.30 0.

I B IR (L T 3. 25 2.70 0. 101. 0.0 0. 101. 63,796, 0 7 7 /v Ml
146. 1 146. 3.25 3. 40 0.

ek B UL vy (L 3.25 1.50 0. 39. 0.0 0. 39. 63, 835. 0 TAZ T v M
146. 2 146. 3.25 0. 00 0.

MR B2 Uk vy 1L T 3.25 1. 20 0. 0. 387.0 0. 387. 64, 222. 0 TAZ T v
146. 2 146. 3.25 0. 00 0.

MR B2 Uk v 1 L 3.25 2. 60 0. 143. 0.0 0. 143. 64, 365. 0 TAT T v N
146. 6 146. 3.25 0. 00 0.

MR B2 Rk sy L 3.25 2. 60 0. 22. 0.0 0. 22. 64, 387.0 TAZ T N
146. 8 146. 3.25 3. 80 0.

MRt B2 U s 1 L1 7T 3.25 2. 60 0. 20. 0.0 0. 20. 64, 407. 0 TAT T
146. 8 146. 3.25 3.80 1.
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e B IR v 3.25 2. 60 0. 4.0 0.0 4, 64,411.0 TAT T v MR
146. 8 146. 0 3.25 3. 80 1.

MR B2 Uk v 1 L1 3.25 2. 60 0. 46.0 0.0 46. 64, 457. 0 TAT T v N
146.9 146. 46 3.25 3. 20 1.

MRt B2 Rk sy L1 3.25 2. 00 0. 125.0 0.0 125. 64, 582. 0 TAZ T v
146.9 147. 100 3.25 3. 20 1.

MRt B2 U sy 1 L1 7T 3.25 1. 80 0. 59.0 0.0 59. 64, 641. 0 TAZ T
147. 0 147. 51 3.25 3.20 1.

MRt B YR v L 7T 3.25 2.50 0. 54.0 0.0 54. 64, 695. 0 TAT T v
147. 1 147. 0 3.25 3.20 1.

I B IR (L o 3. 25 2. 50 0. 53.0 0.0 53. 64,748, 0|~ * 7 7V MR
147.2 147. 53 3.25 3.20 1.

I B IR (L T 3. 25 2. 00 0. 90. 0 0.0 90. 64,838, 0|~ * 7 7V M
147. 2 147. 40 3.25 3. 20 1.

I B IR (L T 3. 25 2. 00 1. 5.0 0.0 5. 64,843, 0 7 7V Ml
147.3 147. 45 3.25 3. 20 1.

ek B UL vy (L 7 3.25 2. 80 1. 111.0 0.0 111. 64, 954. 0 TAZ T v M
147.3 147. 64 3.25 3. 20 1.

MRt B2 Uk s 1 L 3.25 2. 80 0. 54.0 0.0 54. 65, 008. 0 TAZ T v
147. 4 147. 0 3.25 3. 20 0.

MR B2 Uk v 1 L1 3.25 2. 80 0. 9.0 0.0 9. 65,017. 0 TAT T v N
147.5 147. 9 3.25 2. 60 0.

MR B2 Rk sy L 3.25 2. 50 0. 29. 0 0.0 29. 65, 046. 0 TAZ T N
147.5 147. 38 3.25 2. 60 0.

MRt B2 U sy 1 L1 7T 3.25 3.50 0. 36.0 0.0 36. 65, 082. 0 TAT T
147.5 147. 74 3.25 2. 60 0.
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e B IR v 3.25 2. 00 0. 11.0 0.0 11. 65, 093. 0 TAT T v MR
147. 5 147. 3.25 2. 60 0.

MR B2 Uk v 1 L1 3.25 2. 00 0. 21. 0.0 21. 65, 114. 0 TAT T v N
147. 6 147. 3.25 2. 60 0.

MRt B2 Rk sy L1 3.25 2. 50 0. 93. 0.0 93. 65, 207. 0 TAZ T v
147. 6 147. 3.25 2. 60 0.

MRt B2 U sy 1 L1 7T 3.25 2.50 0. 60. 0.0 60. 65, 267. 0 TAZ T
147.7 147. 3.25 2. 60 0.

MRt B YR v L T 3.25 2.50 1. 209. 0.0 209. 65, 476. 0 TAT T v
147.7 147. 3.25 2. 60 0.

I B IR (L o 3. 25 2.30 0. 0. 0.0 5. 65,481, 0|~ 7 7V M=
147.9 147. 3.25 2.30 0.

I B IR (L T 3. 25 2. 50 0. 30. 0.0 30. 65,511, 0| 7 7 /v Mz
147.9 148. 3.25 2. 60 0.

I B IR (L T 3. 25 2. 50 0. 197. 0.0 197. 65,708, 0 7 7 /v Ml
148. 0 148. 3.25 3.00 0.

ek B UL vy (L 3.25 2. 50 0. 207. 0.0 207. 65,915.0 TAZ T v M
148. 2 148. 3.25 3.00 0.

MRt B2 Uk s 1 L 3.25 2.50 2. 100. 0.0 100. 66, 015. 0 TAZ T v
148. 4 148. 3.25 3.00 0.

MR B2 Uk v 1 L1 3.25 0. 00 1. 104. 0.0 104. 66, 119. 0 TAT T v N
148. 5 148. 3.25 0. 00 1.

MR B2 Rk sy 1 L1 3.50 0. 00 1. 223. 0.0 223. 66, 342. 0 TAZ T N
148. 6 148. 3.50 0. 00 1.

MRt B2 U sy 1 L1 7T 3.50 0. 00 1. 0.0 1,863.0 1, 863. 68, 205. 0 ~ 7 U= b
148. 8 150. 3.50 0. 00 1.
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MR B2 Uk v 1L 3.50 0. 00 0. 00 1. 00 343.0 0.0 0.0 343.0| 68, 548,07 77V DEES
150. 6 88 ~  151.0 31 3.50 0. 00 1. 00

MR B2 Uk v 1 L1 3.50 0. 00 0. 00 1. 00 10. 0 0.0 38.0 48.0|  68,596.0 TAT T v N
151. 0 31 ~  151.0 79 3.50 0. 00 1. 00

MRt B2 Rk sy L1 3.50 0. 00 0. 00 1.00 274.0 0.0 10.0 284.0| 68, 880.0 TAZ T v
151. 0 79 ~  151.3 63 3.50 0. 00 1. 00

MRt B2 U sy 1 L1 7T 3.25 2. 00 0. 00 0. 42 101. 0 0.0 0.0 01,0 6898107 77T DELES
151.3 63 ~  152.8 4 3.25 0. 00 1.00

st B2 U v 1 L1 7T 3.25 2. 70 0. 00 0.75 21.0 0.0 0.0 21.0]  69,002.07 7T DEEES
152. 8 4~  152.8 25 3.25 2. 40 1.00

I B IR (L o 3. 25 2.70 0. 00 0.75 76.0 0.0 0.0 76.0|  69,078.0|7 %7 7V MR
152. 8 25 ~  152.9 0 3.25 3.20 1.00

ek B VR vy (L1 77 3.25 2.70 0. 00 0.75 15.0 0.0 0.0 15.0] 69, 093.0 TAT T v N
152.9 0~  152.9 15 3.25 1..70 1.00

et B VL vy (L1 77 3.25 1.70 0. 00 0.75 33.0 0.0 0.0 33.0]  69,126.0 TAT TV M
152.9 15 ~  152.9 48 3.25 1..70 1. 00

ek B UL vy (L 7 3.25 2. 60 0. 00 0.75 7.0 0.0 0.0 7.0l  69,133.0 TAZ T v M
152.9 48 ~  152.9 55 3.25 1. 70 1. 00

MR B2 Uk v 1L T 3.25 2. 60 0. 00 0.75 22.0 0.0 0.0 22.0| 69,155.0” 77" DELES
152.9 55 ~  152.9 77 3.25 3.00 1. 00

MR B2 Uk v 1 L 3.25 2. 60 0. 00 0.75 24.0 0.0 0.0 24.0|  69,179.0 TAT T v N
152.9 77~ 152.9 101 3.25 4.10 1. 00

MR B2 Rk sy 1 L1 3.25 2. 60 0. 00 0.75 42.0 0.0 0.0 42.0|  69,221.0 TAZ T N
152.9 101 ~  153.0 41 3.25 2. 80 1.00

MRt B2 Uk sy 1 L1 7T 3.25 2. 60 0. 00 0.75 142. 0 0.0 0.0 142.0|  69,363.07 77" DELES
153. 0 41 ~  153.1 71 3.25 0. 00 1.00
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MR B2 Uk v 1L 3.25 2.20 0. 00 0.75 23.0 0.0 0.0 23.0| 69,386,077 7" DEES
153. 1 71 ~  153.2 0 3.25 0. 00 1. 00

MR B2 Uk v 1 L1 3.25 2. 80 0. 00 0. 90 286. 0 0.0 0.0 286.0|  69,672.0 TAT T v N
153.2 0~  153.4 89 3.25 0. 00 0.80

MRt B2 Rk sy L1 3.25 2. 50 0. 00 0. 60 0.0 0.0 10.0 10.0[ 69, 682.0 TAZ T
153.4 89 ~  153.4 99 3.25 0. 00 0. 60

MRt B2 U sy 1 L1 7T 3.25 2.50 0. 00 1. 00 68.0 0.0 0.0 6.0 69,750.0|7 77" DELES
153.4 99 ~  153.5 68 3.25 0. 00 0.75

st B2 U iy 1 L1 7T 3.25 2.90 0. 00 1. 00 31.0 0.0 0.0 31.0| 69,781.0 TAT T v
153.5 68 ~  153.6 0 3.25 0.00 0.75

I B IR (L o 3. 25 2. 90 0. 00 0.70 67.0 0.0 0.0 67.0| 69,848, 0| X7 7V MR
153. 6 0~ 153.6 67 3.25 0.00 0.90

ek B VR vy (L1 77 3.25 2. 50 0. 00 0.70 89. 0 0.0 0.0 89.0[ 69,937.0 TAT T v N
153. 6 67 ~  153.7 46 3.25 0. 00 0.90

ek B VL vy (L1 77 3.25 2. 30 0. 00 0.70 95. 0 0.0 0.0 95.0[ 70,032.0 TAT TV M
153.7 46 ~  153.8 51 3.25 0. 00 0.90

ek B UL vy (L 7 3.25 2. 50 0. 00 0.70 306. 0 0.0 0.0 306.0[  70,338.0 TAZ T v M
153.8 51 ~  154.1 60 3.25 0. 00 0.90

MR B2 Uk vy 1L T 3.25 2.50 0. 00 0.50 0.0 0.0 49.0 19.0| 70,3870 X7 TV DELES
154. 1 60 ~  154.2 5 3.25 0. 00 0.50

MR B2 Uk v 1 L 3.25 2. 80 0. 00 0.55 62. 0 0.0 0.0 62.0|  70,449.0 TAT T v N
154. 2 5~  154.2 67 3.25 0. 00 0.95

MR B2 Rk sy L 3.25 2. 50 0. 00 0.25 0.0 0.0 24.0 24.0|  70,473.0 TAZ T N
154.2 67 ~  154.2 91 3.25 0. 00 0.25

MRt B2 Uk sy 1 L1 7T 3.25 2.70 0. 00 0.75 258. 0 0.0 0.0 958.0| 70,731.0|7 *7 7" DELES
154. 2 91 ~  154.5 45 3.25 0. 00 1. 10
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MR B2 Uk v 1L 3.25 2. 60 0. 00 0.75 54.0 0.0 0.0 54.0  70,785.0|7 77" DEES
154. 5 45 ~  154.6 0 3.25 0. 00 1. 10

MR B2 Uk v 1 L1 3.25 2. 60 0. 00 0.55 149. 0 0.0 0.0 149.0[  70,934.0 TAT T v N
154. 6 0~  154.7 52 3.25 0. 00 0. 60

MRt B2 Rk sy L1 3.25 2.70 0. 00 0.55 28.0 0.0 0.0 28.0|  70,962.0 TAZ T v
154.7 52 ~  154.7 80 3.25 0. 00 0. 60

MRt B2 U sy 1 L1 7T 3.25 2. 60 0. 00 0.55 23.0 0.0 0.0 23.0| 70,985.0” %77V DELES
154. 7 80 ~  154.8 0 3.25 0. 00 0. 60

st B2 U v 1 L1 7T 3.25 2. 60 0. 00 0.50 82.0 0.0 0.0 g2.0l  71,067.07 7T DEEES
154. 8 0~  154.8 82 3.25 0.00 0.90

I B IR (L o 3. 25 3. 20 0. 00 0.50 115.0 0.0 0.0 115.0{ 71,182, 0|7 X7 7V M=
154. 8 82 ~  155.0 0 3.25 0.00 0.90

I B IR (L T 3. 25 3. 20 0. 00 0.75 11.0 0.0 0.0 11.0| 71,193, 0|7 27 7 /v MR
155. 0 0~ 155.0 11 3.25 0. 00 1.15

et B VL vy (L1 77 3.25 2. 50 0. 00 0.75 193.0 0.0 0.0 193.0[ 71,386.0 TAT TV M
155. 0 11 ~  155.2 0 3.25 0. 00 1.15

ek B UL vy (L 3.25 2. 50 0. 00 0.70 200. 0 0.0 0.0 200.0|  71,586.0 TAZ T v M
155. 2 0~  155.4 0 3.25 0. 00 2.50

MR B2 Uk vy 1L 3.25 2.50 0. 00 0.50 114.0 0.0 0.0 114.0[  71,700.0 TAZ T v
155. 4 0~  155.5 18 3.25 0. 00 0.80

MR B2 Uk v 1 L1 3.25 2. 30 0. 00 0.50 85.0 0.0 0.0 85.0|  71,785.0 TAT T v N
155. 5 18 ~  155.6 0 3.25 0. 00 0. 80

MRt B2 Rk sy 1 L1 3.25 2.30 0. 00 0.55 126. 0 0.0 0.0 126.0  71,911.0 TAZ T N
155. 6 0~  155.7 23 3.25 0. 00 1.15

MRt B2 U sy 1 L1 7T 3.25 2.50 0. 00 0.55 127.0 0.0 0.0 127.0]  72,038.0|7 %77 DELES
155.7 23 ~  155.8 56 3.25 0. 00 1.15

_60_




it

61 / 109 ~—

R4 0 0041 BiiE
g = JE
Eil (BBt B0, BT DD m IENNIE & 1 O FESE T
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MR B2 Uk v 1L 3.25 2. 50 0. 0.0 0.0 23. 72, 061. 0 TAT T v MR
155. 8 155. 79 3.25 0. 00 0.

MR B2 Rk v 1 L1 3.25 2. 50 0. 211.0 0.0 211. 72, 272.0 TAT T v N
155. 8 156. 0 3.25 0. 00 1.

MRt B2 Rk sy L1 3.25 2. 50 0. 81.0 0.0 81. 72, 353.0 TAZ T v
156. 1 156. 81 3.25 2. 70 1.

MRt B2 U sy 1 L1 7T 3.25 2. 80 0. 173.0 0.0 173. 72, 526. 0 TAZ T
156. 1 156. 33 3.25 2.70 1.

MRty B YR v L 7T 3.25 2. 60 0. 0.0 0.0 3. 72,529.0 TAT T v
156. 3 156. 36 3.25 2.70 0.

I B IR (L o 3. 25 2. 80 0. 66. 0 0.0 66. 72,595, 0|7 A7 7V M
156. 3 156. 0 3.25 2.70 1.

I B IR (L T 3. 25 2. 80 0. 89. 0 0.0 89. 79,684, 0|7 A7 7V M
156. 4 156. 0 3.25 2.70 1.

I B IR (L T 3. 25 3. 20 0. 80. 0 0.0 80. 79,764, 0 7 7V PR
156. 5 156. 80 3.25 2.70 1.

ek B UL vy (L 7 3.25 3. 20 1. 65. 0 0.0 65. 72,829.0 TAZ T v M
156. 5 156. 30 3.25 2.70 1.

MR B2 Uk vy 1L T 3.25 3.20 0. 79.0 0.0 79. 72,908. 0 TAZ T v
156. 6 156. 15 3.25 2. 70 1.

MR B2 Uk v 1 L1 3.25 3.20 1. 84.0 0.0 84. 72,992. 0 TAT T v N
156.7 156. 5 3.25 2. 70 1.

MR B2 Rk sy L 3.25 3.20 0. 22.0 0.0 22. 73,014.0 TAZ T N
156. 8 156. 27 3.25 2. 70 1.

MRt B2 Uk sy 1 L1 7T 3.25 3.20 0. 114.0 0.0 114. 73,128.0 TAT T
156. 8 156. 45 3.25 1. 80 1.
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MR B2 Uk v 1L 3.25 3.20 0. 00 0. 60 10.0 0.0 0.0 10.0] 73, 138.0|7 277 DEES
156.9 45 ~  156.9 55 3.25 1. 80 0.70

MR B2 Uk v 1 L1 3.25 3.30 0. 00 0. 60 15. 0 0.0 0.0 15.0|  73,153.0 TAT T v N
156.9 55 ~  156.9 70 3.25 1. 80 0.70

MRt B2 Rk sy L1 3.25 3.30 0. 00 0. 60 32.0 0.0 0.0 32.0| 73,185.0 TAZ T v
156.9 70 ~  157.0 0 3.25 2. 60 0.70

MRt B2 U sy 1 L1 7T 3.25 3.30 0. 00 0. 60 96. 0 0.0 0.0 96.0| 7328107 77 DELES
157. 0 0~ 157.0 96 3.25 1. 80 0.70

st B2 U v 1 L1 7T 3.25 2.30 0. 00 0. 60 158.0 0.0 0.0 158.0]  73,439.0|7 %7 7" DEEES
157. 0 96 ~  157.2 40 3.25 1. 80 0.70

I B IR (L o 3. 25 2. 80 0. 00 0. 60 40.0 0.0 0.0 40.0| 73,479, 0|7 X7 7V MR
157.2 40 ~  157.2 80 3.25 1. 80 1. 30

I B IR (L T 3. 25 2. 80 0. 00 0. 60 5.0 0.0 0.0 5.0 73,484, 0|7 X7 7V M
157.2 80 ~  157.2 85 3.25 1. 80 1. 30

ek B VL vy (L1 77 3.25 2. 80 0. 00 0. 60 20. 0 0.0 0.0 20.0[  73,504.0 TAT TV M
157.2 85 ~  157.3 0 3.25 1. 80 1. 30

ek B UL vy (L 7 3.25 2. 80 0. 00 0. 60 82.0 0.0 0.0 82.0|  73,586.0 TAZ T v M
157.3 0~  157.4 0 3.25 2.70 1. 30

MR B2 Uk vy 1L T 3.25 2. 80 0. 00 0. 60 65.0 0.0 0.0 65.0 73,6510 77" DELES
157. 4 0~  157.4 65 3.25 3. 50 0.76

MR B2 Uk v 1 L 3.25 3.00 0. 00 0. 60 91.0 0.0 0.0 91.0|  73,742.0 TAT T v N
157.4 65~ 157.5 51 3.25 3. 50 0.76

MR B2 Wk s L1 3.25 2. 00 0. 00 0. 60 47.0 0.0 0.0 47.0|  73,789.0 TAZ T N
157.5 51 ~  157.5 98 3.25 2. 00 0.76

MRt B2 Uk sy 1 L1 7T 3.25 2. 00 0. 00 0. 60 20.0 0.0 0.0 20.0| 73,809.0|7 77" DELES
157.5 98 ~  157.6 20 3.25 1. 80 0.76
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HOGE | A o | o | B OF | B K | hexra & T A it 7 G
m

MR B2 Uk v 1L 3.25 1. 50 0. 00 0. 60 9.0 0.0 0.0 9.0 7381807 *7 7N DEES
157. 6 20 ~  157.6 29 3.25 1. 00 0.76

MR B2 Uk v 1 L1 3.25 1. 00 0. 00 0.50 0.0 0.0 70.0 70.0[  73,888.0 TAT T v N
157. 6 29 ~  157.7 0 3.25 1. 00 0.50

MRt B2 Rk sy L1 3.25 1.00 0. 00 0. 50 0.0 0.0 74.0 74.0|  73,962.0 TAZ T
157.7 0~  157.7 74 3.25 1. 30 0.50

MRt B2 U sy 1 L1 7T 3.25 1. 00 0. 00 0. 65 6.0 0.0 0.0 6.0  73,968.0 TAZ T
157.7 74 ~  157.7 80 3.25 1. 00 1.45

st B2 U iy 1 L1 7T 3.25 2. 00 0. 00 0. 65 60.0 0.0 0.0 60.0| 74,028.07 7TV DEEES
157.7 80 ~  157.8 40 3.25 2.10 1.45

I B IR (L o 3. 25 2. 00 0. 00 0. 65 32.0 0.0 0.0 s2.0| 74,060, 0|7 *7 7V MR
157.8 40 ~  157.8 72 3.25 2. 00 1.45

ek B YR vy (L1 77 3.25 3.50 0. 00 0. 65 39.0 0.0 0.0 39.0  74,099.0 TAT T v N
157.8 72 ~  157.9 10 3.25 3.50 1.45

et B VL vy (L1 77 3.25 3.50 0. 00 0. 65 60. 0 0.0 0.0 60.0[  74,159.0 TAT TV M
157.9 10~  157.9 70 3.25 3.50 1.45

ek B UL vy (L 7 3.25 3. 50 0. 00 0. 65 18.0 0.0 0.0 18.0[  74,177.0 TAZ T v M
157.9 70 ~  157.9 88 3.25 3. 50 1.45

MR B2 Uk s 1L 6. 25 3.50 0. 00 0.50 0.0 0.0 7.0 7.0l 118007 7TV DELES
157.9 88 ~  157.9 95 6. 25 3. 50 0.50

MR B2 Uk v 1 L1 6. 25 3.50 0. 00 0.50 0.0 0.0 11.0 11.0|  74,195.0 TAT T v N
157.9 95 ~  158.0 3 6. 25 2.70 0.50

MR B2 Rk sy 1 L1 3.25 4. 00 0. 00 1.10 141.0 0.0 0.0 141.0|  74,336.0 TAZ T N
158. 0 3~  158.1 44 3.25 2. 70 1. 20

MRt B2 Uk sy 1 L1 7T 3.25 3. 40 0. 00 1. 10 30.0 0.0 0.0 30.0| 74,366,077 7" DELES
158. 1 44 ~  158.1 74 3.25 2.70 1. 20
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MR B2 Uk v 1L 3.25 3.40 0. 00 1. 10 225. 0 0.0 0.0 925.0| 74,591.0]7 77 DEES
158. 1 74 ~  158.4 0 3.25 3. 40 1. 20

MR B2 Uk v 1 L1 3.25 3. 40 0. 00 0. 84 120. 0 0.0 0.0 120.0[  74,711.0 TAT T v N
158. 4 0~  158.5 16 3.25 3. 40 0.91

MR B2 Rk s L1 3.25 3. 40 0. 00 0.84 32.0 0.0 0.0 32.0|  74,743.0 TAZ T v N
158. 5 16 ~  158.5 48 3.25 2.50 0.91

MRt B2 U sy 1 L1 7T 3.25 3. 20 0. 00 0. 84 22.0 0.0 0.0 92.0| 74,765.07 77" DELES
158. 5 48 ~  158.5 70 3.25 3.20 0.91

st B2 Uk iy 1 L1 7T 3.25 3. 20 0. 00 0. 80 27.0 0.0 0.0 o7.0| 7479207 X7 TV DEEES
158.5 70 ~  158.6 0 3.25 3.20 0.76

I B IR (L o 3. 25 3. 20 0. 00 0. 80 88. 0 0.0 0.0 83.0| 74,880, 0| %7 7V MR
158. 6 0~ 158.6 88 3.25 3.10 0.76

ek B VR vy (L1 77 6. 50 3.20 0. 00 0.15 75.0 0.0 0.0 75.0  74,955.0 TAT T v N
158. 6 88 ~  158.7 67 6. 50 3.10 0.50

et B VL vy (L1 77 6. 50 3.10 0. 00 0.75 0.0 0.0 18.0 18.0]  74,973.0 TAT TV M
158.7 67 ~  158.7 85 6. 50 3.10 0.75

ek B UL vy (L 6. 50 3. 10 0. 00 0. 10 5.0 0.0 0.0 5.0  74,978.0 TAZ T v M
158.7 85 ~  158.7 90 6. 50 3. 30 0.50

MRt B2 Uk s 1 L 6. 50 3.20 0. 00 0.10 17.0 0.0 0.0 17.0|  74,995.0{7 277 DELES
158.7 90 ~  158.8 5 6. 50 3. 30 0.50

MR B2 Uk v 1 L 6. 50 3.20 1. 50 0.10 137.0 0.0 0.0 137.0]  75,132.0 TAT T v N
158. 8 5~ 158.9 42 6. 50 3. 30 0.50

MR B2 Rk sy L1 6. 50 3.20 0. 00 0. 10 40. 0 0.0 0.0 40.0|  75,172.0 TAZ T N
158.9 42 ~  158.9 82 6. 50 3. 30 0.50

MRt B2 U s 1 L1 7T 6. 50 3. 20 0. 00 0.10 67.0 0.0 0.0 67.0| 75,239.07 77" DELES
158.9 82 ~  159.0 53 6. 50 2. 80 0.50
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HOGE | A o | o | B OF | B K | hexra & T A it 7 G
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MR B2 Uk v 1L 6. 50 3.20 0. 00 0.10 61.0 0.0 0.0 61.0|  75,300.0 TAT T v MR
159. 0 53 ~  159.1 12 6. 50 3. 20 0.50

MR B2 Uk v 1 L1 6. 50 3.20 1. 50 0. 57 267.0 0.0 0.0 267.0|  75,567.0 TAT T v N
159. 1 12 ~  159.3 83 6. 50 3. 20 0.57

MRt B2 Rk sy L1 6. 50 3.20 0. 00 0. 65 87.0 0.0 0.0 87.0|  75,654.0 TAZ T v
159. 3 83 ~  159.4 67 6. 50 3. 20 0. 65

MRt B2 U sy 1 L1 7T 6. 50 3. 20 0. 00 0. 65 80.0 0.0 0.0 g0.0| 75,734.07 77TV DELES
159.4 67 ~  159.5 45 6. 50 3.10 0.65

st B2 U v 1 L1 7T 6. 50 3.20 1. 50 0. 65 16.0 0.0 0.0 16.0| 75,750, 0|7 %7 7" DEEES
159. 5 45 ~  159.5 61 6. 50 3.10 0. 65

I B IR (L o 6. 50 3. 20 1.50 0. 65 22.0 0.0 0.0 92.0| 75, 772.0|7 X7 7V MR
159. 5 61 ~  159.5 83 6. 50 3.00 0. 65

ek B VR vy (L1 77 6. 50 3.20 0. 00 0.48 33.0 0.0 0.0 33.0]  75,805.0 TAT T v N
159. 5 83 ~  159.6 15 6. 50 3.00 0. 66

et B VL vy (L1 77 6. 50 3.20 0. 00 0.48 28.0 0.0 0.0 28.0[  75,833.0 TAT TV M
159. 6 15~  159.6 43 6. 50 3. 20 0. 66

ek B UL vy (L 7 6. 50 3. 20 1.50 0.48 150. 0 0.0 0.0 150.0|  75,983.0 TAZ T v M
159. 6 43 ~  159.7 95 6. 50 3. 20 0. 66

MR B2 Uk vy 1L T 6. 50 3.20 0. 00 1. 50 32.0 0.0 0.0 32.0|  76,015.07 77" DELES
159. 7 95 ~  159.8 22 6. 50 3. 20 1. 50

MR B2 Uk v 1 L 6. 50 3.20 0. 00 1. 50 32.0 0.0 0.0 32.0|  76,047.0 TAT T v N
159. 8 22 ~  159.8 54 6. 50 2.90 1. 50

MR B2 Wk s L1 6. 50 3.10 0. 00 1.50 14.0 0.0 0.0 14.0[  76,061.0 TAZ T N
159. 8 54 ~  159.8 68 6. 50 3. 20 1. 50

MRt B2 Uk sy 1 L1 7T 6. 50 3.10 0. 00 1.50 16.0 0.0 0.0 16.0| 76,077.0|7 77" DELES
159. 8 68 ~  159.8 84 6. 50 3. 20 1. 50
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HOGE | A o | o | B OF | B K | hexra & T A it 7 G
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MR B2 Uk v 1L 6. 50 3.10 0. 00 1. 50 8.0 0.0 0.0 g.0| 76,0807 77" DEES
159. 8 84 ~  159.8 92 6. 50 1.90 1. 50

MR B2 Uk v 1 L1 6. 50 3.10 0. 00 1. 50 4.0 0.0 0.0 4.0  76,089.0 TAT T v N
159. 8 92 ~  159.8 96 6. 50 3.00 1. 50

MRt B2 Rk sy L1 6. 50 3.10 0. 00 1.50 15.0 0.0 0.0 15.0[  76,104.0 TAZ T v
159. 8 96 ~  159.9 0 6. 50 3.00 1. 50

MRt B2 U sy 1 L1 7T 6. 50 3.30 0. 00 1. 50 18.0 0.0 0.0 18.0| 76, 122.0|7 77" DELES
159.9 0~  159.9 18 6. 50 3.70 1. 50

st B2 U v 1 L1 7T 6. 50 3. 30 0. 00 1. 50 5.0 0.0 0.0 5.0 76, 127.0|7 %7 7" DEEES
159.9 18 ~  159.9 23 6. 50 3.00 1. 50

I B L (L o 6. 50 2. 90 0. 00 1.50 27.0 0.0 0.0 a7.0| 76,150, 0|7 X7 7V MR
159.9 23 ~  159.9 50 6. 50 3.00 1. 50

ek B YR vy (L1 77 6. 50 2. 90 0. 00 1.50 28.0 0.0 0.0 28.0[ 76,182.0 TAT T v N
159.9 50 ~  159.9 78 6. 50 3.10 1. 50

I B IR (L T 6. 50 2. 90 1.50 1.00 9.0 0.0 0.0 9.0| 76 191.0|7 27 7/¥ M
159.9 78 ~  160.0 0 6. 50 3.10 0.59

ek B UL vy (L 7 6. 50 3. 10 1.50 1.00 108.0 0.0 0.0 108.0|  76,299.0 TAZ T v M
160. 0 0~  160.1 8 6. 50 3. 20 0.59

MR B2 Uk vy 1 L1 T 6. 50 3.10 0. 00 1. 00 99.0 0.0 0.0 99.0| 76,398.0” 77" DELES
160. 1 8 ~  160.2 6 6. 50 3. 20 0.59

MR B2 Uk v 1 L1 6. 50 2. 60 0. 00 1. 00 14. 0 0.0 0.0 14.0|  76,412.0 TAT T v N
160. 2 6~  160.2 20 6. 50 3. 20 0.59

MR B2 Rk sy 1 L1 6. 50 3.20 0. 00 1.00 45.0 0.0 0.0 45.0|  76,457.0 TAZ T N
160. 2 20 ~  160.2 65 6. 50 3. 20 0.59

MRt B2 Uk sy 1 L1 7T 6. 50 3. 20 1. 50 2.35 74.0 0.0 0.0 74.0|  76,531.0 TAT T
160. 2 65 ~  160.3 42 6. 50 3. 20 0.48
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e B IR v 6. 50 3. 20 0. 35.0 0.0 35. 76, 566. 0 TAT T v MR
160. 3 160. 6. 3. 20 0.

MR B2 Uk v 1 L1 6. 4. 30 0. 6.0 0.0 6. 76, 572.0 TAT T v N
160. 3 160. 6. 3. 20 0.

MRt B2 Rk sy L1 6. 4. 30 0. 14.0 0.0 14. 76, 586. 0 TAZ T v
160. 3 160. 6. 3. 30 0.

MRt B2 U sy 1 L1 7T 6. 3.20 0. 15. 0 0.0 15. 76, 601. 0 TAZ T
160. 3 160. 6. 3.20 0.

Mgty B YR v L 7T 6. 3.20 0. 87.0 0.0 87. 76, 688. 0 TAT T v
160. 4 160. 6. 3. 30 0.

I B L (L o 6. 3. 20 0. 108. 0 0.0 108. 76,796, 0| X7 7V MR
160. 5 160. 6. 3.00 0.

I B IR (L T 6. 3. 20 0. 101. 0 0.0 101. 76,897, 0|7 A7 7V MR
160. 6 160. 6. 3.00 1.

I B IR (L T 6. 3. 20 0. 133.0 0.0 133. 77,030, 0 7 7V PR
160. 7 160. 6. 3. 20 1.

ek B UL vy L 7 6. 3. 20 0. 17.0 0.0 17. 77,047.0 TAZ T v M
160. 8 160. 6. 3.00 1.

MR B2 Uk v 1L 6. 3.20 0. 86. 0 0.0 86. 77,133.0 TAZ T v
160. 8 160. 6. 3.00 0.

MR B2 Uk v 1L 6. 3.20 0. 16. 0 0.0 16. 77, 149. 0 TAT T v N
160. 9 160. 6. 3.00 0.

MR B2 Rk sy L 6. 3.20 0. 121.0 0.0 121. 77,270.0 TAZ T N
160. 9 161. 6. 3.10 0.

MRt B2 U sy 1 L1 7T 6. 2. 30 0. 21.0 0.0 21. 77,291. 0 TAT T
161. 0 161. 6. 3.10 0.
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g = HE e
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HOGE | A o | o | B OF | B K | hexra & T A it 7 G
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MR B2 Uk v 1L 6. 50 2. 50 1. 50 0.25 43.0 0.0 0.0 a3.0| 77,3340 7TV DEES
161. 1 0~ 161.1 43 6. 50 3.10 0.77

MR B2 Uk v 1 L1 6. 50 2. 50 1. 50 0.25 89.0 0.0 0.0 89.0|  77,423.0 TAT T v N
161. 1 43 ~  161.2 32 6. 50 3.00 0.77

MRt B2 Rk sy L1 6. 50 2.30 1.50 0.25 11.0 0.0 0.0 11.0[  77,434.0 TAZ T
161.2 32 ~  161.2 43 6. 50 3.00 0.77

MRt B2 U sy 1 L1 7T 6. 50 2.30 0. 00 0.32 35.0 0.0 0.0 35.0|  77,469.0|7 77" DELES
161.2 43 ~  161.2 78 6. 50 3.00 0.51

st B2 U v 1 L1 7T 6. 50 2.30 0. 00 0.32 46.0 0.0 0.0 46.0|  77,515.0|7 7TV DEEES
161.2 78 ~  161.3 30 6. 50 3.10 0.51

I B IR (L o 6. 50 3.10 0. 00 0.32 9.0 0.0 0.0 9.0| 77,524.0|7 *7 7 /v MR
161.3 30 ~  161.3 39 6. 50 3.10 0.51

ek B VR vy (L1 77 6. 50 3.10 1.50 0.70 214.0 0.0 0.0 214.0  77,738.0 TAT T v N
161.3 39 ~  161.5 56 6. 50 3.10 0.75

ek B VL vy (L1 77 6. 50 3.10 0. 00 0.57 42.0 0.0 0.0 42.0(  77,780.0 TAT TV M
161.5 56 ~  161.6 0 6. 50 3.10 0.50

ek B UL vy (L 7 6. 50 3. 10 0. 00 0.57 109.0 0.0 0.0 109.0|  77,889.0 TAZ T v M
161. 6 0~  161.7 0 6. 50 3. 20 0.50

MR B2 Uk vy 1L T 6. 50 3.20 0. 00 0.57 57.0 0.0 0.0 57.0|  77,946.0|7 7 7Y DELES
161.7 0~  161.7 57 6. 50 3. 20 0.50

MR B2 Uk v 1 L 6. 50 3.20 1. 50 0. 45 200. 0 0.0 0.0 200.0|  78,146.0 TAT T v N
161.7 57 ~  161.9 63 6. 50 3. 20 0.83

MR B2 Rk sy L 6. 50 3.20 0. 00 0. 44 40. 0 0.0 0.0 40.0|  78,186.0 TAZ T N
161.9 63 ~  162.0 0 6. 50 3. 20 0.30

MRt B2 Uk sy 1 L1 7T 6. 50 3. 20 0. 00 0. 44 200. 0 0.0 0.0 200.0| 78,386.0|7 77" DELES
162. 0 0~  162.2 0 6. 50 3.10 0.30
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e B IR v 7. 3.30 0. 18.0 0.0 18. 78, 404. 0 TAT T v MR
162. 2 162. 18 7. 4. 00 1.

MR B2 Uk v 1 L1 7. 3.50 0. 32.0 0.0 32. 78, 436. 0 TAT T v N
162. 2 162. 50 7. 4. 00 1.

MRt B2 Rk sy L1 7. 3.50 0. 21.0 0.0 21. 78, 457.0 TAZ T v
162. 2 162. 71 7. 4. 00 1.

MRt B2 U sy 1 L1 7T 7. 3.50 0. 23.0 0.0 23. 78, 480. 0 TAZ T
162. 2 162. 0 7. 4. 00 1.

MRt B YR v L T 7. 3.50 0. 59. 0 0.0 59. 78, 539.0 TAT T v
162. 3 162. 59 7. 4. 00 1.

I B IR (L o 7. 3. 50 0. 51.0 0.0 51. 78,590, 0|~ X7 7V MR
162. 3 162. 13 7. 4. 00 1.

I B IR (L T 7. 3. 50 1. 15.0 0.0 15. 78, 605, 0|~ X7 7V MR
162. 4 162. 28 7. 4. 00 0.

I B IR (L T 7. 3. 50 1. 15.0 0.0 15. 78, 620, 0| 7 7V MR
162. 4 162. 43 7. 4. 00 0.

ek B UL vy (L 7 7. 3. 50 1. 8.0 0.0 8. 78, 628.0 TAZ T v M
162. 4 162. 51 7. 4. 00 1.

MR B2 Uk v 1L T 7. 3.50 1. 11.0 0.0 11. 78, 639. 0 TAZ T v
162. 4 162. 62 7. 4. 00 0.

MR B2 Uk v 1 L 7. 3.50 0. 2.0 0.0 2. 78, 641. 0 TAT T v N
162. 4 162. 64 7. 4. 00 0.

MR B2 Rk sy 1 L1 7. 3.50 1. 28.0 0.0 28. 78, 669. 0 TAZ T N
162. 4 162. 92 7. 4. 00 1.

MRt B2 Uk sy 1 L1 7T 7. 3.50 1. 241.0 0.0 241. 78,910. 0 TAT T
162. 4 162. 28 7. 4. 00 1.
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e B IR v 7. 3. 50 1. 230.0 0.0 0. 230. 79, 140. 0 TAT T v MR
162. 7 162. 7. 4. 00 1.

MR B2 Uk v 1 L1 7. 3.50 1. 176. 0.0 0. 176. 79, 316. 0 TAT T v N
162. 9 163. 7. 4. 00 1.

MR B2 Rk s L1 7. 3.50 1. 0. 0.0 80. 80. 79, 396. 0 TAZ T v
163. 1 163. 7. 3.00 1.

MRt B2 U sy 1 L1 7T 7. 3.50 1. 0. 0.0 10. 10. 79, 406. 0 TAZ T
163. 2 163. 7. 0. 00 1.

MRt B YR v L 7T 7. 3.50 1. 0. 0.0 7. 7. 79,413.0 TAT T v
163.2 163. 7. 0.00 1.

I B IR (L o 7. 3. 50 0. 0. 0.0 119, 119. 79,532, 0|7 27 7V MR
163. 2 163. 7. 0.00 0.

I B IR (L T 7. 3. 50 0. 0. 0.0 58. 58. 79,590, 0 7 %7 7V M
163.3 163. 7. 0. 00 0.

I B IR (L T 7. 0. 00 0. 0. 0.0 191 191. 79,781, 0| 7 7V MR
163. 4 163. 7. 0. 00 0.

et B UL vy (L 7 7. 0. 00 1. 121. 0.0 0. 121. 79, 902. 0 TAZ T v M
163. 5 163. 7. 0. 00 1.

MR B2 Uk s 1L 7. 0. 00 1. 358. 0.0 0. 358. 80, 260. 0 TAZ T v
163.7 164. 7. 0. 00 1.

MR B2 Uk v 1 L1 T 3. 0. 00 1. 105. 0.0 0. 105. 80, 365. 0 TAT T v N
164. 0 164. 7. 0. 00 1.

MR B2 Rk sy L1 3. 0. 00 1. 60. 0.0 0. 60. 80, 425. 0 TAZ T N
164. 1 164. 7. 0. 00 1.

MRt B2 U sy 1 L1 7T 3. 0. 00 1. 121. 0.0 0. 121. 80, 546. 0 TAT T
164. 2 164. 3. 0. 00 1.
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m

MR B2 Uk v 1L 3.50 0. 00 2.00 1. 189.0 0.0 0. 189. 80, 735.0|7 7 7Y DEES
164.3 53 164. 3.50 0. 00 1.

MR B2 Uk v 1 L1 3.50 0. 00 2. 00 1. 0. 0.0 36. 36. 80, 771. 0 TAT T v N
164.5 42 164. 3.50 0. 00 1.

MRt B2 Rk sy L1 3.50 0. 00 0. 00 1. 83. 0.0 0. 83. 80, 854. 0 TAZ T v
164.5 78 164. 3.50 0. 00 1.

ez R VR v 1L 7 3.50 0. 00 0. 00 1. 0.0| 3,258.0 0. 3, 258. 84,112,077 U M
164.6 62 167. 3. 50 0. 00 1.

MRty B YR v L 7T 3.50 0. 00 0. 00 1. 440. 0.0 0. 440. 84, 552. 0|~ w7 = M
167.9 21 168. 3. 50 0. 00 1.

I B IR (L o 3. 50 0. 00 0. 00 1. 12. 0.0 0. 12. 84,564, 0| 7 7V MR
168.3 34 168. 3. 50 0. 00 1.

I B IR (L T 3. 50 0. 00 0. 00 1. 64. 0.0 0. 64. 84, 628, 0|~ * 7 7V M
168.3 46 168. 3. 50 2. 50 1.

I B IR (L T 3. 25 0. 00 0. 00 1. 103. 0.0 0. 103. 84,731, 0| 7 7V Pl
168. 4 169. 3.25 2. 50 1.

ek B UL vy (L 3.25 0. 00 0. 00 0. 202. 0.0 0. 202. 84, 933.0 TAZ T v M
169. 5 169. 3.25 2. 80 0.

MRt B2 Uk s 1 L 3.25 0. 00 0. 00 0. 101. 0.0 0. 101. 85, 034. 0 TAZ T v
169. 7 169. 3.25 2. 80 0.

MR B2 Uk v 1 L1 3.25 0. 00 0. 00 0. 103. 0.0 0. 103. 85, 137. 0 TAT T v N
169. 8 169. 3.25 2. 70 0.

MR B2 Rk sy 1 L1 3.25 0. 00 0. 00 0. 204. 0.0 0. 204. 85,341.0 TAZ T N
169. 9 170. 3.25 2. 70 0.

MRt B2 U sy 1 L1 7T 3.25 0. 00 0. 00 0. 293. 0.0 0. 293. 85, 634. 0 TAT T
170. 1 170. 3.25 2.70 0.

71 -
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g = HE e
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HOGE | A o | o | B OF | B K | hexra & T A it 7 G
m

MR B2 Uk v 1L 3.50 0. 00 0. 00 1. 50 0.0 0.0 36. 0 36.0| 85,670,017 77" DEES
170.3 93 ~  170.4 26 3.50 2.75 0.75

MR B2 Rk v 1 L1 3.25 0. 00 0. 00 1. 50 80. 0 0.0 0.0 80.0| 85, 750.0 TAT T v N
170. 4 26 ~  170.5 5 3.25 2. 70 1. 50

MRt B2 Rk s L1 3.25 0. 00 0. 00 2.25 137.0 0.0 0.0 137.0|  85,887.0 TAZ T v
170. 5 5~ 170.6 40 3.25 2. 70 2.25

MRt B2 U sy 1 L1 7T 3.25 0. 00 0. 00 1. 50 63.0 0.0 0.0 63.0| 85,9500 77" DELES
170. 6 40 ~  170.7 0 3.25 2. 70 1. 50

st B2 U v 1 L1 7T 3.25 0. 00 0. 00 0.75 103.0 0.0 0.0 103.0|  86,053.0|7 77" DEEES
170.7 0~ 170.8 0 3.25 2. 70 0.75

I B IR (L o 3. 25 0. 00 0. 00 0.75|  100.0 0.0 0.0 100.0| 86,153, 0|7 X7 7V M=
170. 8 0~ 170.9 0 3.25 3.00 0.75

ek B UL vy (L1 77 3.25 0. 00 0. 00 0.75 266. 0 0.0 0.0 266.0|  86,419.0 TAT T v N
170.9 0~ 171.1 60 3.25 3.00 0.75

et B VL vy (L1 77 3.25 0. 00 0. 00 1.50 53.0 0.0 0.0 53.0|  86,472.0 TAT TV M
171. 1 60 ~  171.2 10 3.25 3.00 1. 50

ek B UL vy L 7 3.25 0. 00 0. 00 2.25 85.0 0.0 0.0 85.0| 86,557.0 TAZ T v M
171.2 10 ~  171.2 95 3.25 3.00 2.25

MR B2 Uk v 1L 3.25 0. 00 0. 00 1. 50 73.0 0.0 0.0 73.0|  86,630.07 77" DELES
171.2 95 ~  171.3 52 3.25 2. 80 1. 50

MR B2 Uk v 1L 3.25 0. 00 0. 00 1. 50 0.0 0.0 142.0 142.0]  86,772.0 TAT T v N
171.3 52 ~  171.4 98 3.25 2.75 0.75

MR B2 Wk s L1 3.25 0. 00 0. 00 0.75 52.0 0.0 0.0 52.0|  86,824.0 TAZ T N
171.4 98 ~  171.5 48 3.25 2. 70 0.75

MRt B2 U sy 1 L1 7T 3.25 0. 00 0. 00 0.75 56.0 0.0 0.0 56.0| 86,880.0]7 77" DELES
171.5 48 ~  171.6 4 3.25 3.00 0.75
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e B IR v 3.25 0. 00 0. 174.0 0.0 174. 87, 054. 0 TAT T v MR
171.6 171. 3.25 0. 00 0.

IRz . I 3.25 3.70 1. 4. 0.0 4. 87,058.0|7 *7 7" DELES
171.7 171. 3.25 0. 00 1.

MRt B2 Rk sy L1 3.25 3.70 1. 67. 0.0 67. 87,125.0 TAZ T
171.7 171. 3.25 3.70 1.

MRt B2 U sy 1 L1 7T 3.25 3.70 2. 41. 0.0 41. 87, 166. 0 TAZ T
171.8 171. 3.25 3.70 2.

MRty B YR v L 7T 3.25 3.70 2. 110. 0.0 110. 87, 276. 0|~ w7 = M
171.8 172. 3.25 3.70 2.

(AENESIN - O 3. 50 4. 00 1. 300. 0.0 300. 87, 576. 0|~ w7 U= M
172.0 172. 3.50 4. 00 1.

ek B AL FRE i 77 3. 50 4. 00 1. 335. 0.0 335. 87,911. 0|~ w7 U= M
172.3 172. 3.50 4. 00 1.

et B VAL FRE it 77 3. 50 4. 00 2. 105. 0.0 105. 88, 016. 0|~ w7 U= MR
172. 6 172. 3.50 4. 00 1.

et B VLR i 3. 50 4. 00 1. 260. 0.0 260. 88, 276. 0 w7 U= MR
172.7 173. 3.50 4. 00 1.

MRt B2 UL 7R Bt 3.50 4. 00 1. 285. 0.0 285. 88, 561. 0 w7 U M
173.0 173. 3.50 4. 00 1.

MR B2 UL 7R It 7 3.50 4. 00 1. 105. 0.0 105. 88, 666. 0| w7 U= M
173.2 173. 3.50 4. 00 1.

MRt B2 UL 7R Bt 7 3.50 4. 00 1. 145. 0.0 145. 88,811.0[ w7 U M
173.3 173. 3.50 4. 00 1.

MRt B2 UL RSB 77 3.50 4. 00 3. 257. 0.0 257. 89, 068. 0| ~ 7 U= b
173.5 173. 3.50 4. 00 1.
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MRt B2 UL 7R It 3.50 4. 00 0.00 1.50 204. 0 0.0 0.0 204.0| 89, 272.0[" w7 U M
173.7 92 ~  173.9 96 3.50 4. 00 1. 50

IR B2 UL 7R It 7 3.50 3.50 0. 00 1. 50 193.0 0.0 0.0 193.0  89,465.0 " v 7 U= M
173.9 96 ~  174.1 88 3.50 4. 00 1. 50

MRt B2 UL 7R Bt 7 3.50 3.50 0.00 1.50 43.0 0.0 0.0 43.0[  89,508.0 TAZ T v
174. 1 88 ~  174.2 31 3.50 4. 00 1. 50

MRt B2 UL ARSI 77 3.25 3.50 0. 00 1. 10 84.0 0.0 0.0 84.0|  89,592.0 TAZ T
174. 2 31 ~  174.3 4 3.25 4. 00 1. 10

MRt E. VL FRE i 77 3.25 3.50 0. 00 1.10 14.0 0.0 0.0 14.0 89, 606.0 TAT T v
174.3 4~  174.3 18 3.25 4. 80 1. 10

I B2 LS B 3. 25 3. 50 0. 00 1.10 69. 0 0.0 0.0 69.0| 89,675 0|7 X7 7V MR
174.3 18 ~  174.3 87 3.25 3.50 1. 10

I 3 LR T 3. 25 3. 50 0. 00 1.10 13.0 0.0 0.0 13.0| 89,688 0|7 *7 7/v M
174.3 87 ~  174.4 0 3.25 4. 50 1. 10

et B VAL FRE it 77 3.25 3.50 0.00 1.10 100.0 0.0 0.0 100.0|  89,788.0 TAT TV M
174. 4 0~ 174.5 0 3.25 4. 10 1. 10

et B VLR i 3.25 3.00 0.00 1.10 93.0 0.0 0.0 93.0[ 89,881.0 TAZ T v M
174.5 0~  174.5 93 3.25 4. 10 1. 10

MRt B2 UL 7R It 3.25 3.00 0.00 1.25 11.0 0.0 0.0 11.0] 89,892.0 TAZ T v
174.5 93 ~  174.6 0 3.25 4. 10 1. 50

MR B2 UL 7R Bt 7 3.25 3.00 0. 00 1.25 100. 0 0.0 0.0 100.0[  89,992.0 TAT T v N
174. 6 0~  174.7 0 3.25 4. 10 1. 50

MRt B2 UL 7R Bt 7 3.25 2.70 0.00 1.25 18.0 0.0 0.0 18.0]  90,010.0 TAZ T N
174. 7 0~  174.7 18 3.25 4. 00 1. 50

MRt B2 UL ARSI 77 3.25 2. 70 0. 00 1.25 47.0 0.0 0.0 47.0] 90, 057.0 TAT T
174. 7 18 ~  174.7 65 3.25 4. 00 1. 50
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MRt B2 UL 7R It 3.25 2.70 0.00 1.25 47.0 0.0 0.0 47.0(  90,104.0 TAT T v MR
174.7 65 ~  174.8 12 3.25 2. 50 1. 50

IR B2 UL 7R It 7 3.25 2. 70 0. 00 1.25 7.0 0.0 0.0 7.0 90,111.0 TAT T v N
174.8 12~  174.8 19 3.25 2. 00 1. 50

MRt B2 UL R It 7 3.25 2.00 0.00 0. 50 0.0 0.0 148.0 148.0[  90,259.0 TAZ T v
174.8 19~  174.9 67 3.25 2. 00 0.50

MRt B2 UL ARSI 77 3.25 2. 10 0. 00 1.25 13.0 0.0 0.0 13.0]  90,272.0 TAZ T
174.9 67 ~  174.9 80 3.25 2.50 1.25

Mgt E. VL FRE i 77 3.25 2.80 0.00 1.25 15.0 0.0 0.0 15.0]  90,287.0 TAT T v
174.9 80 ~  174.9 95 3.25 2.50 1.25

I B2 UL B 3. 25 2. 80 0. 00 1.25 20. 0 0.0 0.0 20.0| 90,307, 0|7 X7 7V MR
174.9 95 ~  175.0 0 3.25 3.00 1.25

ek B VAL FRE i 77 3.25 3.50 0. 00 1.25 76.0 0.0 0.0 76.0 90, 383.0 TAT T v N
175. 0 0~ 175.0 76 3.25 3.00 1.25

Iy 5 ST B 3. 25 3. 50 0. 00 1.25 4.0 0.0 0.0 20| 90 387.0|7 27 7Y M
175. 0 76 ~  175.0 80 3.25 4. 00 1.25

et B VLR i T 3.25 3.50 0.00 1.25 73.0 0.0 0.0 73.0 90, 460. 0 TAZ T v M
175.0 80 ~  175.1 53 3.25 4. 00 1.25

MRt B2 UL 7R It 3.25 3.50 0.00 1.25 10.0 0.0 0.0 10.0| 90, 470.0 TAZ T v
175. 1 53 ~  175.1 63 3.25 3.50 1.25

MR B2 UL 7R Bt 7 3.25 3.50 0. 00 1.25 20.0 0.0 0.0 20.0| 90, 490.0 TAT T v N
175. 1 63 ~  175.1 83 3.25 4. 00 1.25

MR B2 UL 7R Bt 7 3.25 3.50 0.00 1.25 2.0 0.0 0.0 2.0[ 90,492.0 TAZ T N
175. 1 83 ~  175.1 85 3.25 3.50 1.25

MRt B2 UL ARSI 77 3.25 2. 70 0. 00 1.25 3.0 0.0 0.0 3.0]  90,495.0 TAT T
175. 1 85 ~  175.1 88 3.25 3. 50 1.25
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MRt B2 UL 7R It 3.25 2.70 0.00 1.25 66. 0 0.0 0.0 66.0[  90,561.0 TAT T v MR
175. 1 88 ~  175.2 54 3.25 4. 00 1.25

IR B2 UL 7R It 7 3.25 3.20 0. 00 1.25 6.0 0.0 0.0 6.0  90,567.0 TAT T v N
175. 2 54 ~  175.2 60 3.25 4. 00 1.25

MRt B2 UL R It 7 3.25 3.20 0.00 1.25 272.0 0.0 0.0 272.0 90, 839.0 TAZ T v
175. 2 60 ~  175.5 35 3.25 4. 00 1.25

MRt B2 UL RS B 77 3.25 3.20 0. 00 1. 50 2.0 0.0 0.0 2.0l 90,841.0 TAZ T
175.5 35 ~  175.5 37 3.25 4. 00 1. 50

Mgt E. VL FRE i 77 3.25 2.80 0.00 1.50 5.0 0.0 0.0 5.0 90, 846.0 TAT T v
175.5 37 ~  175.5 42 3.25 4. 00 1. 50

I B2 UL B 3. 25 2. 80 0. 00 1.50 3.0 0.0 0.0 5.0 90,849, 0|7 X7 7Y M
175.5 42 ~  175.5 45 3.25 4. 00 1. 50

I 3 LR T 3. 25 2. 80 0. 00 1.50 2.0 0.0 0.0 9.0 90,8510 77 7 /v M
175.5 45 ~  175.5 47 3.25 4. 00 1. 50

et B VAL FRE it 77 3.25 4.00 0.00 1.50 13.0 0.0 0.0 13.0]  90,864.0 TAT TV M
175.5 47 ~  175.5 60 3.25 3.90 1. 50

et B VLR i 3.25 4.00 0.00 1.50 15.0 0.0 0.0 15.0]  90,879.0 TAZ T v M
175.5 60 ~  175.5 75 3.25 3.90 1. 50

MRt B2 UL 7R It 3.25 4. 00 0.00 1.50 7.0 0.0 0.0 7.0  90,886.0 TAZ T v
175.5 75 ~  175.5 82 3.25 3.90 1. 50

MR B2 UL 7R It 7 3.25 4. 00 0. 00 1. 50 13.0 0.0 0.0 13.0] 90, 899.0 TAT T v N
175.5 82 ~  175.5 95 3.25 3.10 1. 50

MR B2 UL 7R Bt 7 3.25 4. 00 0.00 1.50 143.0 0.0 0.0 143.0[  91,042.0 TAZ T N
175.5 95 ~  175.7 42 3.25 4. 00 1. 50

MRt B2 UL ARSI 77 3.25 4. 00 0. 00 1. 50 20. 0 0.0 0.0 20.0| 91, 062.0 TAT T
175. 7 42 ~  175.7 62 3.25 4. 00 1. 50
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MRt B2 UL 7R It 3.25 4. 00 0.00 1.50 33.0 0.0 0.0 33.0]  91,095.0 TAT T v MR
175. 7 62 ~  175.8 1 3.25 4. 00 1. 50

IR B2 UL 7R It 7 3.25 3.20 0. 00 1. 50 3.0 0.0 0.0 3.0  91,098.0 TAT T v N
175. 8 1~  175.8 4 3.25 4. 00 1. 50

MRt B2 UL R It 7 3.25 3.20 0.00 1.25 9.0 0.0 0.0 9.0 91,107.0 TAZ T v
175. 8 4 ~  175.8 13 3.25 3.20 1.25

MR B2 UL ARSI 77 3.25 2. 90 0. 00 1.25 24.0 0.0 0.0 24.0|  91,131.0 TAZ T
175.8 13~  175.8 37 3.25 3.30 1.25

Mgt E. VL FRE i 77 3.25 2.80 0.00 1.25 528. 0 0.0 0.0 528.0[  91,659.0 TAT T v
175. 8 37 ~  176.3 66 3.25 3.00 1.25

I B2 UL B 3. 25 2. 40 0. 00 1.25 0.0 0.0 3.0 5.0 91,662 0|7 X7 7Y M
176. 3 66 ~  176.3 69 3.25 2. 30 1. 00

I 3 LR T 3. 25 2. 40 0. 00 1.25 0.0 0.0 11.0 11.0| 91,6730 27 7/v MR
176. 3 69 ~  176.3 80 3.25 2. 30 1. 00

et B VAL FRE it 77 3.25 2.50 0.00 1.25 246. 0 0.0 0.0 246.0|  91,919.0 TAT TV M
176. 3 80 ~  176.6 20 3.25 2. 80 1.25

et B VLR i T 3.25 3.50 0.00 1.25 90. 0 0.0 0.0 90.0[  92,009.0 TAZ T v M
176. 6 20 ~  176.7 10 3.25 2. 80 1.25

MRt B2 UL 7R It 3.25 3.50 0.00 1.25 61.0 0.0 0.0 61.0[ 92,070.0 TAZ T v
176. 7 10~  176.7 71 3.25 2. 80 1.25

MR B2 UL 7R Bt 7 3.25 3.50 0. 00 1.25 43.0 0.0 0.0 43.0]  92,113.0 TAT T v N
176. 7 71 ~  176.8 14 3.25 2.30 1.25

MR B2 UL 7R Bt 7 3.25 3.50 0.00 1.25 96. 0 0.0 0.0 96.0[ 92,209.0 TAZ T N
176. 8 14 ~  176.9 10 3.25 0. 00 1.25

MRt B2 UL ARSI 77 3.25 3.50 0. 00 1.25 483.0 0.0 0.0 483.0|  92,692.0 TAT T
176.9 10~ 177.3 93 3.25 0. 00 1.25
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MRt B2 UL 7R It 3.25 3.50 0.00 1.25 48.0 0.0 0.0 48.0(  92,740.0 TAT T v MR
177.3 93 ~  177.4 41 6.25 0. 00 1.25

IR B2 UL 7R It 7 6. 25 2. 50 0. 00 1. 00 4.0 0.0 0.0 4.0 92,744.0 TAT T v
177. 4 41 ~  177.4 45 3.25 0. 00 1. 00

MRt B2 UL R It 7 6. 25 2. 50 0.00 1.00 41.0 0.0 0.0 41.0[  92,785.0 TAZ T v N
177. 4 45 ~  177.4 86 3.25 2. 50 1. 00

MRt B2 UL RS B 77 3.25 2.50 0. 00 1.25 50. 0 0.0 0.0 50.0[ 92,835.0 TAZ T
177. 4 86 ~  177.5 36 3.25 2. 50 1.25

Mgt E. VL FRE i 77 3.25 2.50 0.00 1.25 39.0 0.0 0.0 39.0( 92,874.0 TAT T v
177.5 36 ~  177.5 75 3.25 2. 50 1.25

I B2 UL B 3. 25 2. 50 0. 00 1.25 15.0 0.0 0.0 15.0| 92,880 0|7 > 7 7/v MR
177.5 75 ~  1771.5 90 3.25 2. 50 1.25

et B AL FRE it 77 3.25 2. 50 0. 00 1.25 124.0 0.0 0.0 124.0[  93,013.0 TAT T v N
177.5 90 ~  177.7 14 3.25 2. 50 1.25

et B VAL FRE it 77 3.25 2.00 0.00 0.50 0.0 0.0 125.0 125.0| 93,138.0 TAT TV M
177.7 14 ~  171.8 39 3.25 2. 00 0.50

et B VLR i T 3.25 2. 50 0. 00 1.50 2.0 0.0 0.0 2.0 93,140.0 TAZ T v M
177.8 39 ~  177.8 41 3.25 2. 00 1. 50

MRt B2 UL 7R It 3.25 2. 60 0.00 1.50 28.0 0.0 0.0 28.0[ 93,168.0 TAZ T v
177.8 41 ~  177.8 69 3.25 2. 50 1. 50

MR B2 UL 7R Bt 7 3.25 2. 30 0. 00 1. 50 42.0 0.0 0.0 42.0|  93,210.0 TAT T v N
177.8 69 ~  177.9 11 3.25 2.30 1. 50

MR B2 UL 7R Bt 3.25 2.50 0.00 1.50 22.0 0.0 0.0 22.0[ 93,232.0 TAZ T N
177.9 11~  177.9 33 3.25 2. 30 1. 50

st B2 UL ARSI 77 3.25 2. 50 0. 00 1. 00 0.0 0.0 17.0 17.0]  93,249.0 TAT T
177.9 33 ~  177.9 50 3.25 2. 40 1. 00
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MRt B2 UL 7R It 3.25 2. 50 0.00 0.75 227.0 0.0 0.0 227.0| 93, 476.0 TAT T v MR
177.9 50 ~  178.1 77 3.25 2. 40 0.75

IR B2 UL 7R It 7 3.25 2. 50 0. 00 0.75 24.0 0.0 0.0 24.0|  93,500.0 TAT T v N
178. 1 77 ~  178.2 0 3.25 2. 40 0.75

MRt B2 UL R It 7 3.25 2.50 0.00 0.75 60. 0 0.0 0.0 60.0[  93,560.0 TAZ T v
178. 2 0~ 178.2 60 3.25 2. 60 0.75

MRt B2 UL ARSI 77 3.25 2. 90 0. 00 0.75 36. 0 0.0 0.0 36.0[  93,596.0 TAZ T
178. 2 60 ~  178.3 0 3.25 2. 60 0.75

Mgt F. VL FRE i 77 3.25 2.90 0. 00 0.75 301.0 0.0 0.0 301.0[ 93,897.0 TAT T v
178.3 0~ 178.5 0 3.25 2. 60 0.75

I B2 LS B 3. 25 2. 90 0. 00 0.75|  432.0 0.0 0.0 432.0| 04,320 0|7 F7 7V MR
178.5 0~ 178.9 32 3.25 3.00 0.75

ek B AL FRE i 77 3.25 2. 90 0. 00 0.75 67.0 0.0 0.0 67.0[ 94,396.0 TAT T v N
178.9 32 ~  179.0 0 3.25 3.00 0.75

et B VAL FRE it 77 3.25 2.50 0.00 0.70 47.0 0.0 0.0 47.0|  94,443.0 TAT TV M
179. 0 0~ 179.0 47 3.25 2. 50 0.70

et B VLR i 3.25 2.30 0.00 0.70 6.0 0.0 0.0 6.0  94,449.0 TAZ T v M
179. 0 47 ~  179.0 53 3.25 2. 50 0.70

MRt B2 UL 7R It 3.25 2.30 0.00 0.70 17.0 0.0 0.0 17.0] 94, 466.0 TAZ T v
179. 0 53 ~  179.0 70 3.25 2. 50 0. 80

MR B2 UL 7R Bt 7 3.25 3.00 0. 00 0.70 14. 0 0.0 0.0 14.0| 94, 480.0 TAT T v N
179. 0 70 ~  179.0 84 3.25 2. 50 0.80

MR B2 UL 7R Bt 7 3.25 3. 00 0.00 0.70 96. 0 0.0 0.0 96.0[ 94,576.0 TAZ T N
179.0 84 ~  179.1 84 3.25 2. 40 0.80

MRt B2 UL ARSI 77 3.25 3.00 0. 00 0.70 50. 0 0.0 0.0 50.0[  94,626.0 TAT T
179. 1 84 ~  179.2 34 3.25 3.30 0. 80

_79_




80 / 109 ~—¥

i
=
A
o
I

AR+ 0041 158
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MRt B2 UL 7R It 3.25 3.00 0.00 0.70 72.0 0.0 0.0 72.0 94, 698.0 TAT T v MR
179. 2 34 ~  179.3 2 3.25 2. 50 0. 80

IR B2 UL 7R It 7 3.25 3.00 0. 00 0.70 53.0 0.0 0.0 53.0| 94,751.0 TAT T v N
179. 3 2 ~ 179.3 55 3.25 2. 80 0.80

MRt B2 UL R It 7 3.25 3. 00 0.00 0. 60 40.0 0.0 0.0 40.0[  94,791.0 TAZ T
179. 3 55 ~  179.3 95 3.25 2. 80 0.80

MRt B2 UL ARSI 77 3.25 3.00 0. 00 0. 60 46.0 0.0 0.0 46.0|  94,837.0 TAZ T
179. 3 95 ~  179.4 40 3.25 1. 80 0. 80

Mgt F. VL FRE i 77 3.25 1.90 0. 00 0. 40 8.0 0.0 0.0 8.0 94,845.0 TAT T v
179. 4 40 ~  179.4 48 3.25 1. 80 0.70

I B2 LS B 3. 25 1.90 0. 00 0. 40 51.0 0.0 0.0 51.0] 94,806, 0| *7 7V MR
179. 4 48 ~  179.5 0 3.25 1. 90 0.70

ek B AL FRE i 77 3.25 3. 40 0. 00 0. 40 145.0 0.0 0.0 145.0[  95,041.0 TAT T v N
179.5 0~ 179.6 45 3.25 2. 10 0.70

et B VAL FRE it 77 3.25 3. 40 0.00 0.65 98.0 0.0 0.0 98.0|  95,139.0 TAT TV M
179. 6 45 ~  179.7 41 3.25 2. 10 0.75

et B VLR i 3.25 3.40 0.00 0.65 252.0 0.0 0.0 252.0  95,391.0 TAZ T v M
179. 7 41 ~  180.0 0 3.25 1. 90 0.75

MRt B2 UL 7R It 3.25 2.90 0.00 0. 60 103.0 0.0 0.0 103.0[  95,494.0 TAZ T v
180. 0 0~  180.1 0 3.25 1. 80 0. 60

MR B2 UL 7R It 7 3.25 2. 10 0. 00 0.95 137.0 0.0 0.0 137.0[  95,631.0 TAT T v N
180. 1 0~  180.2 34 3.25 2. 60 2.75

MRt B2 UL 7R Bt 3.25 1.70 0.00 0.70 0.0 0.0 5.0 5.0 95,636.0 TAZ T N
180. 2 34 ~  180.2 39 3.25 2. 10 0.70

st B2 UL ARSI 77 3.25 1.70 0. 00 0. 90 20. 0 0.0 0.0 20.0| 95, 656.0 TAT T
180. 2 39 ~  180.2 59 3.25 2. 10 1. 10
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MRt B2 UL 7R It 3.25 1.70 0.00 0.90 120.0 0.0 0.0 120.0[  95,776.0 TAT T v MR
180. 2 59 ~  180.3 77 3.25 2. 60 1. 10

IR B2 UL 7R It 7 3.25 1. 60 0. 00 0. 90 39.0 0.0 0.0 39.0] 95,815.0 TAT T v N
180. 3 77 ~  180.4 16 3.25 2. 40 1. 10

MRt B2 UL R It 7 3.25 2.50 0.00 0.90 5.0 0.0 0.0 5.0  95,820.0 TAZ T v
180. 4 16 ~  180.4 21 3.25 2. 40 1. 10

MRt B2 UL ARSI 77 3.25 2.50 0. 00 0. 90 13.0 0.0 0.0 13.0]  95,833.0 TAZ T
180. 4 21 ~  180.4 34 3.25 3. 60 1. 10

Mgt F. VL FRE i 77 3.25 2.50 0. 00 0.90 6.0 0.0 0.0 6.0 95,839.0 TAT T v
180. 4 34 ~  180.4 40 3.25 2. 50 1. 10

I B2 LS B 3. 25 2. 50 0. 00 0.90 12.0 0.0 0.0 12.0| 95,851, 0|7 > 7 7/v MR
180. 4 40 ~  180.4 52 3.25 4. 40 1. 10

ek B AL FRE i 77 3.25 2. 50 0. 00 0. 90 94. 0 0.0 0.0 94.0[  95,945.0 TAT T v N
180. 4 52 ~  180.5 48 3.25 2. 70 1. 10

et B VAL FRE it 77 3.25 2.50 0.00 0.90 28.0 0.0 0.0 28.0|  95,973.0 TAT TV M
180. 5 48 ~  180.5 76 3.25 3.50 1. 10

et B VLR i 3.25 3.40 0.00 0.90 130.0 0.0 0.0 130.0[  96,103.0 TAZ T v M
180. 5 76 ~  180.7 10 3.25 2. 50 0.90

MRt B2 UL 7R It 3.25 3. 40 0.00 0.75 209. 0 0.0 0.0 209.0 96, 312.0 TAZ T v
180. 7 10 ~  180.9 16 3.25 2. 50 0.90

MR B2 UL 7R It 7 3.25 3. 40 0. 00 0.75 24.0 0.0 0.0 24.0| 96, 336.0 TAT T v N
180. 9 16 ~  180.9 40 3.25 2. 50 0.90

MRt B2 UL 7R Bt 3.45 2. 60 0.00 0.95 0.0 0.0 37.0 37.01  96,373.0 TAZ T N
180. 9 40 ~  180.9 77 3.45 2. 50 0.95

MRt B2 UL ARSI 77 3.25 2. 50 0. 00 0.75 142. 0 0.0 0.0 142.0[  96,515.0 TAT T
180. 9 77~ 181.1 20 3.25 2. 50 0.75
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MRt B2 UL 7R It 3.25 2. 50 0.00 0.75 362.0 0.0 0.0 362.0|  96,877.0 TAT T v MR
181. 1 20 ~  181.4 79 3.25 2. 50 0.95

IR B2 UL 7R It 7 3.25 2. 50 0. 00 0.75 35.0 0.0 0.0 35.0]  96,912.0 TAT T v N
181. 4 79 ~  181.5 14 3.25 0. 00 0.75

MRt B2 UL R It 7 3.25 3.50 0.00 0.75 164. 0 0.0 0.0 164.0[  97,076.0 TAZ T
181.5 14 ~  181.6 79 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 2. 50 0. 00 0.75 11.0 0.0 0.0 11.0|  97,087.0 TAZ T
181. 6 79 ~  181.6 90 3.25 0. 00 0.75

MRt E. VL FRE i 77 3.25 2.50 0. 00 1.02 0.0 0.0 18.0 18.0]  97,105.0 TAT T v
181. 6 90 ~  181.7 4 3.25 0. 00 1.02

I B2 LS B 3. 25 2. 90 0. 00 0. 80 27.0 0.0 0.0 a7.0| 97,130, 0|7 X7 7V MR
181. 7 4 ~  181.7 31 3.25 0. 00 2. 90

ek B AL FRE i 77 3.25 2. 90 0. 00 0. 80 76.0 0.0 0.0 76.0  97,208.0 TAT T v N
181. 7 31 ~  181.8 0 3.25 3.00 2.90

et B VAL FRE it 77 3.25 2.90 0.00 0. 80 54.0 0.0 0.0 54.0|  97,262.0 TAT TV M
181. 8 0~ 181.8 54 3.25 2. 80 2. 90

et B VLR i 3.25 2.90 0.00 0. 80 117.0 0.0 0.0 117.0[  97,379.0 TAZ T v M
181. 8 54 ~  181.9 76 3.25 2. 60 2.90

MRt B2 UL 7R It 3.25 2. 50 0.00 0. 80 24.0 0.0 0.0 24.0(  97,403.0 TAZ T v
181. 9 76 ~  182.0 0 3.25 2. 60 2.90

MR B2 UL 7R Bt 7 3.25 2. 50 0. 00 0. 80 107.0 0.0 0.0 107.0[  97,510.0 TAT T v N
182. 0 0~ 182.1 6 3.25 2. 70 2.90

MRt B2 UL 7R Bt 3.25 2.50 0.00 0. 80 57.0 0.0 0.0 57.0  97,567.0 TAZ T N
182. 1 6~  182.1 63 3.25 3.00 2.90

MRt B2 UL ARSI 77 3.25 2. 50 0. 00 0. 80 44. 0 0.0 0.0 44.0|  97,611.0 TAT T
182. 1 63 ~  182.2 0 3.25 3.00 2. 90
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MRt B2 UL 7R It 3.25 2. 50 0.00 0. 80 292. 0 0.0 0.0 292.0  97,903.0 TAT T v MR
182. 2 0~ 182.5 0 3.25 3.00 1. 30

IR B2 UL 7R It 7 3.25 2. 50 0. 00 0. 80 95.0 0.0 0.0 95.0|  97,998.0 TAT T v N
182.5 0~ 182.5 95 3.25 3.60 1. 30

MRt B2 UL R It 7 3.25 2.50 0.00 0. 50 8.0 0.0 0.0 8.0|  98,006.0 TAZ T v
182.5 95 ~  182.5 103 3.25 3.60 0.80

MRt B2 UL ARSI 77 3.25 2.50 0. 00 0.50 6.0 0.0 0.0 6.0 98,012.0 TAZ T
182.5 103 ~  182.6 0 3.25 3. 20 0. 80

Mgt E. VL FRE i 77 3.25 2.50 0.00 0. 50 60. 0 0.0 0.0 60.0|  98,072.0 TAT T v
182. 6 0~ 182.6 60 3.25 2. 10 0. 80

I B2 LS B 3. 25 2. 50 0. 00 0. 50 42.0 0.0 0.0 42.0| 98,114, 0|7 A7 7V MR
182. 6 60 ~  182.7 4 3.25 2. 70 0. 80

et B AL FRE it 77 3.25 2. 50 0. 00 0. 60 240. 0 0.0 0.0 240.0| 98, 354.0 TAT T v N
182. 7 4 ~  182.9 57 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 3. 00 0.00 0. 60 7.0 0.0 0.0 7.0  98,361.0 TAT TV M
182. 9 57 ~  182.9 64 3.25 0. 00 1. 00

et B VLR i 3.25 3.00 0.00 1.20 84.0 0.0 0.0 84.0[ 98,445.0 TAZ T v M
182. 9 64 ~  183.0 44 3.25 1. 60 1.15

MRt B2 UL 7R It 3.25 1.50 0.00 1.10 233.0 0.0 0.0 233.0  98,678.0 TAZ T v
183. 0 44 ~  183.2 75 3.25 1. 60 1. 20

IRt B2 UL 7R It 7 3.25 2. 70 0. 00 0.70 191.0 0.0 0.0 191.0[  98,869.0 TAT T v N
183. 2 75 ~  183.4 70 3.25 0. 00 0.90

MR B2 UL 7R Bt 3.25 2.70 0.00 0.90 131.0 0.0 0.0 131.0[  99,000.0 TAZ T N
183. 4 70 ~  183.6 0 3.25 0. 00 1. 50

st B2 UL ARSI 77 3.25 2. 40 0. 00 0. 90 92.0 0.0 0.0 92.0| 99, 092.0 TAT T
183. 6 0~  183.7 0 3.25 0. 00 1. 50
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MRt B2 UL 7R It 3.25 2. 40 0.00 1.35 398.0 0.0 0.0 398.0| 99, 490.0 TAT T v MR
183. 7 0~  184.0 91 3.25 0. 00 0.75

IR B2 UL 7R It 7 3.25 2. 50 0. 00 1.35 39.0 0.0 0.0 39.0[  99,529.0 TAT T v N
184. 0 91 ~  184.1 30 3.25 0. 00 0.75

MRt B2 UL R It 7 3.25 2.50 0.00 1.05 169. 0 0.0 0.0 169.0[  99,698.0 TAZ T v
184. 1 30 ~  184.3 0 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 2. 50 0. 00 1.55 70.0 0.0 0.0 70.0[ 99, 768.0 TAZ T
184. 3 0~ 184.3 70 3.25 0. 00 0.75

MRt E. VL FRE i 77 3.25 3. 00 0. 00 1.55 131.0 0.0 0.0 131.0]  99,899.0 TAT T v
184. 3 70 ~  184.5 0 3.25 0. 00 0.75

I B2 LS B 3. 25 3. 00 0. 00 1.25|  196.0 0.0 0.0 196.0 100, 095, 0|7 X7 7V M
184.5 0~  184.7 0 3.25 0. 00 0.75

ek B AL FRE i 77 3.25 2. 50 0. 00 1.25 306. 0 0.0 0.0 306.0| 100, 401.0 TAT T v N
184. 7 0~ 185.0 0 3.25 0. 00 0.75

et B VAL FRE it 77 3.25 2.50 0.00 1.25 40.0 0.0 0.0 40.0| 100, 441.0 TAT TV M
185. 0 0~ 185.0 40 3.25 0. 00 0.75

et B VLR i 3.25 2. 80 0.00 0.75 119.0 0.0 0.0 119.0[ 100, 560.0 TAZ T v M
185. 0 40 ~  185.1 60 3.25 0. 00 0.75

MRt B2 UL 7R It 3.25 2. 80 0.00 0.75 20.0 0.0 0.0 20.0[ 100, 580.0 TAZ T v
185. 1 60 ~  185.1 80 3.25 0. 00 0.75

MR B2 UL 7R It 7 3.25 2. 50 0. 00 0.75 101.0 0.0 0.0 101.0[ 100, 681.0 TAT T v N
185. 1 80 ~  185.2 80 3.25 0. 00 0.75

MRt B2 UL R Bt 7 3.25 2. 50 0.00 0.75 299. 0 0.0 0.0 299.0| 100, 980. 0 TAZ T N
185. 2 80 ~  185.5 80 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.75 120. 0 0.0 0.0 120.0[ 101, 100.0 TAT T
185.5 80 ~  185.7 0 3.25 0. 00 0.75
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MRt B2 UL 7R It 3.25 0. 00 0.00 0.75 60. 0 0.0 0.0 60.0[ 101, 160.0 TAT T v MR
185. 7 0~  185.7 60 3.25 0. 00 0.75

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0.75 440. 0 0.0 0.0 440.0| 101, 600. 0 TAT T v N
185. 7 60 ~  186.2 0 3.25 0. 00 0.75

MRt B2 UL R It 7 3.25 0. 00 0.00 1.25 201.0 0.0 0.0 201.0| 101,801.0 TAZ T v
186. 2 0~  186.4 0 3.25 0. 00 0.95

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.25 174.0 0.0 0.0 174.0[ 101,975.0 TAZ T
186. 4 0~  186.5 75 3.25 0. 00 1. 00

Mgt E. VL FRE i 77 3.25 0. 00 0. 00 5. 00 94.0 0.0 0.0 94. 0| 102, 069.0 TAT T v
186. 5 75 ~  186.6 73 3.25 0. 00 1. 00

I B2 LS B 3. 25 0. 00 0. 00 5. 00 10.0 0.0 0.0 10.0| 102,079, 0|7 > 7 7 /v MR
186. 6 73 ~  186.6 83 3.25 3.00 1. 00

ek B2 VL FRE i 77 3.25 0. 00 0. 00 1.25 48.0 0.0 0.0 48.0( 102,127.0 TAT T v N
186. 6 83 ~  186.7 30 3.25 3.00 0.95

et B VAL FRE it 77 3.25 0. 00 0.00 1.25 20.0 0.0 0.0 20.0| 102, 147.0 TAT T v M
186. 7 30 ~  186.7 50 3.25 3.00 0.95

et B VLR i 3.25 0.00 0.00 1.25 190.0 0.0 0.0 190.0[ 102,337.0 TAZ T v M
186. 7 50 ~  186.9 40 3.25 3.00 0.95

MRt R UL 7R It 3.25 0. 00 0.00 1.15 60. 0 0.0 0.0 60.0[ 102,397.0 TAZ T v
186. 9 40 ~  187.0 0 3.25 3.00 5.35

MR B2 UL 7R It 7 3.25 0. 00 0. 00 1.15 30.0 0.0 0.0 30.0[ 102,427.0 TAT T v N
187.0 0~ 187.0 30 3.25 3. 40 5.35

MRt B2 UL 7R Bt 7 3.25 0. 00 0.00 1.15 124.0 0.0 0.0 124.0[ 102,551.0 TAZ T N
187.0 30 ~  187.1 54 3.25 3.40 1. 10

MRt B2 UL RSB 77 3.25 2. 20 0. 00 1. 00 104. 0 0.0 0.0 104.0[ 102, 655.0 TAT T
187. 1 54 ~  187.2 80 3.25 3. 40 0.90
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MRt B2 UL 7R It 3.25 2.20 0.00 0. 40 144.0 0.0 0.0 144. 0 102,799.0 TAT T v MR
187. 2 80 ~  187.4 23 3.25 3. 40 1. 10

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 40 77.0 0.0 0.0 77.0[ 102,876.0 TAT T v N
187. 4 23 ~  187.5 0 3.25 3.40 0.90

MRt B2 UL R It 7 3.25 0. 00 0.00 0. 40 136.0 0.0 0.0 136.0[ 103,012.0 TAZ T v
187.5 0~ 187.6 33 3.25 2. 70 0.90

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 6. 75 37.0 0.0 0.0 37.0[ 103, 049.0 TAZ T
187. 6 33 ~  187.6 70 3.25 2. 70 0.90

Mgt E. VL FRE i 77 3.25 0. 00 0. 00 6.75 9.0 0.0 0.0 9.0| 103,058.0 TAT T v
187. 6 70 ~  187.6 79 3.25 2. 00 0.90

I B2 LS B 3. 25 0. 00 0. 00 1.15|  131.0 0.0 0.0 131.0| 103,189, 0|7 X7 7V M
187. 6 79 ~  187.7 99 3.25 2. 00 0.85

I F3 LR T 3. 25 2.20 0. 00 1.15 2.0 0.0 0.0 9.0 103, 191.0|7 27 7 /¥ M
187. 7 99 ~  187.7 101 3.25 2. 00 0.85

et B VAL FRE it 77 3.25 2.20 0.00 1.15 37.0 0.0 0.0 37.0] 103,228.0 TAT T v M
187.7 101 ~  187.8 36 3.25 2. 80 0.85

et B VLR i T 3.25 0. 00 0.00 1.00 142.0 0.0 0.0 142. 0 103,370.0 TAZ T v M
187. 8 36 ~  187.9 85 3.25 2. 80 1. 20

MRt B2 UL 7R It 3.25 0. 00 0.00 1.00 22.0 0.0 0.0 22.0[ 103,392.0 TAZ T v
187.9 85 ~  188.0 0 3.25 4. 00 1. 20

MRt B2 UL 7R Bt 7 3.25 0. 00 0. 00 1. 00 148. 0 0.0 0.0 148.0[ 103,540.0 TAT T v N
188. 0 0~  188.1 50 3.25 4. 00 1. 20

MR B2 UL R Bt 7 3.25 0.00 0.00 1.30 91.0 0.0 0.0 91.0[ 103,631.0 TAZ T N
188. 1 50 ~  188.2 47 3.25 4. 00 2. 20

MRt B2 UL RSB 77 3.25 0. 00 0. 00 1. 30 112.0 0.0 0.0 112.0[ 103,743.0 TAT T
188. 2 47 ~  188.3 45 3.25 3.70 2.20
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MRt B2 UL 7R It 3.25 2.10 0.00 0.55 26.0 0.0 0.0 26.0[ 103,769.0 TAT T v MR
188. 3 45 ~  188.3 71 3.25 3.70 1.15

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0.55 115.0 0.0 0.0 115.0[ 103,884.0 TAT T v N
188. 3 71 ~  188.4 85 3.25 3.70 1.15

MRt B2 UL R It 7 3.25 0. 00 0.00 1.00 13.0 0.0 0.0 13.0| 103,897.0 TAZ T v N
188. 4 85 ~  188.5 0 3.25 3.70 1.15

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 00 104. 0 0.0 0.0 104.0[ 104, 001.0 TAZ T
188.5 0~  188.6 10 3.25 2. 90 1.15

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 1.00 395. 0 0.0 0.0 395.0[ 104, 396.0 TAT T v
188. 6 10~  189.0 0 3.25 2. 90 0.90

I B2 LS B 3. 25 0. 00 0. 00 0.85|  399.0 0.0 0.0 399.0| 104,795, 0|7 7 7 /¥ M
189. 0 0~  189.4 8 3.25 3.10 0.95

ek B AL FRE i 77 3.25 2. 50 0. 00 0.85 27.0 0.0 0.0 27.0( 104,822.0 TAT T v N
189. 4 8 ~  189.4 35 3.25 3.10 0.95

et B VAL FRE it 77 3.25 2.50 0.00 1.20 73.0 0.0 0.0 73.0| 104, 895.0 TAT TV M
189. 4 35 ~  189.5 0 3.25 3.10 1. 50

et B VLR i 3.25 2. 50 0.00 1.20 204. 0 0.0 0.0 204.0| 105, 099. 0 TAZ T v M
189. 5 0~  189.7 0 3.25 3.30 1. 50

MRt B2 UL 7R It 3.25 2. 50 0.00 0.55 13.0 0.0 0.0 13.0| 105,112.0 TAZ T v
189. 7 0~  189.7 13 3.25 3.30 1. 10

MR B2 UL 7R It 7 3.25 3.30 0. 00 0.55 89.0 0.0 0.0 89.0| 105,201.0 TAT T v N
189. 7 13~  189.8 9 3.25 3.30 1. 10

MRt B2 UL R Bt 7 3.25 2. 80 0.00 0.55 146. 0 0.0 0.0 146.0[ 105,347.0 TAZ T N
189. 8 9 ~  189.9 58 3.25 3.30 1. 10

MRt B2 UL ARSI 77 3.25 2. 80 0. 00 1.25 24.0 0.0 0.0 24.0| 105,371.0 TAT T
189. 9 58 ~  189.9 82 3.25 3.30 0. 65
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MRt B2 UL 7R It 3.25 2. 80 0.00 1.25 28.0 0.0 0.0 28.0[ 105,399.0 TAT T v MR
189. 9 82 ~  189.9 110 3.25 4. 00 0. 65

IR B2 UL 7R It 7 3.25 2. 30 0. 00 1.75 0.0 0.0 3.0 3.0| 105, 402.0 TAT T v N
189.9 110 ~  189.9 113 3.25 2. 40 0.80

MRt B2 UL 7R Bt 7 3.25 2. 80 0.00 1.25 53.0 0.0 0.0 53.0| 105, 455.0 TAZ T v
189.9 113 ~  190.0 36 3.25 4. 00 0. 65

MRt B2 UL RS B 77 3.25 0. 00 0. 00 1.45 138.0 0.0 0.0 138.0[ 105,593.0 TAZ T
190. 0 36 ~  190.1 99 3.25 4. 00 1.15

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 1.75 62.0 0.0 0.0 62.0| 105, 655.0 TAT T v
190. 1 99 ~  190.2 59 3.25 4. 00 1. 60

I B2 LS B 3. 25 0. 00 0. 00 1.45 78.0 0.0 0.0 78.0 108,733, 0|7 %7 7V MR
190. 2 59 ~  190.3 39 3.25 4. 00 1.15

ek B VAL FRE i 77 3.25 2. 50 0. 00 1.45 82.0 0.0 0.0 82.0[ 105,815.0 TAT T v N
190. 3 39 ~  190.4 20 3.25 4. 00 1.15

et B VAL FRE it 77 3.25 2.50 0.00 1.45 34.0 0.0 0.0 34.0[ 105,849.0 TAT TV M
190. 4 20 ~  190.4 54 3.25 2. 80 1.15

et B VLR i T 3.25 2.20 0.00 1. 45 5.0 0.0 0.0 5.0[ 105,854.0 TAZ T v M
190. 4 54 ~  190.4 59 3.25 2. 80 1.15

MRt B2 UL 7R It 3.25 2.20 0.00 1.45 21.0 0.0 0.0 21.0[ 105,875.0 TAZ T v
190. 4 59 ~  190.5 0 3.25 3.10 1.15

MRt B2 UL 7R Bt 7 3.25 2. 20 0. 00 1. 00 200. 0 0.0 0.0 200.0| 106, 075. 0 TAT T v N
190. 5 0~  190.6 95 3.25 3.10 1. 00

MRt B2 UL R Bt 7 3.25 2.20 0.00 1.00 12.0 0.0 0.0 12.0| 106, 087.0 TAZ T N
190. 6 95 ~  190.7 0 3.25 3.10 1. 00

MRt B2 UL RSB 77 3.25 2. 90 0. 00 1. 00 45.0 0.0 0.0 45.0 106, 132.0 TAT T
190. 7 0~  190.7 45 3.25 3.10 1. 00
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MRt B2 UL 7R It 3.25 2.90 0.00 1.00 48.0 0.0 0.0 48.0[ 106, 180.0 TAT T v MR
190. 7 45 ~  190.7 93 3.25 3.10 1. 00

IR B2 UL 7R It 7 3.25 2. 90 0. 00 1. 00 218.0 0.0 0.0 218.0| 106, 398. 0 TAT T v N
190. 7 93 ~  191.0 3 3.25 0. 00 1. 00

MRt B2 UL R It 7 3.25 2.90 0.00 1.00 12.0 0.0 0.0 12.0| 106,410.0 TAZ T v
191. 0 3~ 191.0 15 3.25 0. 00 1. 00

MRt B2 UL ARSI 77 3.25 3.20 0. 00 1. 00 881.0 0.0 0.0 881.0| 107,291.0 TAZ T
191. 0 15~ 191.9 0 3.25 0.00 1. 00

Mgt F. VL FRE i 77 3.25 3.20 0. 00 1.00 209. 0 0.0 0.0 209. 0| 107,500.0 TAT T v
191.9 0~  192.1 9 3.25 0. 00 1. 00

I B2 LS B 3. 25 3. 00 0. 00 1.00| 1,508.0 0.0 0.0 1,508.0] 109,008, 0|7 X7 7V M=
192. 1 9~ 193.6 17 3.25 0. 00 1. 00

ek B AL FRE i 77 3.25 3. 40 0. 00 1.00 20. 0 0.0 0.0 20.0[ 109, 028.0 TAT T v N
193. 6 17~ 193.6 37 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 3. 40 0.00 1.00 244. 0 0.0 0.0 244. 0| 109, 272.0 TAT TV M
193. 6 37 ~  193.8 81 3.25 2. 80 1. 00

et B VLR i 3.25 3.40 0.00 1.00 19.0 0.0 0.0 19.0| 109,291.0 TAZ T v M
193. 8 81 ~  193.9 0 3.25 4. 50 1. 00

MRt B2 UL 7R Bt 3.25 3.50 0.00 1.00 100.0 0.0 0.0 100.0[ 109, 391.0 TAZ T v
193.9 0~  194.0 0 3.25 3.50 1. 00

MRt B2 UL 7R Bt 7 3.25 3.50 0. 00 1. 00 36.0 0.0 0.0 36.0[ 109,427.0 TAT T v N
194. 0 0~  194.0 36 3.25 6. 60 1. 00

MRt B2 UL 7R Bt 7 3.25 3.50 0.00 1.00 39.0 0.0 0.0 39.0| 109, 466. 0 TAZ T N
194. 0 36 ~  194.0 75 3.25 3.90 1. 00

MRt B2 UL ARSI 77 3.25 3.50 0. 00 1. 00 23.0 0.0 0.0 23.0| 109, 489. 0 TAT T
194. 0 75~  194.0 98 3.25 2. 80 1. 00
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MRt B2 UL 7R It 3.25 3.20 0.00 1.00 18.0 0.0 0.0 18.0| 109, 507.0 TAT T v MR
194. 0 98 ~  194.1 16 3.25 2. 80 1. 00

IR B2 UL 7R It 7 3.25 3.20 0. 00 1. 00 25.0 0.0 0.0 25.0| 109, 532.0 TAT T v N
194. 1 16 ~  194.1 41 3.25 3.20 1. 00

MRt B2 UL R It 7 3.25 3.50 0.00 1.00 259. 0 0.0 0.0 259.0| 109, 791. 0 TAZ T v
194. 1 41 ~  194.4 0 3.25 3.20 1. 00

MRt B2 UL ARSI 77 3.25 3.50 0. 00 1. 00 24.0 0.0 0.0 24.0| 109, 815.0 TAZ T
194. 4 0~  194.4 24 3.25 3. 20 1. 00

Mgt E. VL FRE i 77 3.25 3.50 0. 00 1.00 76.0 0.0 0.0 76.0( 109, 891.0 TAT T v
194. 4 24 ~  194.5 0 3.25 3. 20 1. 00

I B2 LS B 3. 25 2.70 0. 00 1.00o|  278.0 0.0 0.0 278.0| 110, 169, 0|7 > 7 7 /v MR
194.5 0~  194.7 78 3.25 3.20 1. 00

I 3 LR T 3. 25 2.20 0. 00 0. 60 0.0 0.0 5.0 5.0 110,174, 0|7 X7 7 /¥ M
194. 7 78 ~  194.7 83 3.25 2. 70 1.55

et B VAL FRE it 77 3.25 2.70 0.00 1.00 18.0 0.0 0.0 18.0| 110,192.0 TAT TV M
194. 7 83 ~  194.7 101 3.25 3.20 1. 00

et B VLR i T 3.25 2.10 0.00 1.00 254. 0 0.0 0.0 254.0| 110, 446. 0 TAZ T v M
194.7 101 ~  195.0 29 3.25 3.20 1. 00

MRt B2 UL 7R It 3.25 2. 60 0.00 1.00 24.0 0.0 0.0 24.0[ 110,470.0 TAZ T v
195. 0 29 ~  195.0 53 3.25 3.20 1. 00

MRt B2 UL 7R Bt 7 3.25 2. 10 0. 00 0. 60 0.0 0.0 5.0 5.0/ 110,475.0 TAT T v N
195. 0 53 ~  195.0 58 3.25 2. 70 1. 50

MRt B2 UL 7R Bt 3.25 2. 60 0.00 1.00 54.0 0.0 0.0 54.0| 110,529.0 TAZ T N
195. 0 58 ~  195.1 33 3.25 3.20 1. 00

MRt B2 UL RSB 77 3.25 2. 10 0. 00 0.50 0.0 0.0 5.0 5.0/ 110,534.0 TAT T
195. 1 33~ 195.1 38 3.25 2. 70 1. 70
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MRt B2 UL 7R It 3.25 2. 60 0.00 1.00 261.0 0.0 0.0 261.0| 110, 795.0 TAT T v MR
195. 1 38 ~  195.4 0 3.25 3.20 1. 00

IR B2 UL 7R It 7 3.25 2. 60 0. 00 1. 00 80. 0 0.0 0.0 80.0| 110,875.0 TAT T v N
195. 4 0~  195.4 80 3.25 0. 00 1. 00

MRt B2 UL R It 7 3.25 2. 60 0.00 1.00 27.0 0.0 0.0 27.0( 110,902.0 TAZ T
195. 4 80 ~  195.5 6 3.25 0. 00 1. 00

MRt B2 UL ARSI 77 3.25 2. 60 0. 00 1. 00 56. 0 0.0 0.0 56.0[ 110,958.0 TAZ T
195.5 6 ~ 195.5 62 3.25 0.00 1. 00

Mgt F. VL FRE i 77 3.65 2. 60 0. 00 1.20 0.0 0.0 16.0 16.0| 110,974.0 TAT T v
195.5 62 ~  195.5 78 3. 40 0. 00 1. 00

I B2 LS B 3. 25 3. 00 0. 00 1.15]  102.0 0.0 0.0 1020 111,076, 0|7 X7 7V M
195.5 78 ~  195.6 86 3.25 0. 00 0.85

I F3 LR T 3. 25 2. 60 0. 00 1.10 0.0 0.0 14.0 14.0| 111,090 0|7 27 7/v MR
195. 6 86 ~  195.6 100 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 2.70 0.00 1.15 661.0 0.0 0.0 661.0| 111,751.0 TAT TV M
195.6 100 ~  196.3 53 3.25 0. 00 0.85

et B VLR i T 3.25 2.70 0.00 1.05 32.0 0.0 0.0 32.0 111,783.0 TAZ T v M
196. 3 53 ~  196.3 85 3.25 0. 00 0. 80

MRt B2 UL 7R It 3.25 2. 50 0.00 1.05 162.0 0.0 0.0 162.0[ 111,945.0 TAZ T v
196. 3 85 ~  196.5 47 3.25 0. 00 0.80

MR B2 UL 7R Bt 7 3.25 2. 50 0. 00 1.15 30.0 0.0 0.0 30.0[ 111,975.0 TAT T v N
196. 5 47 ~  196.5 77 3.25 0. 00 1. 20

MRt B2 UL 7R Bt 7 3.25 2.90 0.00 1.15 189.0 0.0 0.0 189.0 112,164.0 TAZ T N
196. 5 77 ~  196.7 70 3.25 0. 00 1. 20

MRt B2 UL RSB 77 3.25 2. 90 0. 00 0.70 196. 0 0.0 0.0 196.0[ 112,360.0 TAT T
196. 7 70 ~  196.9 55 3.25 0. 00 0.85
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MRt B2 UL 7R It 3.25 2.90 0.00 0.75 38.0 0.0 0.0 38.0| 112,398.0 TAT T v MR
196. 9 55 ~  197.0 0 3.25 0. 00 0.75

IR B2 UL 7R It 7 3.25 3.00 0. 00 0.75 100. 0 0.0 0.0 100.0[ 112, 498.0 TAT T v N
197.0 0~  197.1 0 3.25 0. 00 0.75

MRt B2 UL R It 7 3.25 3. 00 0.00 1.20 196. 0 0.0 0.0 196.0[ 112,694.0 TAZ T v
197. 1 0~ 197.3 0 3.25 0. 00 0.70

MRt B2 UL ARSI 77 3.25 3.00 0. 00 1.05 133.0 0.0 0.0 133.0[ 112,827.0 TAZ T
197.3 0~  197.4 25 3.25 0. 00 0.55

Mgt E. VL FRE i 77 3.25 3. 00 0. 00 1.00 64.0 0.0 0.0 64.0| 112,891.0 TAT T v
197. 4 25 ~  197.4 89 3.25 0. 00 1. 00

I B2 LS B 3. 25 2.70 0. 00 1.00 72.0 0.0 0.0 72.0| 112,963, 0|7 %7 7V MR
197. 4 89 ~  197.5 60 3.25 0. 00 1. 00

ek B2 VL FRE i 77 3.25 2.70 0. 00 1.00 37.0 0.0 0.0 37.0] 113, 000.0 TAT T v N
197.5 60 ~  197.6 0 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 2.70 0.00 1.00 93.0 0.0 0.0 93.0| 113,093.0 TAT TV M
197. 6 0~ 197.6 93 3.25 0. 00 1. 00

et B VLR i 3.25 2.90 0.00 1.00 151.0 0.0 0.0 151.0[ 113,244.0 TAZ T v M
197. 6 93 ~  197.8 47 3.25 0. 00 1. 00

MRt R UL 7R It 3.25 2.70 0.00 1.00 90. 0 0.0 0.0 90.0[ 113,334.0 TAZ T v
197. 8 47 ~  197.9 34 3.25 0. 00 1. 00

MR B2 UL 7R It 7 3.25 2. 70 0. 00 0.50 33.0 0.0 0.0 33.0[ 113,367.0 TAT T v N
197.9 34 ~  197.9 67 3.25 0. 80 0. 40

MRt B2 UL 7R Bt 7 3.25 2.70 0.00 0. 50 29.0 0.0 0.0 29.0( 113,396.0 TAZ T N
197.9 67 ~  198.0 0 3.25 1. 90 0. 40

MRt B2 UL RSB 77 3.25 2. 60 0. 00 0.50 75.0 0.0 0.0 75.0[ 113,471.0 TAT T
198. 0 0~  198.0 75 3.25 1. 90 0. 40
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MRt B2 UL 7R It 3.25 2. 60 0.00 0. 50 11.0 0.0 0.0 11.0| 113,482.0 TAT T v MR
198. 0 75 ~  198.0 86 3.25 1. 50 0. 40

IR B2 UL 7R It 7 3.25 2. 60 0. 00 0.50 36.0 0.0 0.0 36.0[ 113,518.0 TAT T v N
198. 0 86 ~  198.1 26 3.25 2. 40 0. 40

MRt B2 UL R It 7 3.25 2. 60 0.00 0. 50 23.0 0.0 0.0 23.0[ 113,541.0 TAZ T v
198. 1 26 ~  198.1 49 3.25 1. 60 0. 40

MRt B2 UL ARSI 77 3.25 2. 60 0. 00 0.70 148. 0 0.0 0.0 148.0[ 113,689.0 TAZ T
198. 1 49 ~  198.3 0 3.25 0.00 1. 00

Mgt F. VL FRE i 77 3.25 2. 60 0. 00 0. 60 193.0 0.0 0.0 193.0| 113,882.0 TAT T v
198. 3 0~ 198.5 0 3.25 0. 00 1. 10

I B2 LS B 3. 25 3. 00 0. 00 0.55|  231.0 0.0 0.0 931.0| 114, 113.0|7 27 7 /v ML
198.5 0~  198.7 30 3.25 0. 00 1. 10

ek B AL FRE i 77 3.25 3. 00 0. 00 0. 65 35.0 0.0 0.0 35.0| 114, 148.0 TAT T v N
198. 7 30 ~  198.7 65 3.25 0. 00 1. 80

et B VAL FRE it 77 3.25 3. 00 0.00 0.65 337.0 0.0 0.0 337.0 114,485.0 TAT TV M
198. 7 65 ~  199.1 0 3.25 0. 00 1. 80

et B VLR i 3.25 3.00 0.00 0. 50 33.0 0.0 0.0 33.0| 114,518.0 TAZ T v M
199. 1 0~  199.1 33 3.25 0. 00 1. 20

MRt B2 UL 7R Bt 3.25 2. 50 0.00 0. 50 42.0 0.0 0.0 42.0( 114,560.0 TAZ T v
199. 1 33 ~  199.1 75 3.25 0. 00 1. 20

MR B2 UL 7R It 7 3.25 2. 60 0. 00 0.50 144. 0 0.0 0.0 144.0[ 114,704.0 TAT T v N
199. 1 75 ~  199.3 19 3.25 0. 00 1. 20

MRt B2 UL 7R Bt 7 3.25 2.50 0.00 0. 50 24.0 0.0 0.0 24.0( 114,728.0 TAZ T N
199. 3 19 ~  199.3 43 3.25 0. 00 1. 20

MRt B2 UL ARSI 77 3.25 2. 70 0. 00 0.50 20. 0 0.0 0.0 20.0| 114,748.0 TAT T
199. 3 43 ~ 199.3 63 3.25 0. 00 1. 20
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MRt B2 UL 7R It 3.25 2.70 0.00 1.05 93.0 0.0 0.0 93.0[ 114,841.0 TAT T v MR
199. 3 63 ~  199.4 60 3.25 0. 00 1. 05

IR B2 UL 7R It 7 3.25 2. 70 0. 00 0.75 106. 0 0.0 0.0 106.0[ 114,947.0 TAT T v N
199. 4 60 ~  199.5 62 3.25 0. 00 1. 40

MRt B2 UL R It 7 3.25 2. 60 0.00 0.75 44.0 0.0 0.0 44.0( 114,991.0 TAZ T v
199. 5 62 ~  199.6 10 3.25 0. 00 1. 40

MRt B2 UL ARSI 77 3.25 2. 10 0. 00 2.05 0.0 0.0 2.0 2.0] 114,993.0 TAZ T
199. 6 10~ 199.6 12 3.25 0. 00 2.50

Mgt E. VL FRE i 77 3.25 2. 60 0.00 0.75 13.0 0.0 0.0 13.0| 115,006.0 TAT T v
199. 6 12~ 199.6 25 3.25 0. 00 1. 40

I B2 UL B 3. 25 2. 60 0. 00 0.75|  160.0 0.0 0.0 160.0| 115, 166,07 %7 7V M
199. 6 25 ~  199.7 84 3.25 0. 00 1. 40

ek B VAL FRE i 77 3.25 2. 50 0. 00 0.75 21.0 0.0 0.0 21.0[ 115,187.0 TAT T v N
199. 7 84 ~  199.8 0 3.25 0. 00 1. 40

et B VAL FRE it 77 3.25 2.70 0.00 0.75 131.0 0.0 0.0 131.0| 115,318.0 TAT TV M
199. 8 0~ 199.9 30 3.25 0. 00 1. 40

et B VLR i 3.25 2. 60 0.00 0.75 365. 0 0.0 0.0 365.0| 115,683.0 TAZ T v M
199. 9 30 ~  200.3 0 3.25 0. 00 0.90

MRt B2 UL 7R It 3.25 2. 60 0.00 0. 50 172.0 0.0 0.0 172.0[ 115,855.0 TAZ T v
200. 3 0~  200.4 75 3.25 0. 00 1.25

MRt B2 UL 7R Bt 7 3.25 1. 30 0. 00 0.50 67.0 0.0 0.0 67.0| 115,922.0 TAT T v N
200. 4 75 ~  200.5 53 3.25 0. 00 1.25

MRt B2 UL R Bt 7 3.25 0. 00 0.00 2.20 157.0 0.0 0.0 157.0[ 116,079.0 TAZ T N
200.5 53 ~  200.7 0 3.25 0. 00 1. 20

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 50 200. 0 0.0 0.0 200.0| 116, 279.0 TAT T
200. 7 0~  200.9 0 3.25 0. 00 0.90
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MRt B2 UL 7R It 3.25 0. 00 0.00 1.65 216.0 0.0 0.0 216.0| 116, 495.0 TAT T v MR
200.9 0~  201.1 15 3.25 0. 00 1. 05

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0.25 0.0 60. 0 0.0 60.0| 116, 555.0 TAT T v N
201. 1 15 ~  201.1 75 3.25 0. 00 0.25

MRt B2 UL 7R It 7 3.25 0. 00 0.00 1.35 422.0 0.0 0.0 422.0| 116, 977.0 TAZ T v
201. 1 75 ~  201.6 0 3.25 0. 00 0.90

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.35 82.0 0.0 0.0 82.0| 117,059.0 TAZ T
201.6 0~  201.6 82 3.25 0.00 0.90

Mgt F. VL FRE i 77 3.25 2. 60 0.00 1.35 80. 0 0.0 0.0 80.0| 117,139.0 TAT T v
201.6 82 ~  201.7 63 3.25 0. 00 0.90

I B2 LS B 3. 25 1. 60 0. 00 1.35 58.0 0.0 0.0 58.0| 117,197, 0|7 %7 7V MR
201.7 63 ~  201.8 24 3.25 0. 00 0.90

et B VAL FRE Bt 77 3.25 1.60 0. 00 0. 60 26. 0 0.0 0.0 26.0[ 117,223.0 TAT T v N
201.8 24 ~  201.8 50 3.25 0. 00 0.95

et B VAL FRE it 77 3.25 1. 60 0.00 0. 60 78.0 0.0 0.0 78.0( 117,301.0 TAT TV M
201.8 50 ~  201.9 20 3.25 0. 00 0.95

et B VLR i T 3.25 2. 80 0.00 0. 60 79.0 0.0 0.0 79.0| 117, 380.0 TAZ T v M
201.9 20 ~  202.0 0 3.25 0. 00 0.95

MRt R UL 7R It 3.25 2. 60 0.00 0. 60 659. 0 0.0 0.0 659.0| 118, 039.0 TAZ T v
202.0 0~  202.6 54 3.25 0. 00 0.95

MR B2 UL 7R Bt 7 3.25 2. 60 0. 00 0. 60 225.0 0.0 0.0 225.0| 118, 264. 0]~ w7 U= M
202. 6 54 ~  202.8 81 3.25 0. 00 0.95

MRt B2 UL R It 7 3.25 2.50 0.00 0.55 87.0 0.0 0.0 87.0[ 118,351.0 TAZ T N
202.8 81 ~  202.9 69 3.25 0. 00 0.80

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.50 13.0 0.0 0.0 13.0| 118, 364.0 TAT T
202.9 69 ~  202.9 82 3.25 0. 00 0.90
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HOGE | A o | o | B OF | B K | hexra & T A it 7 7
m

MRt B2 UL 7R It 3.25 0. 00 0.00 0.45 2.0 0.0 0.0 2.0 118,366.0 TAT T v MR
202.9 82 ~  202.9 84 3.25 0. 00 0.50

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0.50 310.0 0.0 0.0 310.0| 118, 676.0 TAT T v N
202.9 84 ~  203.2 93 3.25 0. 00 0.90

MRt B2 UL R It 7 3.25 2.50 0.00 0. 50 8.0 0.0 0.0 8.0 118,684.0 TAZ T v
203.2 93 ~  203.3 6 3.25 0. 00 0.90

MRt B2 UL ARSI 77 3.25 2. 10 0. 00 1. 00 196. 0 0.0 0.0 196.0[ 118,880.0 TAZ T
203.3 6 ~  203.5 0 3.25 0. 00 1.25

Mgt F. VL FRE i 77 3.25 2.10 0. 00 1.00 107.0 0.0 0.0 107.0| 118,987.0 TAT T v
203.5 0~  203.6 6 3.25 0. 00 1. 00

(AENESIN - O 3.25 2. 50 0. 00 1.00 61.0 0.0 0.0 61.0[ 119,048.0 =7 U= M
203.6 6~  203.6 67 3.25 0. 00 1. 00

ek B AL FRE i 77 3.25 2. 90 0. 00 1.00 121.0 0.0 0.0 121.0[ 119,169.0 TAT T v N
203. 6 67 ~  203.7 91 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 2. 80 0.00 1.00 161.0 0.0 0.0 161.0| 119,330.0 TAT TV M
203.7 91 ~  203.9 42 3.25 0. 00 1. 00

et B VLR i 3.25 0.00 0.00 0.75 87.0 0.0 0.0 87.0[ 119,417.0 TAZ T v M
203.9 42 ~  204.0 32 3.25 0. 00 0.85

MRt B2 UL 7R Bt 3.25 0. 00 0.00 0.76 0.0 0.0 15.0 15.0| 119,432.0 TAZ T v
204.0 32 ~  204.0 47 3.25 0. 00 0.76

MRt B2 UL 7R Bt 7 3.25 0. 00 0. 00 1. 20 157.0 0.0 0.0 157.0[ 119,589.0 TAT T v N
204.0 47 ~  204.2 6 3.25 0. 00 0.80

MRt B2 UL R It 7 3.25 0. 00 0.00 0.25 0.0 0.0 135.0 135.0[ 119,724.0 TAZ T N
204. 2 6 ~  204.3 44 3.25 0. 00 0.25

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.35 534.0 0.0 0.0 534.0| 120, 258.0 TAT T
204.3 44 ~  204.8 79 3.25 0.00 1. 20
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MRt B2 UL 7R It 3.25 0. 00 0.00 0.25 0.0 0.0 127.0 127.0[ 120,385.0 TAT T v MR
204.8 79 ~  204.9 110 3.25 0. 00 0.25

IR B2 UL 7R It 7 3.25 0. 00 0. 00 1.35 97.0 0.0 0.0 97.0| 120, 482.0 TAT T v N
204.9 110 ~  205.0 94 3.25 0. 00 1.15

MRt B2 UL R It 7 3.25 0. 00 0.00 1.35 262. 0 0.0 0.0 262.0| 120, 744. 0 TAZ T v
205.0 94 ~  205.3 69 3.25 0. 00 1.15

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.25 0.0 0.0 130. 0 130.0[ 120,874.0 TAZ T
205.3 69 ~  205.4 96 3.25 0. 00 0.25

Mgt F. VL FRE i 77 3.25 0. 00 0.00 0.75 82.0 0.0 0.0 82.0| 120, 956.0 TAT T v
205. 4 96 ~  205.5 72 3.25 0. 00 0. 80

I B2 LS B 3. 25 0. 00 0. 00 0.75|  110.0 0.0 0.0 1100 121, 066,07 X7 7V M
205.5 72 ~  205.6 88 3.25 2. 50 0.80

ek B VAL FRE i 77 3.25 0. 00 0. 00 0.75 90. 0 0.0 0.0 90.0[ 121,156.0 TAT T v N
205. 6 88 ~  205.7 76 3.25 2. 50 0. 80

et B VAL FRE it 77 3.25 0.00 0.00 0.75 35.0 0.0 0.0 35.0( 121,191.0 TAT TV M
205. 7 76 ~  205.8 12 3.25 2. 50 0. 80

et B VLR i T 3.25 0. 00 0.00 0.85 77.0 0.0 0.0 77.0| 121, 268.0 TAZ T v M
205. 8 12 ~  205.8 89 3.25 2. 50 1. 00

MRt B2 UL 7R It 3.25 0. 00 0.00 0.85 73.0 0.0 0.0 73.0| 121, 341.0 TAZ T v
205.8 89 ~  205.9 59 3.25 2. 50 1. 00

MRt B2 UL 7R Bt 7 3.25 0. 00 0. 00 0.85 20.0 0.0 0.0 20.0| 121,361.0 TAT T v N
205.9 59 ~  205.9 79 3.25 2. 50 1. 00

MR B2 UL R Bt 7 3.25 0.00 0.00 0.85 27.0 0.0 0.0 27.0[ 121,388.0 TAZ T N
205.9 79 ~  205.9 106 3.25 2. 50 1. 00

MRt B2 UL RSB 77 3.25 0. 00 0. 00 0. 80 50. 0 0.0 0.0 50.0 121,438.0 TAT T
205.9 106 ~  206.0 60 3.25 2. 50 0.80
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MRt B2 UL 7R It 3.25 0. 00 0.00 0. 80 59.0 0.0 0.0 59.0| 121, 497.0 TAT T v MR
206.0 60 ~  206.1 16 3.25 2. 50 0. 80

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 80 56. 0 0.0 0.0 56.0[ 121,553.0 TAT T v N
206. 1 16 ~  206.1 72 3.25 2. 50 0.80

MRt B2 UL R It 7 3.25 0. 00 0.00 0. 80 39.0 0.0 0.0 39.0| 121,592.0 TAZ T
206. 1 72 ~  206.2 10 3.25 2. 50 0.80

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0. 80 289.0 0.0 0.0 289.0| 121, 881.0 TAZ T
206. 2 10 ~  206.5 0 3.25 0.00 0. 80

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 1.50 174.0 0.0 0.0 174.0| 122, 055.0 TAT T v
206.5 0~  206.6 73 3.25 0. 00 0.90

I B2 LS B 3. 25 0. 00 0. 00 1.20 0.0 0.0 11.0 11.0| 122,066 0|7 > 7 7/v MR
206. 6 73 ~  206.6 84 3.25 0. 00 0.85

ek B AL FRE i 77 3.25 0. 00 0. 00 1.00 114.0 0.0 0.0 114.0[ 122,180.0 TAT T v N
206. 6 84 ~  206.8 0 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 0.00 0.00 0.90 103.0 0.0 0.0 103.0| 122,283.0 TAT T v M
206. 8 0~  206.8 103 3.25 2. 50 0. 90

et B VLR i 3.25 0.00 0.00 0.90 3.0 0.0 0.0 3.0 122,286.0 TAZ T v M
206.8 103 ~  206.9 5 3.25 0. 00 0.90

MRt R UL 7R It 3.25 0. 00 0.00 0.90 24.0 0.0 0.0 24.0( 122,310.0 TAZ T v
206.9 5~  206.9 29 3.25 2. 50 0.90

MR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 90 20. 0 0.0 0.0 20.0| 122, 330.0 TAT T v N
206.9 29 ~  206.9 49 3.25 0. 00 0.90

MRt B2 UL 7R Bt 7 3.25 0. 00 0.00 0.85 69. 0 0.0 0.0 69.0[ 122,399.0 TAZ T N
206.9 49 ~  207.0 27 3.25 2. 50 1. 00

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.85 57.0 0.0 0.0 57.0 122,456.0 TAT T
207.0 27 ~  207.0 84 3.25 2. 50 1. 00

_98_




S

99 / 109 ~—¥

R4 0 0041 BiiE
= HE
X Eil (BBt B0, BT DD IENNIE & 1 O FESE T
S | L] % SR N V% 5
m

ez R VEL RS B 7l 3.25 0. 00 0. 30. 0 0.0 30. 122,486.0|7 7 7V DEES
207.0 84 ~  207. 3.25 0. 00 1.

IR B2 UL 7R It 7 3.25 0. 00 0. 13.0 0.0 13. 122, 499. 0 TAT T v N
207. 1 1~ 207 3.25 2.50 1.

MRt B2 UL R It 7 3.25 0. 00 1. 82.0 0.0 82. 122, 581.0 TAZ T v
207. 1 14 ~  207. 3.25 0. 00 1.

MRt B2 UL ARSI 77 3.25 0. 00 1. 68. 0 0.0 68. 122, 649. 0 TAZ T
207. 1 96 ~  207. 3.25 2.70 1.

Mgt F. VL FRE i 77 3.25 0. 00 1. 54.0 0.0 54. 122, 703.0 TAT T v
207.2 55 ~  207. 3.25 0. 00 1.

I B2 LS B 3. 25 0. 00 1. 44.0 0.0 sa.0| 122, 747, 0|7 A7 7V MR
207.3 18 ~  207. 3.25 0. 00 1.

I 3 LR T 3. 25 0. 00 1. 46.0 0.0 46.0| 122,793, 0|7 X7 7V MR
207.3 62 ~  207. 3.25 2. 50 1.

Iy 5 BT B 3. 25 0. 00 1. 4.0 0.0 0| 122,797.0|7 27 7Y M
207. 4 17~ 207. 3.25 0. 00 1.

et B VLR i T 3.25 0. 00 1. 48.0 0.0 48. 122, 845.0 TAZ T v M
207.4 21 ~  207. 3.25 2.50 1.

ez R VEL RS B 7l 3.25 0. 00 1. 12.0 0.0 12. 122,857.0|7 7 7V DELES
207.4 69 ~  207. 3.25 0. 00 1.

MR B2 UL 7R It 7 3.25 0. 00 1. 61.0 0.0 61. 122, 918.0 TAT T v N
207.4 81 ~ _ 207. 3.25 2.50 1.

MRt B2 UL 7R Bt 7 3.25 0. 00 1. 29.0 0.0 29. 122, 947.0 TAZ T N
207.5 42 ~  207. 3.25 0. 00 0.

MRt B2 UL ARSI 77 3.25 0. 00 1. 98.0 0.0 98. 123, 045. 0 TAT T
207.5 71 ~  207. 3.25 2. 80 0.
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MRt B2 UL 7R It 3.25 0. 00 0.00 1.00 76.0 0.0 0.0 76.0| 123,121.0 TAT T v MR
207.6 68 ~  207.7 41 3.25 2. 60 0. 40

IR B2 UL 7R It 7 3.25 0. 00 0. 00 1. 10 103.0 0.0 0.0 103.0[ 123,224.0 TAT T v N
207.7 41 ~  207.8 47 3.25 2. 70 0.75

MRt B2 UL R It 7 3.25 0. 00 0.00 1.10 145.0 0.0 0.0 145.0[ 123,369.0 TAZ T
207.8 47 ~  207.9 94 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 10 49.0 0.0 0.0 49.0| 123,418.0 TAZ T
207.9 94 ~  208.0 40 3.25 2. 80 0.75

Mgt E. VL FRE i 77 3.25 0. 00 0. 00 1.10 128.0 0.0 0.0 128.0| 123,546.0 TAT T v
208.0 40 ~  208.1 72 3.25 2. 30 0.75

I B2 LS B 3. 25 0. 00 0. 00 0.85|  287.0 0.0 0.0 287.0| 123,833 0|7 77 7 /v MR
208. 1 72 ~  208.4 53 3.25 2. 60 0.85

ek B AL FRE i 77 3.25 0. 00 0. 00 0.70 29. 0 0.0 0.0 29.0( 123,862.0 TAT T v N
208. 4 53 ~  208.4 82 3.25 2. 50 0.85

et B VAL FRE it 77 3.25 0.00 0.00 1.05 512.0 0.0 0.0 512.0 124,374.0 TAT TV M
208. 4 82 ~  208.9 105 3.25 0. 00 0.95

et B VLR i 3.25 0.00 0.00 1.05 36.0 0.0 0.0 36.0| 124, 410.0 TAZ T v M
208.9 105 ~  209.0 18 3.25 2. 00 0.95

MRt B2 UL 7R Bt 3.25 0. 00 0.00 0.75 0.0 0.0 25.0 25.0( 124,435.0 TAZ T v
209.0 18 ~  209.0 43 3.25 2. 50 0.75

MRt B2 UL 7R Bt 7 3.25 0. 00 0. 00 0. 80 99.0 0.0 0.0 99.0| 124,534.0 TAT T v N
209.0 43 ~ 209.1 56 3.25 2. 00 0.75

MRt B2 UL 7R Bt 7 3.25 0.00 0.00 0. 80 14.0 0.0 0.0 14.0| 124,548.0 TAZ T N
209. 1 56 ~  209.1 70 3.25 2. 70 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.55 61.0 0.0 0.0 61.0| 124,609.0 TAT T
209. 1 70~ 209.2 30 3.25 2. 50 0.95
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MRt B2 UL 7R It 3.25 0. 00 0.00 1.55 156.0 0.0 0.0 156. 0 124, 765.0 TAT T v MR
209. 2 30 ~ 209.3 100 3.25 0. 00 0.95

IR B2 UL 7R It 7 3.25 0. 00 0. 00 1.55 44.0 0.0 0.0 44.0| 124, 809.0 TAT T v N
209.3 100 ~  209.4 36 3.25 2. 70 0.95

MRt B2 UL R It 7 3.25 0. 00 0.00 1.55 8.0 0.0 0.0 8.0 124,817.0 TAZ T v
209. 4 36 ~  209.4 44 3.25 2. 50 0.95

MRt B2 UL RS B 77 3.25 0. 00 0. 00 1.55 20. 0 0.0 0.0 20.0| 124,837.0 TAZ T
209. 4 44 ~ 209.4 64 3.25 2. 50 0.95

Mgt E. VL FRE i 77 3.25 0. 00 0.00 1.55 20.0 0.0 0.0 20.0| 124,857.0 TAT T v
209. 4 64 ~  209.4 84 3.25 2. 50 0.95

I B2 UL B 3. 25 0. 00 0. 00 0.75 70.0 0.0 0.0 700 124,927, 0|7 X7 7V MR
209. 4 84 ~  209.5 58 3.25 2. 50 0.75

et B AL FRE it 77 3.25 0. 00 0. 00 1.55 20. 0 0.0 0.0 20.0 124,947.0 TAT T v N
209.5 58 ~  209.5 78 3.25 2. 50 0.95

et B VAL FRE it 77 3.25 0.00 0.00 1.55 20.0 0.0 0.0 20.0| 124,967.0 TAT TV M
209.5 78 ~  209.5 98 3.25 0. 00 0.95

et B VLR i 3.25 0. 00 0.00 1.55 117.0 0.0 0.0 117.0[ 125,084.0 TAZ T v M
209.5 98 ~  209.7 9 3.25 2. 50 0.95

MRt B2 UL 7R It 3.25 0. 00 0.00 1.05 24.0 0.0 0.0 24.0[ 125,108.0 TAZ T v
209.7 9 ~  209.7 33 3.25 2. 50 0.70

IRt B2 UL 7R It 7 3.25 0. 00 0. 00 1.05 35.0 0.0 0.0 35.0[ 125,143.0 TAT T v N
209.7 33 ~  209.7 68 3.25 0. 00 0.70

MR B2 UL 7R Bt 3.25 0. 00 0.00 1.25 99.0 0.0 0.0 99.0[ 125,242.0 TAZ T N
209.7 68 ~  209.8 68 3.25 2. 50 0.95

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.85 55.0 0.0 0.0 55.0 125,297.0 TAT T
209.8 68 ~  209.9 25 3.25 2. 70 0.90
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MRt B2 UL 7R It 3.25 0. 00 0.00 0.85 45.0 0.0 0.0 45.0( 125,342.0 TAT T v MR
209.9 25~ 209.9 70 3.25 2. 70 0.90

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 85 131.0 0.0 0.0 131.0[ 125,473.0 TAT T v N
209.9 70~ 210.1 5 3.25 2. 70 0.75

MRt B2 UL R It 7 3.25 0. 00 0.00 1.90 93.0 0.0 0.0 93.0[ 125,566.0 TAZ T v
210. 1 5~ 210.1 98 3.25 2. 90 0.75

MRt B2 UL ARSI 77 3.25 2. 30 0. 00 0.75 134.0 0.0 0.0 134.0[ 125, 700.0 TAZ T
210. 1 98 ~  210.3 27 3.25 2. 90 0.75

Mgt F. VL FRE i 77 3.25 2.70 0. 00 0.75 53.0 0.0 0.0 53.0| 125,753.0 TAT T v
210.3 27 ~ 210.3 80 3.25 2. 90 0.75

I B2 LS B 3. 25 2.70 0. 00 0.75 46.0 0.0 0.0 46.0| 125,799, 0|7 X7 7V MR
210.3 80 ~  210.4 26 3.25 2. 90 0.75

ek B AL FRE i 77 3.25 2.70 0. 00 0.75 9.0 0.0 0.0 9.0 125,808.0 TAT T v N
210. 4 26 ~  210.4 35 3.25 0. 00 0.75

et B VAL FRE it 77 3.25 2.70 0.00 0.75 10.0 0.0 0.0 10.0| 125,818.0 TAT TV M
210. 4 35 ~ 210.4 45 3.25 0. 00 0.75

et B VLR i T 3.25 2.00 0.00 0. 50 0.0 0.0 15.0 15.0| 125,833.0 TAZ T v M
210. 4 45 ~  210.4 60 3.25 0. 00 0.50

MRt B2 UL 7R Bt 3.25 2.70 0.00 1.45 48.0 0.0 0.0 48.0[ 125,881.0 TAZ T v
210. 4 60 ~  210.5 0 3.25 0. 00 0.75

MR B2 UL 7R It 7 3.25 0. 00 0. 00 1.45 158. 0 0.0 0.0 158.0[ 126,039.0 TAT T v N
210.5 0~  210.6 66 3.25 0. 00 0.75

MRt B2 UL 7R Bt 7 3.25 2.20 0.00 1.45 38.0 0.0 0.0 38.0| 126,077.0 TAZ T N
210.6 66 ~  210.6 104 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 2. 20 0. 00 1.45 4.0 0.0 0.0 4.0| 126,081.0 TAT T
210.6 104 ~  210.7 0 3.25 1.70 0.75
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MRt B2 UL 7R It 3.25 0. 00 0.00 1.00 38.0 0.0 0.0 38.0| 126,119.0 TAT T v MR
210.7 0~  210.7 38 3.25 1. 70 0.90

IR B2 UL 7R It 7 3.25 0. 00 0. 00 1. 00 75.0 0.0 0.0 75.0| 126, 194.0 TAT T v N
210.7 38 ~ 210.8 21 3.25 2. 00 0.90

MRt B2 UL R It 7 3.25 0. 00 0.00 1.05 56. 0 0.0 0.0 56.0| 126, 250. 0 TAZ T v
210.8 21 ~  210.8 77 3.25 1. 80 1.05

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.05 31.0 0.0 0.0 31.0[ 126,281.0 TAZ T
210.8 77 ~  210.9 7 3.25 2. 30 1.05

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 1.05 360. 0 0.0 0.0 360.0[ 126,641.0 TAT T v
210.9 7~ 211.2 67 3.25 2. 20 1.05

I B2 LS B 3. 25 1.30 0. 00 0.75 36. 0 0.0 0.0 36,0 126,677, 0|7 %7 7V MR
211.2 67 ~  211.3 4 3.25 0. 00 0.85

ek B AL FRE i 77 3.25 0. 00 0. 00 0.75 167.0 0.0 0.0 167.0[ 126,844.0 TAT T v N
211.3 4~  211.4 68 3.25 0. 00 0. 90

et B VAL FRE it 77 3.25 0. 00 0.00 0.75 100.0 0.0 0.0 100.0| 126,944.0 TAT TV M
211.4 68 ~  211.5 69 3.25 2. 70 0. 90

et B VLR i 3.25 0.00 0.00 1.00 0.0 0.0 87.0 87.0[ 127,031.0 TAZ T v M
211.5 69 ~  211.6 57 3.25 2. 60 0.75

MRt R UL 7R It 3.25 0. 00 0.00 0.95 210.0 0.0 0.0 210.0| 127,241.0 TAZ T v
211.6 57 ~  211.8 67 3.25 2. 60 0.90

MR B2 UL 7R Bt 7 3.25 0. 00 0. 00 0.85 460. 0 0.0 0.0 460.0| 127,701.0 TAT T v N
211.8 67 ~  212.3 38 3.25 0. 00 0.55

MRt B2 UL R Bt 7 3.25 0. 00 0.00 0.65 36.0 0.0 0.0 36.0| 127,737.0 TAZ T N
212.3 38 ~  212.3 74 3.25 2. 50 0.80

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0. 65 9.0 0.0 0.0 9.0| 127,746.0 TAT T
212.3 74 ~  212.3 83 3.25 2. 50 0. 80
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MRt B2 UL 7R It 3.25 0. 00 0.00 0.65 182.0 0.0 0.0 182.0[ 127,928.0 TAT T v MR
212.3 83 ~  212.5 62 3.25 0. 00 0.80

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 65 2.0 0.0 0.0 2.0] 127,930.0 TAT T v N
212.5 62 ~  212.5 64 3.25 2. 50 0.80

MRt B2 UL R It 7 3.25 0. 00 0.00 0.90 41.0 0.0 0.0 41.0( 127,971.0 TAZ T v
212.5 64 ~  212.6 5 3.25 2. 50 0.70

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0.85 301.0 0.0 0.0 301.0| 128,272.0 TAZ T
212.6 5~  212.9 0 3.25 2. 50 0.95

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 0.75 37.0 0.0 0.0 37.0] 128,309.0 TAT T v
212.9 0~ 212.9 37 3.25 0. 00 1. 00

I B2 LS B 3. 25 0. 00 0. 00 0.75|  103.0 0.0 0.0 1030 128,412, 0|7 X7 7V M
212.9 37 ~ 213.0 39 3.25 0. 00 1. 00

ek B AL FRE i 77 3.25 0. 00 0. 00 0.75 48.0 0.0 0.0 48.0[ 128,460.0 TAT T v N
213.0 39 ~  213.0 87 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 0.00 0.00 0.75 59.0 0.0 0.0 59. 0| 128,519.0 TAT TV M
213.0 87 ~  213.1 48 3.25 2. 50 1. 00

et B VLR i 3.25 0. 00 0.00 0.70 87.0 0.0 0.0 87.0[ 128,606.0 TAZ T v M
213. 1 48 ~  213.2 35 3.25 0. 00 0.75

MRt B2 UL 7R It 3.25 0. 00 0.00 0.70 222.0 0.0 0.0 222.0| 128,828.0 TAZ T v
213.2 35 ~  213.4 71 3.25 2. 50 0.75

MR B2 UL 7R It 7 3.25 0. 00 0. 00 0.70 59. 0 0.0 0.0 59.0| 128,887.0 TAT T v N
213.4 71 ~  213.5 35 3.25 2. 50 0.75

MRt B2 UL R Bt 7 3.25 0. 00 0.00 0.70 287.0 0.0 0.0 287.0| 129, 174.0 TAZ T N
213.5 35 ~  213.8 4 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 60 195.0 0.0 0.0 195.0[ 129,369.0 TAT T
213.8 4~  214.0 0 3.25 2. 50 0.90

- 104 -




105 / 109 ~—¥

i
=
A
o
I

AR+ 0041 158

e = HE 53
S (BB BV, TEB: TVl m m L % 1 oD FeAH fii
HOGE | A o | o | B OF | B K | hexra & T A it 7 7
m

MRt B2 UL 7R It 3.25 0. 00 0.00 0.70 234.0 0.0 0.0 234.0| 129, 603.0 TAT T v MR
214.0 0~  214.2 34 3.25 0. 00 0. 60

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0. 80 83.0 0.0 0.0 83.0| 129, 686.0 TAT T v N
214.2 34 ~  214.3 18 3.25 0. 00 0.90

MRt B2 UL R It 7 3.25 0. 00 0.00 0.75 102.0 0.0 0.0 102.0[ 129,788.0 TAZ T
214.3 18 ~  214.4 20 3.25 0. 00 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 0. 80 63.0 0.0 0.0 63.0| 129,851.0 TAZ T
214.4 20 ~  214.4 83 3.25 0. 00 0.90

Mgt E. VL FRE i 77 3.25 0. 00 0. 00 1.00 129.0 0.0 0.0 129.0| 129, 980.0 TAT T v
214.4 83 ~  214.6 15 3.25 2. 50 0.75

I B2 LS B 3. 25 0. 00 0. 00 1.00 2.0 0.0 0.0 9.0 129,982 0|7 *7 7 /v M
214.6 15 ~  214.6 17 3.25 2. 50 1. 00

ek B VAL FRE i 77 3.25 0. 00 0. 00 1.00 142.0 0.0 0.0 142.0[ 130, 124.0 TAT T v N
214.6 17~  214.7 62 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 0.00 0.00 0.30 16.0 0.0 0.0 16.0| 130,140.0 TAT TV M
214.7 62 ~  214.7 78 3.25 3.00 0. 65

et B VLR i T 3.25 2. 50 0.00 0.30 101.0 0.0 0.0 101.0[ 130,241.0 TAZ T v M
214.7 78 ~  214.8 80 3.25 3.00 0. 65

MRt B2 UL 7R It 3.25 2. 50 0.00 0. 50 26.0 0.0 0.0 26.0[ 130,267.0 TAZ T v
214.8 80 ~  214.9 0 3.25 2. 60 0.45

MRt B2 UL 7R Bt 7 3.25 1. 40 0. 00 0.50 92.0 0.0 0.0 92.0| 130, 359.0 TAT T v N
214.9 0~  215.0 0 3.25 2. 60 0.45

MRt B2 UL 7R Bt 3.25 1.50 0.00 0. 50 9.0 0.0 0.0 9.0[ 130,368.0 TAZ T N
215.0 0~  215.0 9 3.25 2. 60 0.45

MRt B2 UL RSB 77 3.25 1. 50 0. 00 0.50 89.0 0.0 0.0 89.0| 130,457.0 TAT T
215.0 9~  215.1 0 3.25 1. 80 0.45

- 105 -




106 / 109 ~—

i
=
A
o
I

AR+ 0041 158

e = HE e
S (BB BV, TEB: TVl m m L % 1 oD FeAH fii
HOGE | A o | o | B OF | B K | hexra & T A it 7 7
m

MRt B2 UL 7R It 3.25 1.50 0.00 0. 50 146.0 0.0 0.0 146.0[ 130, 603.0 TAT T v MR
215. 1 0~  215.2 49 3.25 2. 80 0.45

IR B2 UL 7R It 7 3.25 0. 00 0. 00 0.50 37.0 0.0 0.0 37.0[ 130, 640.0 TAT T v N
215.2 49 ~  215.2 86 3.25 2. 80 0.45

MRt B2 UL R It 7 3.25 0. 00 0.00 0. 50 0.0 0.0 66. 0 66.0[ 130,706.0 TAZ T v
215.2 86 ~  215.3 52 3.25 1.75 0.50

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 00 111.0 0.0 0.0 111.0[ 130,817.0 TAZ T
215.3 52 ~  215.4 62 3.25 2. 70 0.50

Mgt E. VL FRE i 77 3.25 0. 00 0. 00 1.00 103.0 0.0 0.0 103.0| 130, 920.0 TAT T v
215. 4 62 ~  215.5 63 3.25 2. 00 0.50

I B2 LS B 3. 25 0. 00 0. 00 1.00|  115.0 0.0 0.0 1150 131,035, 0|7 X7 7V M=
215.5 63 ~  215.6 80 3.25 1. 90 0.50

et B VAL FRE Bt 77 3.25 0. 00 0. 00 1.00 36.0 0.0 0.0 36.0 131,071.0 TAT T v N
215.6 80 ~  215.7 14 3.25 3.20 0.50

et B VAL FRE it 77 3.25 0. 00 0.00 1.00 72.0 0.0 0.0 72.0( 131,143.0 TAT TV M
215.7 14 ~  215.7 86 3.25 0. 00 0.50

et B VLR i T 3.25 0.00 0.00 0.70 0.0 425.0 0.0 425.0| 131, 568.0[ " w7 U MR
215.7 86 ~  216.2 1 3.25 0. 00 0.70

MRt R UL 7R It 3.25 0. 00 0.00 1.00 18.0 0.0 0.0 18.0 131,586.0/" w7 U M
216.2 1~  216.2 19 3.25 2. 50 0.75

MR B2 UL 7R Bt 7 3.25 0. 00 0. 00 1. 00 317.0 0.0 0.0 317.0| 131,903.0 TAT T v N
216.2 19 ~  216.5 50 3.25 2. 50 0.75

MRt B2 UL R Bt 7 3.25 0. 00 0.00 1.05 28.0 0.0 0.0 28.0[ 131,931.0 TAZ T N
216.5 50 ~  216.5 78 3.25 2. 50 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1.05 28.0 0.0 0.0 28.0| 131,959.0 TAT T
216.5 78 ~  216.6 6 3.25 2. 50 0.75

- 106 -




107 / 109 ~—

i
=
A
o
I

AR+ 0041 158

e = HE e
S (BB BV, TEB: TVl m m SRS % 1T D T fii
HOGE | A o | o | B OF | B K | hexra & T A it 7 G
m

MRt B2 UL 7R It 3.25 0. 00 0.00 1.05 12.0 0.0 0.0 12.0| 131,971.0 TAT T v MR
216.6 6~  216.6 18 3.25 2. 50 0.75

IR B2 UL 7R It 7 3.25 0. 00 0. 00 1.05 21.0 0.0 0.0 21.0| 131,992.0 TAT T v N
216.6 18 ~  216.6 39 3.25 2. 50 0.75

MRt B2 UL R It 7 3.25 0. 00 0.00 1.05 43.0 0.0 0.0 43.0[ 132,035.0 TAZ T v
216.6 39 ~  216.6 82 3.25 2. 50 0.75

MRt B2 UL ARSI 77 3.25 0. 00 0. 00 1. 00 104. 0 0.0 0.0 104.0[ 132,139.0 TAZ T
216.6 82 ~  216.7 86 3.25 0.00 1. 00

Mgt F. VL FRE i 77 3.25 0. 00 0. 00 0. 50 0.0 0.0 36.0 36.0| 132,175.0 TAT T v
216.7 86 ~  216.8 26 3.25 0. 00 0.50

I B2 LS B 3. 25 0. 00 0. 00 1.00 78.0 0.0 0.0 78.0 132,953, 0|7 X7 7V MR
216.8 26 ~  216.9 6 3.25 0. 00 1. 00

I F3 LR T 3. 25 2.10 0. 00 1.00 9.0 0.0 0.0 9.0 132,262 0|7 *7 7 /¥ M
216.9 6~  216.9 15 3.25 0. 00 1. 00

et B VAL FRE it 77 3.25 2. 40 0.00 1.00 189.0 0.0 0.0 189.0| 132,451.0 TAT TV M
216.9 15 ~  217.1 0 3.25 0. 00 1.25

et B VLR i T 3.25 2. 40 0.00 0.70 200. 0 0.0 0.0 200.0| 132,651.0 TAZ T v M
217. 1 0~  217.3 0 3.25 0. 00 0.70

MRt R UL 7R It 3.25 2. 40 0.00 0.85 16.0 0.0 0.0 16.0| 132,667.0 TAZ T v
217.3 0~  217.3 16 3.25 0. 00 1. 00

MR B2 UL 7R It 7 3.25 2. 10 0. 00 0.85 119.0 0.0 0.0 119.0[ 132,786.0 TAT T v N
217.3 16 ~  217.4 35 3.25 0. 00 1. 00

MRt B2 UL 7R Bt 7 3.25 2.10 0.00 1.00 7.0 0.0 0.0 7.0 132,793.0 TAZ T N
217.4 35 ~  217.4 42 3.25 2. 80 1.65

MRt B2 UL ARSI 77 3.25 2. 70 0. 00 1. 00 165. 0 0.0 0.0 165.0[ 132,958.0 TAT T
217.4 42 ~  217.6 7 3.25 2. 80 1.65

- 107 -




108 / 109 ~—

i
=
A
o
I

AR+ 0041 158

e = HE e
S (BB BV, TEB: TVl m m SRS % 1T D T fii
HOGE | A o | o | B OF | B K | hexra & T A it 7 G
m

MRt B2 UL 7R It 3.25 2.70 0.00 1.00 18.0 0.0 0.0 18.0| 132,976.0 TAT T v MR
217.6 7~  217.6 25 3.25 1. 50 1.65

IR B2 UL 7R It 7 3.25 1. 60 0. 00 0.50 0.0 615.0 0.0 615.0| 133,591.0[" v 7 U= M
217.6 25 ~  218.2 40 3.25 0. 00 0.50

IR LT 3.25 1. 60 0. 00 0.50 0.0 204.0 0.0 204.0| 133, 795.0[ " w7 U M
218.2 40 ~  218.4 44 3.25 0. 00 0.50

IR T 3.25 2. 50 0. 00 0. 50 3.0 0.0 0.0 3.0 133,798.0 TAZ T
218.4 44 ~  218.4 47 3.25 0. 00 1. 00

& LRE (LT 3.25 2. 50 0. 00 0. 50 0.0 0.0 31.0 31.0| 133,829.0 TAT T v
218.4 47 ~  218.4 78 3.25 0. 00 1. 00

I B2 UL B 3. 25 2. 50 0. 00 0. 50 0.0 0.0 90. 0 90.0| 133,919, 0|7 X7 7V M=
218.4 78 ~  218.5 68 3.25 0. 00 1. 00

ek B AL FRE i 77 3.25 2. 50 0. 00 0.75 181.0 0.0 0.0 181. 0 134,100.0 TAT T v N
218.5 68 ~  219.1 21 3.25 0. 00 0.90

et B VAL FRE it 77 3.25 2.50 0.00 0.75 90. 0 0.0 0.0 90.0| 134,190.0 TAT TV M
219. 1 21 ~  219.2 11 3.25 2. 40 0.75

et B VLR i 3.25 2.50 0.00 0.75 53.0 0.0 0.0 53.0| 134, 243.0 TAZ T v M
219.2 11 ~  219.2 64 3.25 1.70 0.75

MRt B2 UL 7R It 3.25 2. 40 0.00 0.75 11.0 0.0 0.0 11.0| 134,254.0 TAZ T v
219.2 64 ~  219.2 75 3.25 1. 70 0.75

IR B2 UL 7R It 7 3.25 2. 40 0. 00 0.75 25.0 0.0 0.0 25.0 134,279.0 TAZ T v N
219.2 75~  219.3 0 3.25 2. 50 0.75

MRt B2 UL 7R Bt 7 3.25 2. 40 0.00 0. 50 112.0 0.0 0.0 112.0[ 134,391.0 TAZ T N
219.3 0~  219.4 10 3.25 2. 50 0. 60

MRt B2 UL ARSI 77 3.25 2.50 0. 00 0.50 254.0 0.0 0.0 254.0| 134, 645.0 TAT T
219.4 10~  219.6 66 3.25 2. 50 0. 60

- 108 -




109 / 109 ~—¥

i
=
A
o
I

AR+ 0041 158

e = SE 53
S (BB BV, TEB: TVl m m L % 1 O FE$A [
HOGE | A o | o | B OF | B K | hexra i T A it 7 7
m

MRt B2 UL 7R It 3.25 2. 60 0.00 0.75 0.0 0.0 53.0 53.0| 134, 698.0 TAT T v MR

219.6 66 ~  219.7 22 3.25 0. 00 1.00
MR B2 UL 7R Bt 7 3.25 2. 50 0. 00 1.85 60. 0 0.0 0.0 60.0| 134, 758.0 TAT T v N

219.7 22 ~  219.7 82 3.25 0. 00 0.75
MRt B2 UL 7R Bt 7 3.25 0. 00 0.00 1.65 268. 0 0.0 0.0 268.0| 135, 026.0 TAZ T v

219.7 82 ~  220.0 52 3.25 0. 00 0.85

0.0

- 109 -



xS

I &t
AR

*

0041

N

b

11

X i
xt B

%

Yiving

& 7t 4

(Bl ], B ORI

5

e

P
b
S

fmé |

—
i —

%ﬁ

il |=!

H#

cm

il

HEZK
i 5%

LELS
B

RERBLAEIR

KA N %

Mg B U = e LT R
g B U i 4 LT

217

@

410

Y

)

EFN404E

T kv

Mg B U = 4 LT i
g B U = T e L BT P )

343

.98

680

30

A0

=)

PR 264F

TR rv

I B IR T e i 2 B3
Mg B U = AR P 1B

, 232

.10

470

60

A0

Y

REFn524E

INJUR 2 B | o o

sy B R = T /NIRRT PR R i 8 14041 1,
iy B W5 | L T A & P IT o 3 U {22051

511

.70

559

30

a9

Y

R 254F

PN NS i2

Mg B3 U7k v 1L T A A BB BT S ] 5 57
e . U v L T K A B T ST S A

281

.80

460

60

Y

Y

HEFN524E

HEL R L

Mg B3 Uk v 1L T A A B M SR ] A
e 8. U v L T A e B T AT o T

387

.80

460

60

a9

AV

HEFN534E

=1 i NV Y%

Mg B W v 1L K & BT (1 A
Mgt e WL v |1 T A & B ET — 2 B HT

, 863

.70

505

30

Y

)

SERE314E

E U ERF R o ror

iz B B L v = BTET 1566-1

e £ Uk v L T L JRF T A A5 117 1 5891

, 259

.15

563

30

Y

)

SRR 254

BT >

Mg B U R 7 o ] BT A Y e e
M B2 VP TR A T o ] BT g Ao B

60

. 80

, 000

80

Y

BEFN434F

(AL A %

g B VR IE 7 o o BT AZ L 7 = A
g 5. UL R It o o] WA (L1 )\ T 1L

426

.00

440

65

Y

=)

FEFN424F

RRIL b > v

Mg B U R IBE 7 o o] TS L1 5 2 o
SRR LT RO A

819

DO DI DN IO W O O o1 O [N NI DN o O [ w o O W W

S T e el e e me P LT 2e Mo e

S O O O |©O O |©O O |co 0 |Oo O |©O O O O |- O | o | O

C L e el el el el Ll L e 2 e 2 s

o1 o1 |Jlon o1 |© o |co oo o o1 o o1 o o1 [N N jw w oo o1 |]o o ||

.70

520

40

Y

Y

SRR AR

10,

398




— oW s 8
BERA 0041 HliH
g B
Eis) 4 R & 4 E R m Ui WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

B ety B BRI = T 4 LT 4 L 19.1| 3.3 0.0 1.1 162. 4|R CH& BAFI394E |TL - 20 |W@ATHIR 4L
ek B UL T = T LT 4 L 3.3 0.0 0.9 RC THr

R ez BT = T4 LT L 12.7 3.3 2.0 1.0 158. 3| P C & BFI614E |TL - 20 |G@THIR HEL
et B DR T LT < (L 3.3 2.0 1.0 7 LT THi

Al 2 5 etz B VT = T4 LR 4 1 7.0 3.3 0.0 0.3 63.0|R CH& BEFN394E |TL - 20 |@ATHIIR ML
et B DR 4 4 (LT < (L 3.3] 0.0 1.3 RC  HEREM

FEAG Mgty B R 4 T 4 L LT 4 (L 102.5| 3.3 0.0 0.3 722. 6 | SIS HAG BEFN3SEE |TL - 20 |G@ATHIR ML
et B UR T v (LT TR 3.3] 0.0 0.3 St GEA D)

&1l 4 546 Mgty B BT = T4 (LT ) 5.7 3.3 L7 1.6 60. 7|R C1& BEFN414E |TL - 20 |G@ATHIR ML
ek B BT = T (LT ) 3.3] 0.0l 0.9 RC HIERR

41l 5 51 et B BT = T4 (LT A7) 5.8/ 3.3 0.0 0.7 48.1|R CH& MEFI414E |TL - 20 |W@{7HIE #EL
ek B URL T = T (LT ) 3.3 0.0l 0.9 RC HFERM

11 6 A ety B URL T = T 4 (LT ) 4.0 3.3 0.0 0.9 34.2|R CH% WRAF414E |TL - 20 [@frHifR ML
et B2 UL T g 4 (LT ) 3.3 0.0l 0.9 RC SRR

&l 7 5 ety B UL = T 4 LT A ) 4.0 3.3 0.0 7.8 80.0|R C 1 MEFN424E |TL - 20 |W{THIE ML
[N S T R VL) ) 3.3 0.0l 5.0 RC KR

R B AT ez BT 2 T4 LT R ) 37.0] 3.4[ 0.0l 0.1 264. 6| HHTA G MEFn424E |TL - 20 |@ATHIFR #EL
ek B BT T4 (LT ) 3.4 0.0l 0.3 1 #1 GEARD

RN ety B BT = T4 (LT ) 18.8 3.3 0.0 1.1 157.9|P CH& BEFN414E |TL - 20 |G@ATHIR ML
ety B BT = T4 (LT ) 3.3] 0.0l 0.7 RAT » TH

TREBH A ek B BRI =4 T 4 (L BT ) 18.0| 3.4 0.0l 1.0 134. 1|P CH5 MBFI37T4E |TL - 20 |@ITHIE 4L
Y A W | 3.4 0.0l 0.6 R T RiMT

=R REE ety B UL = TR 3.9 3.4/ 0.0 0.5 32.0|R CH% MF414E |TL - 20 [#1THIR ML
gt B WL T 7 ATV 3.4/ 0.0l 0.9 RC KR

THE 2546 el B UL = e 5.2 3.4 0.0[ 0.4 42. 4|R CH WAFN414E | TL - 20 |W{THIE ML
el B UL TR 3.4 0.0 0.9 RC  HEKR




— oW s 2
BERA 0041 HliH
g B
Eis) 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

THE 354 el B UL 5 T 4.8] 3.4 0.0l 0.9 37.7|R CHE BAFN414E [TL - 20 [@THIR ML
ek B UL = TR 3.4 0.0l 0.1 RC R

teHFHE T e B UL = TR A 14.6] 0.0l 0.0 0.5 69.5| P CHf VRE164E | BiEfE @ THIR L
et B URL T A R A 3.5] 0.0l 0.8 T VT VR ZERRR

Al L el B UL = iR A 14.6] 3.5 0.0 1.1 121. 2| HAUER BEFN414E |TL - 20 |@ATHIRE ML
et B UL A AR A 0.0] 0.0l 3.7 I CGEERY

Vsl AN T G 42.0[ 3.4] 0.0l 0.1 296. O|EHVAHEA MEFI414E [T L - 20 [@ITHIR 2L
i 55 U T T A A 3.4 0.0 0.1 LT GEEH)

N i et B IR 5 T P R 18.8] 3.4/ 0.0l 0.8 156. 0| P C1& MFIAL4E |TL - 20 |W@{THIE L
et B R A T P R 3.4 0.0 0.8 RAT o THi

A A 7 BT = i =R 6.4 3.4/ 0.0 0.9 54.1|R C#& WEAF414E |TL - 20 [@frHiR L
el B R A T R 3.4 0.0l 0.7 RC THr

TRAKE Kz BT 2 T = ) 12.5 3.4 0.0l 0.8 105. 0| P CH& WEF414E |TL - 20 [@frHiR ML
[N T 3.4 0.0 0.8 LT UIRR

+ BAE el B UL = T = 90.8] 3.3 0.0 0.3 635. 6|SHTAHEG WEFN414E |TL - 20 |W@{7HIE ML
e R = i/ 3.3 0.0l 0.2 LHr GEER)

=R e B UL = T 11.6] 3.3 0.0 1.3 100. 0| P CH% BEFN414E |TL - 20 |@ATHIER #L
ek B R A /) 1 3.3] 0.0l 0.7 7 LT IR

NI AN T AN 182.0 4.5 0.0 0.3 2,366.0|8EEE ERC124FE | BYEfiE  [@ITHIR L
e LR i = 4.5 3.0l 0.8 ==Lty (T—F)

e b 7 BT = T = 78.8] 3.3 2.5 1.5 750. O | SR HEAG BAFIG94E |TL - 20 |W@ATHIRE 4L
el B U = /) 1 0.0l 0.0l 0.8 s

HEMS T Iz B 2 T = 75.3] 0.0 0.0] 3.5 527. 1|HiVAHEAAG WAfn424 |TL - 20 |@ITHIBR L
ek B BRI = T/ 3.4 0.0l 0.1 L7 A 4B

Wi el B UL = T/ 5.0/ 0.0/ o0.0f 0.0 33.0|R C#%& WAFN384E |TL - 20 |WfTHIE ML
N NN AV 3.3 _0.0] 3.4 RC  HEREM




o W o & /18
AR © 0041 BB
g B
Eis) 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

T &4 51 el B B = i) ] 3.2 3.3] 0.8 0.7 28.6[R CH& MEFN384E |TL - 20 |@ITHIR 4L
ek B UL = /) 1 3.3] 0.0l 0.8 RC R

A= (AN =N =N SN 148.0 3.3| 0.0 0.5| 1,533. 3|8 MEFRS514E |TL - 20 |@fTHIR L
I B R T =i/ 3.3] 0.0 0.5 LA (k)

BB el B UL = T/ 38.0 3.3 0.0 1.0 323. O| SR B BEFN484E |TL - 20 |@ITHIR ML
e B BT A N 3.3] 1.8 1.0 LHr GEARD

N GBS IR B R (= i/ 86.1| 3.3 0.0 0.9 561. O|SHIAHAG BEFIS504E [T L - 20 [@ITHIE 2L
e B R T A 3.3 1.8 0.9 11 (ER0

BENE IR LR T 2 T AR 20.6[ 3.3 0.0 0.9 212. 2|SHVAHENG WFI494E |TL - 20 |{THIR 4L
e B R T AR 3.3 1.8 0.9 LT (BR0

T B m2EE ety B BT = T AR 119.2] 3.5] 0.0] 0.3] 1,013 2|8MHEE MEFI524E |TL - 20 |Wf7HIE L
I U T R T2 3.5| 1.0 0.3 IHT (G %)

TE 5546 Iz B = s B 3.9 3.3 o0.0f o.8 41.0|R CH& MAFN37T4E | TL - 20 [@17iR ML
et B UL T A AT 3.3 1.6] 1.4 RC SRR

T &6 51 el B JRL S = T R 3.4 3.3 0.0 0.7 28. 6| R C1f WEFN374E | TL - 20 |WfTHIE ML
et 7 U T g i B 3.3 0.0l 1.0 RC  PFERE

&7 EE ez B = i B 4.4 3.3] 0.0l 0.8 35.0[R C#% BEFR374E |TL - 2 0 |@fTHIE L
e B R T 4 v A1 3.3] 0.0 0.5 RC  HEKEMK

T &8 FiE et B R 5 T R 8.5 3.3 0.0 1.6 74. 4|R CH& MEFN374E |TL - 20 |@ATHIER #EL
et B R T R 3.3] 0.0 0.5 RC THr

TE 9 SiE ety B BT = T R 4.4 3.4/ 0.0 0.8 39. 2| R C#& MAFI37T4E | TL - 20 [@f7HiR ML
ek B URL T = v B 3.4 0.0 1.2 RC HIERIR

584G s B BT = T AR LT o 3.3 3.3 0.0 0.9 27.5|R CH& WAFI384E |TL - 20 [#E@{THIIR L
ek B URL T = T A AT T 3.3 0.0l 0.9 RC KR

PRI el B UL = AR LT 4.7 3.3 0.0 0.7 36. 7|R CH%& WAFN384E |TL - 20 |WfTHIE ML
et B UL T AT T 3.3 0.0 0.7 RC  HEKK




o W o & i
AR © 0041 BB
g B
4 i % R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
CRBe R, B R m |(EB: Ev, FEEFD) nf

G ety B BT = T AR LT R 3.4/ 3.3 0.0 0.9 27.5|R C1& BAFN384E [T L - 20 [@THIR 2L
ek B UL T = T AT D 3.3] 0.0 0.9 RC R

KB ek B BRI = T AR LT R 5.3 3.3 0.0l 0.8 53.0|R CH& BAFISTAE |TL - 20 |G@ATHIR HEL
Mg B YR T 4 AR FURT A g 3.3 2.0 o0.8 RC R

BT A MsE B R 2 AR T A S 6.0 3.3 0.0 0.8 59. 4|R C1 MEFN364E [TL - 20 [@ITHIIE 2L
MRt B2 R T £ T A T S 3.3] 0.0l 2.6 RC  HEKI

Al GG BR R 5 T AR T T AT 20.6| 3.3 0.0] 0.5 154. 5| SR A BEFN384E [T L - 20 [@ITHIIE 2L
et B2 WL T g i AR S T R 3.3] 0.0l 0.5 1 #1 GEARD

B A et B U = T AR T - 6.4 3.3 1.1 1.5 70. 7|R CH& MEAFN284E |TL - 20 [WfTHiIE 2L
ek B UL T AT - 3.3] 2.5 0.5 RC THr

IR 1 BIEAE ety B UL = AR T 2.2 3.3 2.3 1.5 30.5|R C#& MAFI404E |TL - 20 [@17HiIR 2L
ek B URL T = T AR - 3.3 2.1] 1.5 RC HFERM

b A e B WL = T AT | = 31.2] 3.3 0.0 1.0 265. 2| SHVAHEE BAFI414E | TL - 20 |#@{7HIR ML
ek B URL T = T AT B F 3.3 0.0l 1.0 L #1 (A0

KA ety B UL = T A BT B F R 3.0l 3.3 o0.0f o0.8 30. 6| R CH% WEFN394E |TL - 20 |WfTHIE ML
el B UL = T AT B 3.3 0.0l 0.8 RC KR

AR il B UL = T AT B F R 13.4] 3.3 0.0 1.2 152. 2| 17446 BEFN394E |TL - 20 |@ATHIE ML
Mgt B2 R T 7 T A S T KL FR 3.3 2.5 1.2 HEH GEERD

IR 2 SR et B BRI 4 T A S T B F 3.9 3.3 0.9 o.8 42.9|R CH& MEFN394E |TL - 20 |@ATHIEE L
ek B BRI = Tl AT B 3.3 2.1 0.8 RC HERM

Ko kG ek B BT = T AR LT R 27 15.5| 3.3 0.0l 1.1 131. 8| %R MEFI384E |TL - 20 @ THIE 4L
ek B BRI = T AT R 2 3.3 0.0l 1.1 HIEEH GEG )

R A et B URL T = T AR T 10.4] 3.3 0.0 0.9 86. 7| HU$H WAFI394E |TL - 20 [#@{THIR L
et B W T 7 T /NIRRT 3.3 0.0l 0.9 HIEH GEE A

M A (B LSRG |RR TS TN 4.4 3.5 3.5 1.5 113.6| P CH& WAFN394E | TL - 20 |WfTHIE ML
et B UL o T /N 6.5| 3.5 1.5 7 LT VKRR




J— oW & /19
AR © 0041 BB
g B
Eis) 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BOom =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

ISR A 57 B 5 2 T /N T /N 242.0( 3.3 0.0l 0.5 1,815. 0|8MVEEEE AEFN504 | TL - 2 0 |@fTHIR ML
et B LT 7 T/ NIRET /N R 3.3 0.0 0.5 Rttt GEAED

/NI TEAR ek B BRI = T NI ET /N 8.5 3.3 0.0 1.1 73. 1|R CH% MEF494E |TL - 2.0 |G@ATHIR HEL
et B T 7 T/ NIRET /N R 3.3 0.0l 1.1 RC KR

E PN ez B VLT = T/ NS KSR N 287.01 3.5 0.0 1.3 3,432 0|8MiAtEE k34 |TL - 20 |@ITHIE #EL
et B UL o v /N S T BT 3.5] 2.5 1.3 0—¥ (7 —F48)

MEPN R B R g T /N ST A 249.0| 3.5 0.0 1.3 2,988 0|fMiAEEE WRLTAE  |BIGfE  [EITHIR ML
ek B R 4 i /NIRRT P U 3.5| 2.5 1.3 kT A48

s A et B U (4 /N ET R 8 6.4 3.3 0.0 0.3 44.8|R CH& BAFIS7T4E | TL - 20 |W{THIE ML
ek B U 5 /N RET P O 3.3] 0.0 0.3 RC THr

DT S KAE st B WL 2 T /NSRRI P 86.7 3.5 0.0 1.3 818. 9|FMVAHEE 24 | BiEfE @ THIR L
et B2 WL T 7 T /N IRET P 3.5 0.0l 1.3 L #7 GEARD

PR et R Rk v (L T A & BT 53.0/ 3.5 0.0 1.3 548. 6|l HAR AR5 |BIGWE  [@EITHIIE ML
et B2 UL o (L T A BT 3.5 0.0l 1.3 Rt GEAHED

AN ety B UL 1L T A & P RT 98.6] 3.5| 2.5 1.3| 1,183.2|8MiAHEE RS |TL - 20 |G@ITHIR #EL
etz B R o 1L 7 A & P IET 3.5] 0.0 1.3 FEtT GEERY)

RUERG Mgt R R g (L T A & BT 124.0 3.5 2.5 1.3 1,488. 0|SHiEHEE WRLTAE | BIGfE  [EITHIR HEL
iy B IR e | L A & BPET BV 3.5 0.0 1.3 fitT GEER)

AR IR B A [ 3EN AT N TP/NEg 520 7 Nt T 27.0[ 3.3 0.0 0.9 224. 1| SR RS MEFI424E |TL - 20 |@ITHIE 4L
et B2 2L o | L 7T A e BT ACHEG ] 3.3 0.0 0.9 AT (& k)

R AR et B R s 1L T A 4 B T S Ay 69.0[ 3.3 2.6] 0.5 697. O|SRA+HEAE BEFG34E |TL - 20 |G@ATHIR ML
et R 2L o | L1 T A e S T AT 3.3 0.0 0.5 L1 GEAHED

KNG Rtz B L 2 L T A 4 BT (L 4.9 3.3 2.3 0.8 76. 4| R CH& BAFI304E |TL - 20 [W1THIR ML
e £ VR 7 1L A 2 BT (L L 6.3 2.3 0.8 RC KR

IR S el B UL s | L T — 22 B 47.5] 3.5 0.0 1.5 493. | SMTAHEAG R0 | BiGfE @ THIR ML
e B W g (L T — 2 3.5] 0.0 1.5 LHr GEAED




o W o & /19
AR © 0041 BB
g B
4 i % R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
CRBe R, B R m |(EB: Ev, FEEFD) nf

TR AT st BR Rk v | L T — 2 T 10.1f 3.3 0.0[ 0.5 75.0| P CH& V2T |BIGfE  [EATHIR ML
Mgt R VR o | L T — 2 BT 3.3 0.0 0.5 LT VR

NS ety B R g | L 7T — 2 T T L 30.2] 3.3 0.0 0.5 226. 5| SR BAFI394E |TL - 20 |G@ATHIR L
ety B R | T — 2 AT AR R 3.3] 0.0 0.5 I Hr (EA)

SRR Rt BB R v (L T — 2 B ET A B 23.8] 3.3 0.0 0.3 166. 6| S BEFN394E |TL - 20 |@ATHIE ML
et b DR e L 7T — 2 AT AR R 3.3] 0.0 0.3 LH7 (HRR)

ISR Mgt R VR v (L T A TR T 23.0 3.3 0.0] 0.5 172.5|80 (8%) U~y ME [BEFIS4E |TL - 20 |#@{THIR #L
ety . R L v A T 3.3] 0.0 0.5 11 (R0

REA1E ety B B2 g 1L v A T 3.4 3.3 0.0 0.6 26. 2|R C1& BEFI384E |TL - 20 |G@ATHIR ML
et B R 5 1L v A T 3.3l 0.0l 0.6 RC HIERIR

YERGinEE S st R W2k v | L T R T 145.0[ 3.3| 1.0| 0.5] 1,377 5|8 EEE BAFATAE [TL - 20 [@ITHIR 2L
ek B UL v 11 T A T T 3.3] 1.0 0.5 LH1 (A0

B R st R Rk v | L T A R T 15.2[ 6.3 2.0 0.5 266. ORISR WEFNATAE | TL - 20 |@fTHIPR ML
ek B DR 1 7T T I T 6.3] 2.0 0.5 I H#7 GEGHED

)16 el B R sy 1 L1 7T T S T 18.1] 6.5 0.0[ 0.8 262. 5 H A4 WEFN464E | TL - 2 0 |W@ATHIE ML
et B W g (L T P2 — (T = T 6.5 0.0 0.8 HIZS GEE A

—fE (kv) gt R Rk g (L 7 A& BT 93.5| 3.5 3.0 1.5 900. O| SV BEAE WRCIGAE | BIGfrE  [E@ATHIR ML
et B R v (L v - T 0.0 0.0l 0.8 1 #1 GEARD

=tdE (F ) Mgt ER VR g (L1 7 A& BT 96.5| 0.0 0.0 1.8 909. 1|ERVAHENE PRk244F | BIEfiE  [@ITHIR L
et B VR ) | L 7T BT 7.8 0.0l 1.8 11 GEGRK)

FUIRAOME(EYON |l B (L R YT 128.0[ 3.3] 3.0 1.5 1,292.6|/P CH& W16 [BIGfE @ THIR ML
et B VR (L 7T BT 0.0l 0.0l 0.8 BAT v HZEE

FEIEAUE (D) st B Rk v | L 7T 1 BT 365.0] 7.0l 0.0 1.5 3,613.5|8AEHE ERE2TAE | BIGE  [E(THIIR ML
ek B UL | 7T BT 0.0l 0.0l 0.5 RAT LV HRZERIR

U O (R YOFF | B R & 1Ly IRy 120.5( 0.0 0.0/ 0.8 764.9| P C1& Wpk244F | BIEfRTE B THIR ML
el B UL v | 7T b ) HT 3.3 0.0 1.5 RAT  HRZERRR




— o v
BERA 0041 HliH
g B
4 i 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e #oE | b | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

FEIEAE (T D) stz BB W2k v | L 7T b BT 362.5] 0.0l 0.0 1.0 3,921.9|8HHE W24 |BIGfE  [ETHIR ML
ek B U | 7T T HT 3.5 0.0l 0.9 I #1 GEAED

B 51 Mgt R Rk v (L T T L 36.0l 3.5 o0.0f 1.8 657. 0| P CH% WRR224F | BIGfE  |EATHIR ML
e B W v L1 T - BT B 3.5| 0.0l 2.5 RAT L HPZERIR

JINE) 14 ek 5 R sy L1 T DU T A =) i 31.70 3.5 0.0] 1.5 380. 4| P C1& BEFNS7T4E |TL - 20 |@ATHIR ML
Mgt R WL v (L T [T 4 R [ A 3.5| 2.8 0.8 RAT » THi

4 5 MRt R Rk v (L T [P 48 R A 149.2[ 3.3] 0.0] 1.5] 1,716. 0|SEEEG BEFS7T4E | TL - 20 |@ATHIR ML
AN SN LN CIEE VA5 3.3 2.8 0.8 11 (ER0

BTHAE ety . VR TR IR T oty ) T e T 148.0[ 3.3| 2.0] 0.5] 1,702 0|8 EEE BAFNG524E | TL - 20 |W{THIE ML
et PR WL R 7 by ) 1 v B o A I 3.3] 2.0 0.5 I #r GEARD

B ety 3 VLRSI 7 ot ) | Ty T 13.7] 3.3 2.4 1.3 220.0| P C#& BAFI524E | TL - 20 |#{7HIR ML
et B DRI v ot ) [T P 3.3 2.3 1.0 LT UIRER

Bris ) WRG 57 B LRSI T oty ) 1| W e o o 125.01  3.3| 2.0 0.5| 1,437, 5|8 HEAE BAFI524F | TL - 20 |#@{THIR ML
et 7 WL FRE BB 7 by ) T AZ I8 = R 3.3 2.0l 0.5 [ #1 GEARD

AR AR ety B DR T oty ) | T AZ 0“5 17.0 3.3 0.0 1.0 144.5| P CH& WEFN504E | TL - 20 |Wf7HIE ML
Mgtz B VR HE 7 ot ) || AT A2 W " i35 3.3 0.0l 1.0 LT THi

NG 2 184G el B DRI 17 by ) T 283 4.7 3.3 0.0 0.7 47.9|R CH& BEF414E |TL - 20 |@ATHIE ML
Mgt ER WL R BHE v ) 1 T 248 5 S, 3.3 2.1 0.7 RC  HEREM

B 1 A et B2 WL R B oty ) T B 36.8] 3.5 0.0 0.9 323. b|SVA S BBFI414E |TL - 20 |@ITHIE 4L
et £ BRI v o) [T 1 3.5] 0.0l 0.9 LH#1 CRED)

KEE st B2 WL R B i oty ) T[T B 17.6] 3.3 0.0 1.0 150. 5| Sy pEAE BFN414E |TL - 20 |G@ATHIR ML
ek B VR ARSI v ot ) [T AR L 3.3 0.0l 1.0 [ #1 CRHED

)1l 3 BIEE 7 B2 WL R B T oty ) 1| e yT 3.2 3.3] 2.3 1.8 44.6|R CH& BAFI384E |TL - 20 [W@THIBR L
et B DR AR v ot ) BT 5] 3.3 2.4] 0.8 RC KR

] 1 5 el B VLR A T e [ T 7 4.5 3.3 2.2[ 0.6 62. 1|R CH WFI394E |TL - 20 |E@{THIE 4L
Mgt 7. UL TR BB e [ M ) 76 3.3 2.7 1.6 RC  HEREM




% B o & B
AR © 0041 Bl
g B
4 i 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BB i &
PO e g | A | B
(B b SR, B Al m (kB By, FEE:FY) nd

il 2 BEAG e 3. U R IE 7 o o] BT 7 4.5 3.3 2.1 o0.6 60. 3| R C1& BERI394F |TL - 20 |M@{THIE ML
ek B DR AR IBHE v e f] BT P 3.3 2.7 1.5 RC HFEE

W5 TG st 2. LR 58 e ] TG 4.9 3.3 0.0l 0.5 66. 2| R C 1 BAFN394E [T L - 20 [@ITHIR ML
e B2 VP TR A T of ] Y 3.3 0.0 1.7 RC PHERM

5 1IRITE etz 3. VA FRE I T e i) BT ER 7 15.6] 3.6/ 0.0 1.2 142. 3| HAUER MEFN394E |TL - 20 |@ITHIFR L
ez . UL R o7 o i T AR 5 3.4 0.0 1.0 HJZH GEE )

% 2RI Mgt ER. WL R BB T 4o e BT R 7 13.5 3.3 o0.0] 1.1 116. 5| HA4H BEFN394E [T L - 20 [@ITHIIE 2L
Mgty . VAL TR T e o] T ER 5 3.3l 0.0l 1.0 HEH GEERR)

FhlE 3 B IERE Mgt B2 WL R BHE ok it BT 4 2 AR 1.8 3.3 2.1 2.0 23.7|R C1& WFISTAE |TL - 20 |{7HIR 4L
g . U TR A T o o T A 2 AR 3.3 0.0 2.5 RC KR

K HRAE stz B IR B 7 e ] T iy e 15.4] 3.3 0.0l 0.8 123. 7| S A BAF434E | TL - 20 |#{7HIR ML
IR E JEL TR B i e [ BT 21 o 3.3 0.0 0.8 I #7 CRH)

& o I et . VR ARSI T e ] T 5501 134.4[ 3.3 0.0 0.3 940. 8|S HAR BAFI434F | TL - 20 |#@{THIR ML
et . DR SRS IBHE T o ] BT 25 2 JET 3.3l 0.0l 0.3 L7 A

HIAHE etz B3 WA FRE I T o] BT 5 2 Dl 126.8[ 3.3| 0.0] 0.3] 1,001 0|t FEFN394E [T L - 2 0 |@ITHIE ML
I . VEL TR I e o BT 21 3.3] 0.0 0.3 e N— (T—FH)

T R IRt R R R BB o o] T 551 133.0] 3.3 0.0 0.3 931. 1|HHTAHEAG BEFN394E |TL - 20 |@ATHIE ML
Mgt ER. WL TR BHE o [ T — > 3.3] 0.0 0.3 k7 21

T REEAE Mgtz ER WL R BHE e e BT — > 2 10.9] 3.3 0.0 1.2 93.2|R CH% BEF364E |TL - 20 |G@ATHIRE ML
ez 3. UL R T o e T — > J 3.3 0.0[ 0.8 RC THr

) S HE etz B IR B 7 e [ T B2 (L 24.6| 3.3 0.0 0.8 258. 3|EMTAHEAG BEFN364E |TL - 20 |G@ATHIR ML
MR 2. VR TR i o o] T ARG L 3.3 2.5 0.8 | TN iD)

Wk st B2 LR 5B e i T 4 15.0f 3.3 0.0 0.5 112.5|R CH& WEFIIG4E |TL - 20 |#@{THIPR ML
ek . VR ARSI T o ] T 2HAC 3.3 0.0l 0.5 RC THi

SRR ) e . I FRHE 7 4 o] T 25 82.6/ 3.3 0.0 1.0 896. 2| SIS WEFI604E [T L - 2 0 |G@fTHIR ML
M P U FREBH v fof [ T 3.3 2.6] o0.8 T (5)




p& %ﬁ = 9,13

%w% [R] 2) =
BARA 0041 BB
g B
4 i % R & T 4 E R m | A ERE OB | R | e E BoOom i =
PO e #oE | b | B
CRBe R, B R m |(EB: Ev, FEEFD) nf
B FEAE st R WEL RGBT e o] BT B8 73.4] 3.3] 0.0 0.5 679. O| IR B WAFISB4E [T L - 2 0 [@ATHIEE 4L
e 5. UL RIS 7 e i B A2 (L) 3.3 1.8] 0.5 G4 KT —F (F—F1H)
BRI etz 3. UL FRE I T e o] TR 1 L 35.6] 3.3 0.0] 0.5 267. 38 (8k) U~ MME|MEF445 [TL - 20 [@{THIR ML
Mgt R WL TR BB e ] A L 3.3] 0.0 0.5 1 #r GEAHED
e i) A IS LT RS 120.5 3.3| 2.5 0.5| 1,265. 3|8 EAE BEF614E |TL - 20 |@ATHIR ML
ety . DR TR IR v o [ T (L 3.3] 0.0 1.0 L#r GEARD
LA MGt R WL R BB e ] BT L 52.4| 3.3 2.6] 0.8 568. 9|PHIAHAG MEFN334E [T L - 20 [@ITHIIE 2L
gt 2 WL R BB o [ BT 3.3 0.0 1.0 1 Hr CRBA)




*ﬁi §}%:] =+ 1013

%Iﬂi@ ] B =
AR © 0041 Bl
g B
Eis) 4 R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

EHBEAER L | FERAeLRTa il 21.8] 0.0] 2.5 0.0 54. 4| P CH& ERRSEE |k *
T i T4 L 0.0 0.0 0.0 T LT Rz IR

&l 2 SERRANET [T & LBl 11. 0.0 0.0 0.0 PR A B Fn524E
T A di4 LR 4 L 0.0] 1.7 0.0 HEH GEE A

&l 2 BREAMAE B | N ETALET 4L 11. 0.0l 2.0/ 0.0 P CH§ A FN504E
I = 4 (L BT 0.0[ 0.0l 0.0 P C IRIRAEZ DO

15 BB ANE B[ T E e LT dg) 6. 0.0l 2.0/ 0.0 R CH& AR AN T4
T i T e 0.0l 0.0l 0.0 RC  HIERR

41l 6 SEBAANE E [T & da LT g) 8. 0.0/ 1.8/ 0.0 R CH& R F584F
T i LT ) 0.0l 0.0l 0.0 RC HIERIR

TElSEEusE R | T aTEe 3. 0.0l 1.7 0.0 R CH& WA FN534FE
TEdEs 0.0l 0.0l 0.0 RC HFERM

T &2 5EEaAsaE B | T AT 4, 0.0l 1.8/ 0.0 RCHE WA FN534FE
A T 0.0 0.0 0.0 RC KR

TE25HE/BAAsET | T AT 6. 0.0l 0.0/ 0.0 R CH% KA FN534FE
T EdEs 0.0l 2.0l 0.0 RC  HFERM

THE 3 FBEHARET | T et 7. 0.0 0.0 0.0 R CHE RAFNST4E
Tt 0.0] 1.5 0.0 RC  HEKEMK

TEBM 5 5HERT | TalifRIFF 3. 0.0 0.0 0.0 4R CHE RAFNATAE
TatfRAF 0.0l 0.9/ 0.0 RC  HEEMR

TEEE 6 5H4ER T | TamiRIFF 3. 0.0l 0.0/ 0.0 .6|R CHE AP Fn484E
TattRHAF 0.0l 0.9 0.0 RC  HEEM

T AN 7 SAERT | FafitrHs 5. 0.0 0.0 0.0 2[R CHE WA Fn484FE
NN I 0.0 1.1] 0.0 RC KR

R FEBMANER B [ E TR 14. 0.0 2.0 0.0 P CH5 WA FN624F
I N 0.0l 0.0l 0.0 T LTV TH




— oW & 113
AR © 0041 Bl
g B
XA ZZI i) & Bt 4 E K m Ui EREAR O, | BERRAER | e BOom =
PO e g | A | B
(B b SR, B Al m (R B0, FEEITFD) nf

frErfEiEsER | [T afifE 41.1] 0.0 2.0 0.0 82. 1 (S et ABFNI634E | 3% *
T e 0.0 0.0 0.0 I#7 (Ehk%)

SRBRMEAARER T | FatiI 11.9] 0.0l 0.0l 0.0 24.9|P CHE W2 |k *
T &/ 0.0l 2.1 0.0 LT THE (BRD

TEMEM 8 saER | FET/NI 4.3 0.0 1.2[ 0.0 5.2|R CH& REFIB04E |3k *
TN 0.0l 0.0l 0.0 RC HIERIR

TEMEE 9 FHER | FETNI 2.5 0.0 1.2 0.0 2.8|R CH& BEFNS04E | 3k %
T eI 0.0l 0.0l 0.0 RC KR

TEBE 1 osE L | TailihI 2.5 0.0/ 1.6] 0.0 3.8|RCH5 WAFN504E | * *
F 2 0.0 0.0l 0.0 RC  HERIR

TEBEL 1 E54EE | TafiNI 3.6/ 0.0l 1.3 0.0 4.7|R CH5 REFN494E | % *
aznll 0.0l 0.0l 0.0 R CHMUE (Zofh)

TE 4 SEENsE | | FET/NI 3.0l 0.0l o.8] 0.0 2.3|R CH& REFN494F | %
F =N 0.0l 0.0l 0.0 RC HIERIR

T 6 SiEEAaE T | FeEtiR EE 4.2 0.0l 0.0 0.0 4. 2|R CH% AEFNG64E |3k %
e 0.0l 1.0l 0.0 RC KR

TE 7 SEEAE T | FahR EE 5.7 0.0/ o0.0[ 0.0 5.71|R CH& HEFN564E | % *
T EH 0.0l 1.0l 0.0 RC KR

TESFBEHUAET | TaliR LA 8.6/ 0.0/ 0.0 0.0 11.2|R CH5 ARFNB64E | sk *
T F 0.0] 1.3] 0.0 RC THr

TEISHEEMAET | TaETREE 4.4 0.0l 0.0 0.0 8.8|R CH& MEAFI634E | *
TEfiE EH 0.0 2.0l 0.0 R C  HHEE/

HAGARER RV T A TTAREET 4.2 0.0 2.0f 0.0 8. 5| H U4 WAFI494E | * *
T AR 0.0 0.0 0.0 HIEH GEE A

EAEMER TV T A TR 3.4 0.0l o.0f 0.0 8.2|RCH& WAFN584F | *
INENE VLS 0.0] 2.4 0.0 RC  HEKR

11 -




- oW s 1213
AR © 0041 Bl
g B
XA Z [ 2 TR m G R ORI | JEEREEIR | e HoW i &
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

KERFEREERE FY IELE st 6.0 0.0 2.0[ 0.0 10. 4| H7Y BEFN484 | * *
T AR 0.0 0.0 0.0 HIEH GEE A

HHTHERRER (1=9) T AR TR 8.3 0.0/ 2.0 0.0 16. 6| R C 1 REFI6O4E | 3k %
e TR AT R 0.0 0.0l 0.0 RC KR

ARG ER E Y T TR IR 30.4] 0.0 2.0l 0.0 60. 9| H 714 MAFNB04E |k %
I ENiE ARG 0.0l 0.0l 0.0 I CGEERY

BTG MEER T 0 T TR SR T KR 27.8] 0.0 0.0] 0.0 55. 6| 744 RAFNSS84E |3k %
T i AR S TR 0.0] 2.0l 0.0 HEH GEE R

MR 1 SIS RLE RS T 2 TR ET 1 3.2 0.0l 0.0 0.0 7.2|R CH& BAFISTAE | * *
T TSR ET b 0.0l 2.3] 0.0 RC KRR

FEBREAERTY | T AT A 33.5| 0.0 0.0 0.0 67. 0| HHEHR BAFNG84E | % *
T = AR ST B R 0.0l 2.0 0.0 HIEH GEE A

KRHBMGHRERS (TY) T & AR ET B R 4.2 0.0 0.0l 0.0 8. 4|R C#B WAFN484F | *
T = A ST B R R 0.0 2.0 0.0 RC SRR

AFFERENARERE (B [T ST 5 IR 19.0l 0.0l 2.0 0.0 38. 1| P C#& A2 [k *
e T AT B 0.0l 0.0l 0.0 L #Hi GEARR)

Ko AEMER Y ENEDIE R VIR 15.5| 0.0l 2.0 0.0 31. 1| HT7AUER ARFNB24F |5k %
T A AR ST K 2 0.0 0.0l 0.0 HEH GEERD

Vi Z el BER i LT — 2 B T 10.0l 0.0l 2.0 0.0 20. O| I 4H BRFNG34E | % *
e L T — 2 BT T 0.0l 0.0l 0.0 HEH GEE R

N PR i LT — 2 e T Lk 40.8] 0.0 2.0 0.0 81. 6| HAH WAFI564E | * *
B — 2 BT L 0.0l 0.0l 0.0 HIEEH GEG )

SR E NE AR LT — 2 WA A 41.1 0.0 2.0 0.0 82. 2| HA%H WAFI564F | % *
i T — 2 B AT s 0.0 0.0 0.0 HIEH GEE A

A IS A R A i L T A R T 39.2 o.0f 2.0 0.0 78. 4| 74 WAFNS64E | *
5 LT TR T 0.0l 0.0l 0.0 M GEER

12 -




*ﬁ: §}§ = 13,13

%Iﬂi@ ] B =
AR © 0041 Bl
g B
4 i % R & 4 E R m | A WERE R OV, | AEBRAEIR | i BoOom i =
PO e g | A | B
(B b SR, B Al m |(EB: Ev, FEEFD) nf

EABARER LY i LT T 3.6 0.0l 2.4 o0.0 8.8|R C1& ABFNG24E | % *
i L T A T T 0.0l 0.0l 0.0 RC  HEEMR

EABRERTY i LT T 3.6 0.0l o.0f 0.0 6. 8| H7$H REFN4A84E | %
i LT A AT 0.0l 1.9] 0.0 HEH GEERR)

EINERLERE (RY) e LT s AT 18.0] 0.0l 2.6] 0.0 46. 9| H U4 MEFI614E |3 %
s — A =T H 0.0l 0.0l 0.0 M GEER

ENIEHRER (TV) 1 L T T T 18.0] 0.0l 0.0 0.0 46. 9| HAEH BAFN614E |3k %
EHE s i =T H 0.0] 2.6 0.0 HEH GEER)

“HEERIANER (TY & L4 BRET 78.0 0.0 o0.0[ 0.0 273. O|SHVAHENG VRR244E |k *
e T EEIET O ) N A 5E) 0.0l 3.0l 0.0 I M7 (BRI

) INE R R A E S FREBH T 7 ) 1 BT 2822 5, 9.0l 0.0/ 1.5 0.0 13. 5| HA % WAFI414E | % *
TR T ) 1 HT 2522 54, 0.0l 0.0l 0.0 HIEH GEE A

B OB RIAER B0 A |FREE ) TETER O 58.1| 0.0 2.0l 0.0 117. 3| H7UEH MEAFN504E | *
FREBH T ) 1 A58 1 0.0l 0.0l 0.0 HEEH GEG R

B OB ERG N O | FREET ) TR O 51.5| 0.0 o0.0[ 0.0 103. 0| HU4H WAFI604E | *
TREBH T ) 1 BT 1 0.0 2.0l 0.0 HZH GEG R

RKEAGEHAERE TR o 1 HT 8T 22.4] 0.0 2.0 0.0 44. 8|1 AER ARFNIB04E | sk %
TR o)1 BT SR B 0.0 0.0l 0.0 HIEH GEERR)

PEEENAER (b |FREBHTT b R i g 9.71 0.0 2.0 0.0 19. 4| 74 BAFNS34E |3 *
FRE B T4 o] BT 5 0.0l 0.0l 0.0 HEH GEE R

5 VIRGEEMANER  [TRETTRR BT R 5 16.71 0.0 2.0 0.0 33. 4| HAHH BAFN624F | % *
FRE Bt T 4o o] T ER 7 0.0l 0.0l 0.0 HEEH GEG )

02 IRGEEMACER  [FRETTRR BT R 7 14.5| 0.0l 2.0 0.0 29. 0| H7 % AFN624F | * %
FRE BB T e [ PR 7 0.0l 0.0l 0.0 HEH GEG R

WG E S FREBHE T e [ T 26 20.2| 0.0 1.5 0.0 30. 3| 744 WEAFN544F | % *
TR IR T[] T AHSC 0.0 0.0l 0.0 HIEH GEERR)




» P L DR ERE L2
A
R4 0041 E7RLE]
X i (T e BRIE F 72 ITHRRHIE D44 7 E R g B | A%&E (m) 720X s =
xR 5 7 ()
m m
T &4 LT ) FRESE (R & LA SARAE 0. 00
PR
T & i LT ) TR ESIE (KR @ LAHR STARAE 7 4. 82
558
T ETRHAT WifERESE () & ILA#R STARAE 7 4. 40
18
T AT RHAT WifEiRESE () & ILARHR STARAE 7 4. 50
i3]
T ETRI B EERIE (BF) @ AR RNz 0. 00
R
= TR E AT B ERE (BF) @ AR SRS 2 4. 56
W58
T T AR B ESRIE (BR) @ LA SRS 0. 00
5 R
= /N T SR B ESIE (BF) @ LAHR NARAE 7 0. 00
e L T 2K 22 B T K g FRESE (B & LA NARAE 7 0. 00
LT 2 BRRT BT FRESE (R & LA SEARAE 5.10
et
LT — 2 T R R ESIE (KR @ LAHR STARAE 7 0. 00
P HR
e LI T R T R ESRIE (KR @ AHR STARAE 7 0. 00
P




iy AR E
o PRI L DA ERE 272
R
B4 0 0041 B
B3] & AT 4 BRIE F T IL B ELE O 4 7T E K T | HihE (m) £721% s =
xR 5 R ()
m m
& L T A T WEcESaE (BK) & LA SRR 7 0. 00
e
FRBH ) | BT 1 W ESOE (KR B AR SLARAZ 7 0. 00
e




	41号 現道（表）
	41号 現道（裏） 
	41号 現道（供用区間）
	第二表（４１）.pdf
	41号 現道

	第三表（41）.pdf
	41号 現道

	第四表（41）.pdf
	橋梁_41号 現道
	橋側歩道橋_41号 現道

	第五表（高山..41）.pdf
	41号 現道


